October 5:
WIPRO Latest IT Fresher Placement Sample Question Paper. 

1. When a bicycle is in motion, the force of friction exerted by the ground on the two wheels is such that it acts 
(a) In the backward direction on the front wheel and in the forward direction on the rear wheel.
(b) In the forward direction on the front wheel and in the backward direction on the rear wheel.
(c) In the backward direction on both the front and rear wheels.
(d) In the backward direction on both the front and rear wheels. 
Ans. (d) 

2. A certain radioactive element A, has a half life = t seconds.In (t/2) seconds the fraction of the initial quantity of the element so far decayed is nearly 
(a) 29%
(b) 15%
(c) 10%
(d) 45%
Ans. (a)

3. Which of the following plots would be a straight line ?
(a) Logarithm of decay rate against logarithm of time
(b) Logarithm of decay rate against logarithm of number of decaying nuclei
(c) Decay rate against time
(d) Number of decaying nuclei against time

Ans. (b)

4. A radioactive element x has an atomic number of 100.It decays directly into an element y which decays directly into element z. In both processes a charged particle is emitted. Which of the following statements would be true? 
(a) y has an atomic number of 102
(b) y has an atomic number of 101
(c) z has an atomic number of 100
(d) z has an atomic number of 101 
Ans. (b)

5. If the sum of the roots of the equation ax2 + bx + c=0 is equal to the sum of the squares of their reciprocals then a/c, b/a, c/b are in 
(a) AP
(b) GP
(c) HP
(d) None of these
Ans. (c) 

6. A man speaks the truth 3 out of 4 times. He throws a die and reports it to be a 6. What is the probability of it being a 6? 
(a) 3/8
(b) 5/8
(c) 3/4
(d) None of the above
Ans. (a) 

7. If cos2A + cos2B + cos2C = 1 then ABC is a 
(a) Right angle triangle
(b) Equilateral triangle
(c) All the angles are acute
(d) None of these 
Ans. (a) 

8. Image of point (3,Cool in the line x + 3y = 7 is 
(a) (-1,-4)
(b) (-1,4)
(c) (2,-4)
(d) (-2,-4)
Ans. (a) 

9. The mass number of a nucleus is
(a) Always less than its atomic number
(b) Always more than its atomic number
(c) Sometimes more than and sometimes equal to its atomic number
(d) None of the above
Ans. (c) 

10. The maximum KE of the photoelectron emitted from a surface is dependent on 
(a) The intensity of incident radiation
(b) The potential of the collector electrode
(c) The frequency of incident radiation
(d) The angle of incidence of radiation of the surface
Ans. (c) 

11. Which of the following is not an essential condition for interference 
(a) The two interfering waves must be propagated in almost the same direction or the two interfering waves must intersect at a very small angle 
(b) The waves must have the same time period and wavelength
(c) Amplitude of the two waves should be the same
(d) The interfering beams of light must originate from the same source
Ans. (c) 

12. When X-Ray photons collide with electrons 
(a) They slow down
(b) Their mass increases
(c) Their wave length increases
(d) Their energy decreases
Ans. (c) 

13. An electron emits energy 
(a) Because its in orbit
(b) When it jumps from one energy level to another
(c) Electrons are attracted towards the nucleus
(d) The electrostatic force is insufficient to hold the electrons in orbits
Ans. (b) 

14. How many bonds are present in CO2 molecule? 
(a) 1
(b) 2
(c) 0
(d) 4
Ans. (d)

15. In a balanced chemical equation (a) Atoms are conserved
(b) Molecules are conserved
(c) Moles are conserved
(d) Reactant and product molecules are preserved
Ans. (a) 

16. How many grams of NaOH will react with 0.2 equivalent of HCl? 
(a) 0.59
(b) 0.285
(c) 1.18
(d) none of these 
Ans. (a)

17. Which of the following is least acidic 
(a) Ortho-cresol
(b) Para-cresol
(c) Phenol
(d) Meta-cresol
Ans. (b) 

18. In Reimer-Tiemann's reaction, the reaction intermediate is 
(a) Carbene
(b) Dichloro carbene
(c) Carbonion
(d) Carbonium ion
Ans. (b)

19. Which of the following is most acidic? 
(a) C2H5OH
(b) CH3CHOHCH3
(c) Ethanol
(d) CH3OH
Ans. (b) 

20.A catalyst
(a)always slows down the reaction
(b)always starts a rection that would not have ocurred at all otherwise
(c)causes changes in the rate of the reaction
(d)changes the quantities of the products formed

Ans. (c) 

21.The rate of the first order reaction depends on the 
(a) Concentration of the reactant
(b) Concentration of the product
(c) Time
(d) Temperature
Ans. (d)

22. The most abundant element in the universe is 
(a) Hydrogen
(b) Helium
(c) Oxygen
(d) Silicon
Ans. (a) 

23. Integrate 3x + 5 / (x3-x2-x+1)
(a) 1/2 log | (x+1)/(x-1) | - 4/(x-1)
(b) log |2+tanx|
(c) -(1+logx)/x
(d) 2 log|(tanx)/(tanx+2)
Ans. A 

24. If y=cos-1(cosx + 4sinx)/(17)1/2, then dy/dx is 
(a) 0
(b) 1
(c)-1
(d) none of these
Ans. (b)

25. If the sum of n terms of two series of A.P are in the ratio 5n+4:9n+6. Find the ratio of their 13th terms 
(a) 129/231
(b) 1/2
(c) 23/15
(d) None of the above 
Ans. (a)

26. If the letters of the word "rachit" are arranged in all possible ways and these words are written out as in a dictionary, what is the rank of the word "rachit". 
(a) 485
(b) 480
(c) 478
(d) 481
Ans. (d)

27. Ravi's salary was reduced by 25%.Percentage increase to be effected to bring the salary to the original level is 
(a) 20%
(b) 25%
(c) 33 1/3%
(d) 30%

Ans. (c) 

28. A and B can finish a piece of work in 20 days .B and C in 30 days and C and A in 40 days. In how many days will A alone finish the job 
(a) 48
(b) 34 2/7
(c) 44
(d) 45 
Ans. (a) 

29. How long will a train 100m long traveling at 72kmph take to overtake another train 200m long traveling at 54kmph 
(a) 70sec
(b) 1min
(c) 1 min 15 sec
(d) 55 sec
Ans. (b) 

30. What is the product of the irrational roots of the equation (2x-1)(2x-3)(2x-5)(2x-7)=9? 
(a) 3/2
(b) 4
(c) 3
(d) 3/4
Ans. (a)

31. Which of the following parameters is the same for molecules of all gases at a given temperature? 
(a) Mass
(b) Momentum
(c) Speed
(d) Kinetic energy
Ans. (d) 

32. A solid is completely immersed in liquid. The force exerted by the liquid on the solid will 
(a) Increase if it is pushed deeper inside the liquid
(b) Change if its orientation is changed
(c) Decrease if it is taken partially out of the liquid
(d) None of the above
Ans. (c) 

33. Select the correct statements 
(a) A simple harmonic motion is necessarily periodic
(b) An oscillatory motion is necessarily periodic
(c) A periodic motion is necessarily oscillatory
(d) All of the above
Ans. (a)

34. An electron is injected into a region of uniform magnetic flux density with the components of velocity parallel to and normal to the flux. What is the path of the electron? 
(a) Helix
(b) Parabola
(c) Circle
(d) Rectangle
Ans. (a) 

35. A constant voltage is applied between the 2 ends of a uniform metallic wire. Some heat is developed in it. The heat developed is doubled if 
(a) both the length and radius of the wire are halved.
(b) both the length and radius of the wire are doubled
(c) the radius of the wire is doubled
(d) the length of the wire is doubled
Ans. (b) 

36. If Young's double slit experiment is performed in water
(a) the fringe width will decrease
(b) the fringe width will increase
(c) the fringe width remains unchanged
(d) there will be no fringe 
Ans. (a)

37. The shape of a spot of light produced when bright sunshine passes perpendicular through a hole of very small size is 
(a) Square, because the hole is a square
(b) Round, because it is an image of the sun
(c) Round with a small penumbra around it
(d) Square with a small penumbra
Ans. (b)

Select the alternative that logically follows from the two given statements.
38. Some forms are books
All books are made of paper
(a) Some forms are made of paper
(b) Some forms are not made of paper
(c) No forms are made of paper
(d) None of the above
Ans. (a) 

39. All toffees are chocolates
Some toffees are not good for health
(a) Some chocolates are not good for health
(b) Some toffees are good for health
(c) No toffees are good for health
(d) Both (a) and (b)
Ans. (a)

The questions 40-46 are based on the following pattern.The problems below contain a question and two statements giving certain data. You have to decide whether the data given in the statements are sufficient for answering the questions.The correct answer is 
(A) If statement (I) alone is sufficient but statement (II) alone is not sufficient.
(B) If statement(II) alone is sufficient but statement(I) alone is not sufficient.
(C) If both statements together are sufficient but neither of statements alone is sufficient.
(D) If both together are not sufficient.
(E) If statements (I) and (II) are identical.


43. If a ground is rectangular, what is its width?
(I) The ratio of its length to its breadth is 7:2
(II) Perimeter of the playground is 396 mts.
Ans. C 

44. If the present age of my father is 39 yrs and my present age is x yrs, what is x?
(I) Next year my mother will be four times as old as i would be.
(II) My brother is 2 years older than I and my father is 4 years older than my mother.
Ans. C

45. How many brothers and sisters are there in the family of seven children? 
(I) Each boy in the family has as many sisters as brothers
(II) Each of the girl in the family has twice as many brothers as sisters
Ans. D


46. x is not equal to 0, is x + y = 0?
(I) x is the reciprocal of y
(II) x is not equal to 1
Ans. A 

Following questions are based on letter's analogy.First pair of letters should have the same relationship as the second pair of letters or vice versa. 
47. ? : BGLQ : : YDIN : VAFK 
(a) EKNS
(b) DKMT
(c) DLMS
(d) EJOT
Ans. (d)

48. NLO : RPS : : ? : ZXA 
(a) VUW
(b) VTR
(c) VTW
(d) TRP
Ans. (c)

49. If "segment" is coded as rffndou, then "ritual" is coded as 
(a) shutbm
(b) qjutbk
(c) qhutbk
(d) qhubtk
Ans. (c)

50. If "football" is "cricket" ,"cricket" is "basketball" ,"basketball" is "volleyball","volleyball" is "khokho" and "khokho" is cricket, which is not a ball game? 
(a) cricket
(b) football
(c) khokho
(d) basketball
Ans. (a)

51. Which of the following is a recursive set of production

(a) S --> a|A, A --> S
(b) S --> a|A, A --> b
(c) S -->aA, A-->S
(d) None of these
Ans. (c)

August 28:
Venue: Oriental Institute of Science and Technology
Date: 28-08-2010
 
No. of students selected on 28th August: 39
 
Around 170 students cleared the Written Test. Out of which 110 were interviewed on 28th and the rest were interviewed on 12th September. Mine interview was held on 12th September.
 
No. of Students selected on 12th September: 10
 
A total of 49 students were selected from Oriental Group of Institutes.
 
Written Test:
 
Written test was quite easy consisting 4 sections:
1. English
2. Quant
3. Reasoning
4. Technical
 
Section cut-off was there in each section.
 
Two interviews were there one was Technical and the other was HR.
After clearing Technical, a candidate was sent to HR round.
 
 
Interview:
 
Technical:
           
To clear Technical round your basics should be clear and one should not loose confidence in between the interview.
 

Tech. HR: What are your Area of Interests?
Me: C, C++, JAVA, Data Structures.
Tech HR: Ok, What is Data Structure?
Me: Told Basic Definition
 

Tech HR: Types of Data Structure?
Me: Linear and Non Linear and told the definition as well with examples
 

Tech HR: Tell me where Linear and Non Linear Data Structures are used?
Me: Linear are used in Recursion and Compiler Design and I was not sure about Non Linear but said that it is used in Hierarchical Data Model.
 

Tech Hr: So, What is Hierarchical Data Model?
Me: Told the basic Definition.
 

Tech HR: have you ever done practical on Hierarchical Data model?
Me: No Sir.
 

Tech HR: what is RDBMS?
Me: RDBMS is based on Relation Model, which consists of two dimensional tables in which there are certain attributes and tuples.
 

Tech HR: ok, what is a tuple?
Me: a row
 

Tech HR: So say the basic terminology don’t say complex word.
Me: Ok sir.
 

Tech Hr: Do you know about Garbage Collector in JAVA? Is it Default?
Me: Sir, There is a concept of Automatic Garbage Collector in java due to which the programmer does not bother about the objects to free.
 

Tech HR: So we do not use Destructors in JAVA?
Me: Sir, Destructors are not in JAVA.
 

Tech HR: And in C++?
Me: We have to make a Destructor in C++ if we want to free the memory.
 

Tech HR: What is Abstraction?
Me:  Abstraction means that we provide only those details which are essential to user. Like a Car, in which a engine is there but a driver do not bother about the internal working of engine. He only bothers about driving
 

Tech HR: good, why should I bother about the internal working when I have go somewhere by driving.
Tech HR: what is Object Oriented Programming?
Me: Told the Basic definition
 

Tech HR: what is an Object?
Me: Told with example
 

Tech HR: what is a Class?
Me: Told with example
 

Tech HR: Some questions from projects..
Me: told
 

Tech HR: Ok Pravesh, Take the form and Go for the HR round and All the best.
Me: Thank you sir..!!
 
 
 
HR Round:
 
Simple questions were asked there in HR round related to my college life and my forthcoming life. One should have to clear about his views and thoughts while going for HR interview.
 
I was asked some questions like
1) Why you haven’t been selected in any of the companies yet?
2) What were the questions asked in those campuses?
3) What kind of Preparation you done after facing rejection from those campuses?
4) Then looking at my achievements in the form, she asked me that it seems that you have represented your college so many times and I like your kind of guys who do something to represent their college.
5) Then she looked at my strengths mentioned in from, and asked me that tell me the situation in which you have faced good leadership and good team membership quality?
6) Tell me what will you choose? Satisfactory Job or High Paid Job? And why?
7) Why do you want to join WIPRO?
8)  Where do you want to see yourself after 10 years?
9) What are your future goals in your personal life?
Thank you, Pravesh. And wait for the result and All the best.
 
 
After waiting outside for around 2 hours HR came with a list containing name to 10 candidates and I was one of them. That day was my Birthday and WIPRO gave me a very nice gift. Thanks to WIPRO.
 
August 28:
I have given details regarding to test, here i will share my experience of  interview.
There was two Rounds
1) Technical
2) HR
Technical interview, interviewer was very friendly but he was taking long duration, but my interview was just about 15 min. He asked me to give details about family i told and then why your percentages is low in graduations in B.E.? just said some diplomatic anwer, Do not blame anyone they do not like this and some oops questions do not fake if you do not know something just say no sir but i will learn. He asked about LAN, WAN and devices of LAN,WAN some questions on projects like what was your rule and your partner? tell them each thing in brief. They will also check your attitude.Then he asked me about essay[TOPIC-MIGRATION OF PEOPLES FROM RURAL AREAS TO URBAN CITIES]
Which they said to write only to those students who had cleared written be sure what are you writing and why are you writing any particular thought be confident when you will defend your point of view and just tell them practical thoughts not theoretical one they will not like that. He asked me to summarize the whole essay. I told he said excellent and then he asked me about my thoughts about the topic. I told then he said ok Atul,  you have all authority to make policies and rules what will you say. I said sir development in both rural and urban areas is require. Both are necessary. We need to implement our policies effectively and just need to monitor. We also need good administration. We need to focus on our agriculture progress more new economic policies to improve our productivity and all that for 10 min. He was just listening me. Then he said go Atul now, i am done with you wait for HR round.
Then i was selected for HR round. Please go with decent smile in HR room. Wish him speak loudly, clearly.
He asked me to speak about any topic. I choose the Indian economy said for 2 mins, then he asked about hobbies, i told and all simple HR questions.

 
August 28:
Hi all I'm Ruchi Wipro came in our collage on 28th August and 345 students participated n its procedure is as follows

1) Written test

2)Technical interview

3)HR

 

In written test they given OMR sheets and for 1 hour sections were

Apptitute-20

English -20

Technical -10

 

Questioins were very esy just follow previous papers from Freshersworld.com and they declare result after 1 hour n 178 cleared written

 

Technical interview was  also esy one you  need basic concepts clear for C, C++, OS ,DBMS, Data structure and also about your final project with good explanation and be confident while answering ny question he  gave me one some puzzles on a diagram blieve me it was vry simple just think it patiently then answer it also gave me a simple programing logic to design and finaly he said do u want to join wipro u cleared this and go to HR

 

HR person was very friendly just be cool and confident he asked some HR questions like

Describe urself

Family background

Hobbies

Why wipro

Famous places in MP(as i am from mp)

why u like bhopal

why hire me

and many i don't remeber.

And finally he said Ruchi you are selected and i will see you in Wipro

 

I also find my name in selection list. So best of luck you all.

 
August 20:
Hi!!!
 I'm student  of Sathyabama University i want to share my experiences about the offcampus conducted by Wipro. 
 
There were 3 rounds:

1)Written(PEN&PAPER)(60 minutes)(50 questions)
  ---20 verbal
  ---20 aptitude
  ----10 technical
2) Tech round

3)HR


Totally 925 students attended from top14 colleges of Tamilnadu. Out of them 230 cleared  written exam  i was one among them, then around 5 they started tech round there were 20 panels each panel interviewed 10 candidates
My interview soooo funny  he is unfit  to be a tech person he was eating like a pig sorry to talk like this but  i couldnt stop my agony to burst out and made time pass with me instead of this they might have  not called us  bcoz already corruption happened and placed students list was prepared ....... 

              This is Wipro    so   BEWARE OF WIPRO 
July 15:

Venue:B.S.A Crescent Engineering College
Date:15-07-2010
 
No of students attended:144
 
No of students selected:17
 
The interview consisits of 3 rounds.
 
 
1.Aptitude Test
 
2.Technical round
 
3.HR interview.
 
 
Aptitude Round :
 
It has totally 50 qns.
 
verbal-20
aptitude-20
technical-10
 
verbal
It consists of 3 or 4 synonyms and antonyms(always frm gre books).Its quite diff to read everything and remember,so have a guess on this and dont prepare much for this.
then active,passive,tenses,jumble sentences,short paragragh qns(comprehensions).
The verbal section is very easy only.No preparations needed for this one.
 
Aptitude:
it had qns from
Heights and distance,clock,ages,permutations and combinations,probability,profit and loss,boats and streams,distance(trains)
A go through on R.S.Agarwal's Quantitative aptitiude book is more than enough.
memorize all the formulae in that book under each section and see the eg solved problems alone.
All the qns are always asked from this book model questions only and hence a good preparation on this ll easily get you through to next round.
 
At the end of Aptitude round, We were asked to write Essay for 10 minutes on the Topic 
 
"Is the Digital Divide Creating Many Countries Within INDIA ". Write the Essay Seriously as the HR person will go through your essay in the Technical round.
 
 
After an hour, Results were declared for the Aptitude Round. 60 Students Cleared it and to  
my surprise i was one among that list.
 
Technical Round:
 
I entered into the Interview Panel and it was not a Cake Walk for me. The Interview Existed for 43 minutes and I was questioned in areas like C,C++,JAVA,UNIX,OPERATING SYSTEMS,SQL AND NETWORKING.
 
Explain your Project in a clearly in a such a way that the HR gets fully satisfied in your explanation.
 
Finally I cleared Technical Round too..
 
HR Interview:
 
Once you clear the Technical Round, it will be very easy to clear the HR interview.
 
I was asked to introduce myself  and then was asked to explain the Project Work. There were Questions Raised on my Project and explained everything.
 
  
By God's Grace I cleared the HR Interview. Please Don't Lose Your Hope and confidence
While Preparing for any Company Interview Process because I got Placed In Wipro which is 25th company i have attended.
 
 
Have Faith in God,Everything Belongs to Him.
 
See You In WIPRO...... 
July 20:
Selection process:
1.Written test
2.Technical Interview
3.HR interview
4.Result

I think from our college almost 700 students are eligible, out of 700 they select 239 students.

In the written test there are 3 sections.one section is for Aptitude, another section is for Verbal and last one is Technical section.
Aptitude section contains 20 questions
Verbal section contains 20 questions
Technical section contains 10 questions.
Total 50 questions.

Technical round:
1.Tell about yourself?
2.Are you tensed?
3.What is your favorite subject?
4.what is Data structure?
5.What is Link list?
6.Few questions from J2EE based on my project "online social networking"

HR round:
Actually HR round is very interesting round for me
1.what is your name?
2.what is the meaning of your name?
3.Tell about yourself?
4.Where are you from?
5.As a place how much you like Haldia?
6.You have a very good marks so why should not you try for the higher study?
7.Tell me three quality you have according to which i can hire you?

Actually this is my 1st interview in my life so i am little bit tensed as well as very much excited about that.In my life this is my 1st
interview so i think that to get a job performance at the time of interview is vital.
perfomance=Confidence+Smartness+Good presentation skill+Good communication skill+clear knowledge about any subject=60%
Luck=Actually it depends upon interviewer minds+present circumstances=40%

 June 22:
Hi this is Mr.silly billy(nickname) from Heritage Institute of Technology(2006-2010) CSE Batch.We had a on campus of WIPRO TECHNOLOGIES on 22nd June,2010 at our college. Around 250 Students Participated & 66 are finaly Selected.
& i am one of them. :)
wipro Tech. has 3 tier selection process-

1. ONLINE APTITUDE(important only for appti round) & ESSAY WRITING(this is very important for selection in Technical & Hr round..Dont neglect it anyway)
*follow rs agarwal....that's enough...& there is 3 section..
--- Verbal 
--- Non-Verbal
--- Technical
try to answer 60% from each section.


2. TECHNICAL INTERVIEW (they give instant hr-form with technical select confirmation in this stage)
* Try to do problem normally c,java,c++ programming with a attitude that u never face this problem before even if u already know how to do that program.try to do the program with new logic u never used before.never mind u can complete it or not.the interviewer just wanna know your knowledge base.follow every step where you can show your innovative knowledge & creativity, even if the process is too lengthy.

* If interviewer ask you some question then don't give him a definition from books.try to answer him with some examples....remember interviewer not interested to know how much u can memorize things u read.he just wanna see your ability & clear concept, even if you unable to answer right. 

*go with your best subject, even if interviewer ask you tell me about you..then try to invoke your fav. subject anyway there.this is a trick.i used that.interviewer ask me "tell me about yourself in brief"....then i incorporate i wanna implement my final year project in real....that's it. & then he go with it...java,sql,dbms...which are my fav subjects..

*dont loose eye-contact, try to answer...forget about gramatical errors...politely & be confident.

*try to understand the nature of the interviewer by his attitude,way of questioning,looks,age,sex..... & make a trap to insist him to select you.one process not work with every interviewer... this is a good positive attitude which also let him 
know that you have good personality & know how to react with a person.

*if any hard problem asked by the interviewer then try to skip it even if u know the answer.& always try to answer the basic knowledge carefully with examples...& clearly...

5. HR INTERVIEW (This is totally depend on luck... rather in which panel u sited...there is normally 2 panel. one is selection panel : which means nobody deselected until he/she make a very bad attitude to hr-manager.
rejection panel: which means nobody selected until he/she make an outstanding attitude to hr-manager)


*dont loose eye-contact, try to answer...forget about gramatical errors...politely & be confident & always try to smile..it's very very important...try to make a good relationship with the hr-manager by smiling, confident answer, telling him your family background, hobbies,like,dislike.

*never ask him any question until you are enough confident of counter-question attack.

*ready one copy of printed cv,3 passport size photographs for whole process...


I  CLEAR ALL 3 ROUNDS....& FINALLY GOT SELECTED....SEE YOU IN WIPRO....

June 6:
Venue:Jeppiaar engineering College
Date:07-6-2010
No of students attended:210
no of students selected:42

The interview consisits of 3 rounds.


1.Written test

It has totally 50 qns.

verbal-20
aptitude-20
technical-10

verbal
It consists of 3 or 4 synonyms and antonyms(always frm gre books).Its quite diff to read everything and remember,so have a guess on this and dont prepare much for this.
then active,passive,tenses,jumble sentences,short paragragh qns(comprehensions).
The verbal section is very easy only.No preparations needed for this one.
Aptitude:
it had qns from
Heights and distance,clock,ages,permutations and combinations,probability,profit and loss,boats and streams,distance(trains)
A go through on R.S.Agarwal's Quantitative aptitiude book is more than enough.
memorise all the formulae in that book under each section and see the eg solved problems alone.
All the qns are always asked from this book only and hence a good preparation on this ll easily get you through to next round.
Technical:
2 general questions
Which of the following will be loaded firstle when u switch on a computer

answer :bootstrap loader

apache tomcat software is a

ans:A popular cleint-server application

one qn from queue

3 qns from c nd c++(a small pgm was given and the output is asked)

1 unix qn,2 qns from operating systems.

this written test has a sectional cutoff
verbal and apptitude-12 each(they change often)
technical-5 or 6
So Getting all the qns correct from 1 or 2 sections ll not get you through.

overall the written test is quite easy compared with other app tests like hcl,infosys and all.

The results are announced in an hour.
the selected students were asked to write a essay on any one given topic in ten mins.our topic was-"Privatisation of education-your comments"

In the technical round,almost every panel asked to explain about our projects
So Have a very clear idea about it.Explaining it in a way satisfying to the interviewer itself ll almost get you through.
Mention your areas of interset in your resume. 1 or subjects is enough.Have a clear idea of all the concepts in that subjects.Dont mention c,c++ or java as areas of interest unless you are well verse with programming.
Some of them asked stud to write programs.Even if u dont know anything give a try and write something related to that!!

HR round:
Ther ll be only very few rejections in the hr round.
It ll be mostly a very general one like tell me abt urself,family like that!!

ALL the Best!!!

 

May 30:
Hi guys this is pradeep from RMK engg college
CSE department, i got selected in wipro on may 30th
 

The placement is of three rounds.

 

Aptitude

Technical

HR

 

Aptitude round consists of verbal, reasoning and some technical questions

 

technical round they asked basics even though i dint answered well but i answered confidently,luckily my interviewer is a very friendly person, well prepare of basic c progms(palindrome,fibonacci,fact,ascending order.etc.)and oops concepts, and sql queries.

 

If you clear technical 99 percent you will be in Wipro

 

HR round is dormality to check our commn skills

  

Finally luck plays the role. Be confident

 

  
 April 27:
1)APTITUDE TEST:
Questions = 50 ; time limit = 50 minutes. no negative marking. Offline (paper & pen) test 
There was individual cut off for all the sections
Section1- English, 15 questions
Direction 1-5 : In each of the following questions, find out which part of the sentence has an error. if there is no mistake  the answer is 'no error'
1. Twice twelve / makes / twenty four / No error

            A               B             C               D

    Ans: B
2. The flight purser took control / of the plane after / the pilot had had /  a heart attack / No error

                        A                                  B                        C                          D                 E

    Ans: C
3. My friend did not see me / for many years / when I met him last week / No error    

                    A                                B                           C                            D

     Ans : A
4. We grieve our loss and cry helplessly / while we should be fighting for our rights / and die a noble death / No error

                               A                                                            B                                           C                        D

    Ans : B
5.  Work hard / lest you will / fail / No error

            A                  B          C         D              

                     

    Ans : D
Directions 6-10: The following questions, consist of two words each that have a certain relationship to each other, followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the original pair of words.   
6. Kangaroo : Australia

    A) Whale : River    B) Elephant : Russia    C) Penguin : Antarctica    D) India : Peacock

    Ans: C

7. Coronation : Reign

    A) Vaccination : Immunity    B) Sculptor : Statue    C) Degree : Graduate    D) Summer : Rain

    Ans: D

8. Grain : Salt

    A) Chip : Glass    B) Blades : Grass    C) Shred : Wood    D) Shard : Pottery

    Ans : A

9. Scythe ; Reaping

    A) Light ; Shining    B) Shears : Cutting    C) Saws : Gluing    D) Screws : Turning

    Ans : B

10. Dislike : Repulsion

    A) Dream : Sleep    B) Steal : Crime    C) Reputation : Behaviour    D) Intelligence : Wit

    Ans: D

Directions 11-12 : In each of the following questions, a sentence has been given in Active (or passive) voice.  Out of the four alternatives suggested select the one which best express the same sentence in Passive (or Active) Voice.
11. His pocket has been picked.

    A) They have his pocket picked

    B) Picking has been done to his pocket

    C) Picked has been his pocket

    D) Someone has picked his pocket.

    Ans : D
12. Someone gave her a bull dog.

    A) She was given a bull dog.

    B) a bull dog was given to her

    C) She has been given a bull dog

    D) She is being given a bull dog by someone

    Ans : B
Directions 13-15 : Pick out the most effective word from the given words  to fill in the blank to make the sentence meaningfully complete
13. He succeeded in getting possession..............his land after a long court case

     A) for    B) to    C) of    D) with    E) against

    Ans: C
14. Now a days Rajani is .............busy to take care of her health.

     A) very    B) too    C) so    D) extremely

     Ans: B
15. Had the police not reached there in time the bandits...............him

     A) did have killed    B) will have killed    C) would kill    D) would have killed

    Ans: D
Section2- apptitude 15 questions
The questions 1-5 are based on the following data
 

Six knights - P, Q, R, S, T and U - assemble for a long journey in two traveling parties. For security, each traveling party consists
of at least two knights. The two parties travel by separate routes, northern and southern. After one month, the routes of the northern and southern groups converge for a brief time and at that point the knights can, if they wish, rearrange their traveling
parties before continuing, again in two parties along separate northern and southern routes. Throughout the entire trip, the composition of traveling parties must be in accord with the following conditions
P and R are deadly enemies and, although they may meet briefly, can never travel together.    

P must travel in the same party with S
Q can't travel by the southern route
U can't change routes
1.  If one of the two parties of knights consists of P and U and two other knights and travels by the southern route, the other 
     members of this party besides P and U must be

a) Q and S
b) Q and T
c) R and S
d) R and T
e) S and T

     Ans: e

2) If each of the two parties of knights consists of exactly three members, which of the following is not a possible
traveling party and route?

a) P,S,U by the northern route
b) P,S,T by the northern route
c) P,S,T by the southern route
d) P,S,U by the southern route
e) Q,R,T by the southern route

Ans: a
3) If one of the two parties of knights consists of U and two other knights and travels by the northern route, the other
members of this party >besides U must be

a) P and S
b) P and T
c) Q and R
d) Q and T
e) R and T

Ans: c
4) If each of the two parties of knights consists of exactly three members of different parties, and R travels by the
      northern route, then T must travel by the

      a) southern route with P and S
      b) southern route with Q and R
      c) southern route with R and U
      d) northern route with Q and R
      e) northern route with R and U

        Ans: a

5) If, when the two parties of knights encounter one another after a month, exactly one knight changes from one travelling           
    party   to the other travelling party, that knight must be

a) P        b) Q            c) R            d) S            e) T

Ans: e
6. X varies inversely as square of y.  Given that y = 2 for x = 1. The value of x for y = 6 will be equal to

    A) 3    B) 9    C) 1/3    D) 1/9

    Ans : D
7. If 10% of x = 20% of y, then x : y is equal to

    A) 1 : 2    B) 2 : 1    C) 5 : 1    D) 10 : 1

    Ans : B
8. A starts business with Rs.3500 and after 5 months, B joins with A as his partner.  After a year, the profit is divided in the           
    ratio 2 : 3. What is B's contribution in the Capital ?

    A) Rs. 7500    B) Rs. 8000    C) Rs. 8500    D) Rs. 9000

    Ans : D
9. Ronald and Elan are working on an assignment. Ronald takes 6 hours to type 32 pages on a computer, while Elan takes 5 
    hours to type 40 pages. How much time will they take, working together on two different computers to type an assignment       
    of 110 pages ?

    A) 7 hours 30 minutes    B) 8 hours    C) 8 hours 15 minutes    D) 8 hours 25 minutes

    Ans : C
10. A and B can do a piece of work in 72 days; B and C can do it in 120 days; A dn C can do it in 4 days. Who among these  
      will take the least time if put to do it alone?

    A) 80 days    B) 100 days    C) 120 days    D) 150 days

    Ans : C
11. A cistern can be filled by a tap in 4 hours while it can be emptied by another tap in 9 hours. If both taps are opened 
      simultaneously, then after how much time will the cistern get filled  ?

    A) 4.5 hours    B)5 hours    C) 6.5 hours    D) 7.2 hours

    Ans : D
12. Pipe a can fill a tank in 5 hours, pipe B in 10 hours and pipe C in 30 hours.  If all the pipes are open, in how many hours will 
      the tank completely ?

    A) 6 min. to empty    B) 6 min to fill    C) 9 min. to empty    D) 9 min. to fill

    Ans  : C
13. A thief steals a car at 2.30 p.m and drives it at 60 kmph. The theft is discovered at 3 p.m and the owner sets off in another   
      car at 75 kmph. When will be overtake the thief.

      A) 4.30 p.m    B) 4.45 p.m    C) 5 p.m    D) 5.15 p.m

      Ans : E
14. Two trains starting at the same time from two stations 200 km apart, and going in opposite directions cross each other at a 
      distance of 110 km from one of the stations. What is the ratio of their speeds

     A) 9 : 20    B) 11 : 9    C) 11 : 20    D) None of these

     Ans : B
15. Two trains each 100 m long, moving in opposite directions, cross each other in 8 seconds. If one is moving twice as fast      
      the other, then the speed of the faster train is

     A) 30 km /hr    B) 45 km / hr    C) 60 km/hr    D) 75 km/hr

     Ans : C
Section3-technical , 20 questions
Predict the output or error(s) for the following:
1. main()

    {


char string[]="Hello World";


display (string);

    }

    void display (char *string)

    {


printf("%s",string);

    }

         Ans: Compiler Error : Type mismatch in redeclaration of function display

2. What are the values printed by the following program?

    #define dprint(expr) printf(#expr "=%d\n",expr)

    main()
    {
    int x=7;
    int y=3;
    dprintf(x/y);
    }
   
    a) #2 = 2         b) expr=2         c) x/y=2         d) none

    Ans: c
2)  Parameterization generally involves

a.       Data table

b.      Random number

c.       Environment

d.      Both A & B  

e.       Both A, B & C  

 

Ans: e
 

3)  The file which is used for recovering from the run time errors known as

 

                                                                A.  QRS  
                                                                    B.      TSR 

                                                                     C.      PNG

                                                                      D.      DAT

                          Ans: A
4)  Among the following recording modes, which method uses both the objects and mouse coordinates

                        a.       Normal

b.      Low level

c.       Analog

d.      All of the above  

Ans: b
5)  Where do you set the action iterations for a specified action?

 

a.       Action Settings

b.      Action Properties

c.       Action Run Properties  

d.      Action Call Properties   

Ans: d
 

6)  Where do you mark an action as reusable?

 

a.       Action Settings  

b.      Action Properties

c.       Action Run Properties

d.      Action Call Properties

             Ans: b
7)  After running a test that contains both input and output parameters, where can the results of an output parameter be found?

 

a.       Local Data Sheet

b.      Global Data Sheet  

c.       Run-time Data Table

d.      Design-time Data Table  

Ans: c
 

8)  If you have a Virtual Object Collection stored on your machine, and you don’t want to use it what you must do?

 

a.       Disable Virtual Objects in Test Settings

b.      Remove the Collection from your machine  

c.       Disable Virtual Objects in General Options

d.      Remove the Collections from the Resources list

                     Ans: c    
9. For a 25MHz processor , what is the time taken by the instruction which needs 3 clock cycles,
    (a)120 nano secs               (b)120 micro secs
    (c)75 nano secs                 (d)75 micro secs
        Ans: a


10. For 1 MB memory, the number of address lines required,

    ( a)11 (b)16 (c)20(d) 24

    Ans. (c)

11. Semaphore is used for

    (a) synchronization (b) dead-lock avoidance (c) box (d) none

    Ans. (a)
12. OLE is used in
    a) inter connection in unix
    b) interconnection in WINDOWS
    c) interconnection in WINDOWS NT  
    d) None                                                                                                                                           

    Ans.  c
13. Preprocessor does not do which one of the following
    (a) macro                    (b) conditional compliclation
    (c) in type checking     (d) including load file
    Ans. (c)
14. Piggy backing is a technique for
    a) Flow control         b) Sequence         c) Acknowledgement         d) retransmission    

        Ans. (c)
15. In signed magnitude notation what is the minimum value that can be represented with 8 bits

        (a) -128         (b) -255         (c) -127         (d) 0
        Ans: a
17.  When an array is passed as parameter to a function, which of the following statement is correct

        a) The function can change values in the original array
        b) In C parameters are passed by value. The function cannot change the original value in the array
        c) It results in compilation error when the function tries to access the elements in the array
        d) Results in a run time error when the function tries to access the elements in the array

        Ans: a
18. The type of the controlling statement of a switch statement cannot be of the type

        a) int b) char c) short d)float e) none

        Ans : d
19. What is the value of the statement (3^6) + (a^a)?

        a) 3         b) 5         c) 6         d) a+18         e) None

        Ans : b
20. consider the following program:


# include 
class x {
public:
int a;
x();
};
x::x() { a=10; cout<
class b:public x {
public:
b();
};
b::b() { a=20; cout<
main ()
{ b temp;
}
what will be the output of this program?


a) 10        b) 20        c) 2010        d) 1020
Ans: b
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1)APTITUDE TEST:
Questions = 50 ; time limit = 50 minutes. no negative marking. Offline (paper & pen) test 
There was individual cut off for all the sections
Section1- English, 15 questions
Directions 1-5 : Pick out the most effective word from the given words  to fill in the blank to make the sentence meaningfully complete
1. While facts are ________ and data hard to come by, even scientists occasionally throw side the professional pretense of 
    ______ and tear into each other with shameless appeals to authority and arguments that shameless appeals to authority and 
    arguments that are unabashedly ad hominid.

a. elusive...objectivity
b. establish...courtesy
c. demonstrate .. neutrality
d. ineluctable...cooperation
    ANS: (A)
2. While the disease is in ______ state it is almost impossible to determine its existence by_____ .

a. a dormant ..postulate
b. a critical...examination
c. an acute ...analysis
d. a latent...observation
   ANS: (d)
3. The storehouse was infested.........................rats.

    A) by    B) of    C) with    D) in

    Ans: C

4. Please distribute these sweets........................the children

    A) in      B) between    C) amid    D) among

    Ans: D

5. This custom seems to have originated .....................and East European country

    A) in    B) from    C) by    D) with

    Ans: A

Directions 6-10: The following questions, consist of two words each that have a certain relationship to each other, followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the original pair of words.   
6. OFFHAND : PREMEDITATION : :
a. upright : integrity        b. aboveboard : guile        c. cutthroat : competition        d. backward : direction
   ANS: (b)
7. POLTERGEIST : APPARATION::

a. dwarf : stature        b. witch : familiar        c. ogre : monster        d. sorcerer : spell
   ANS: (c)
8.AVER : AFFIRMATION : :
a. proclaim: objection        b. denounce : defiance         c. refuse : distress        d. demur : protest
    ANS. (d)
9. Duralumin : Aircraft

    A) Brass : Alloy    B) Stone : Sculptor    C) Iron : Steel    D) Bronze : Statue

    Ans: D
10. Cool : Frigid

    A) Livid :Lurid    B) Pool : Placid    C) Tepid : Torried    D) Lack : Abundant

    Ans : C
Direction 11-13 : In each of the following questions, find out which part of the sentence has an error. if there is no mistake  the answer is 'no error'
11. If I was you / I would have / terminated his services then and there / No error

        A                    B                                         C                                  D

        Ans : A
12. as soon as I will reach Bombay / I will send / you the books / you have asked for / No error

                     A                                    B                  C                       D                        E

        Ans: A
13. Our conception of  / what should a science of mental life  be / has changed considerably since James' time / No error           
                 A                                            B                                                              C                                         D

    Ans : B                           

Directions 14-15 : In each of the following questions, a sentence has been given in Active (or passive) voice.  Out of the four alternatives suggested select the one which best express the same sentence in Passive (or Active) Voice.
14. Do you imitate others ?

    A) Are others imitated by you ?

    B) Are others being imitated by you ?

    C) Were others being imitated by you ?

    D) Have others been imitated by you ?

    Ans : A
15. I saw him conducting the rehearsal.

    A) He was seen conducting the rehearsal

    B) I saw the rehearsal to be conducted by him

    C) He was seen by me to conduct the rehearsal

    D) I saw the rehearsal being conducted by him

    Ans : D
Section2-apptitude 15 questions
The questions 1-2 are based on the following data
6 people A,B,C,D,E and F sit around a table for dinner. Since A does not like C, he doesn't sit either opposite or                   
beside C.B and F always like to sit opposite each other.

1. If A is beside F then who is are the two neighbours of B?

(a) D and C
(b) E and C
(c) D and E
(d) Either (a) or (b)

Ans. (c)
2. If D is adjacent to F then who is adjacent to C?

(a) E and B
(b) D and A
(c) D and B
(d) either (a) or (c)

Ans.(d)
3. Complete the sequence A, E ,I ,M ,Q ,U , _ , _
(a) B, F
(b) Y, C
(c) G, I
(d) K, O

Ans.(b)
4. If the letters of the word "rachit" are arranged in all possible ways and these words are written out as in a dictionary,            
    what is the rank of the word "rachit".

(a) 485
(b) 480
(c) 478
(d) 481

Ans. (d)
5. Ravi's salary was reduced by 25%.Percentage increase to be effected to bring the salary to the original level is

(a) 20%
(b) 25%
(c) 33 1/3%
(d) 30%

Ans. (c)
6. A and B can finish a piece of work in 20 days .B and C in 30 days and C and A in 40 days. In how many days 
    will A alone finish the job

(a) 48
(b) 34 2/7
(c) 44
(d) 45

Ans. (a)
7. How long will a train 100m long travelling at 72kmph take to overtake another train 200m long travelling at 54kmph ?

(a) 70sec
(b) 1min
(c) 1 min 15 sec
(d) 55 sec

Ans. (b)
8. What is the product of the irrational roots of the equation (2x-1)(2x-3)(2x-5)(2x-7)=9?

(a) 3/2
(b) 4
(c) 3
(d) 3/4

Ans. (a)
 

9. The total population of a village is 5000.  The number of males and females increases by 10% and 15% respectively             
     and consequently the population of the village becomes 5600.  what was the number of males in the village ?

    A) 2000    B) 2500    C) 3000    D) 4000

    Ans : C
10. Fresh fruit contains 68% water and dry fruit contains 20% water.  How much dry fruit can be obtained from 100 kg               
      of fresh fruits ?

     A) 32 kg    B) 40 kg    C) 52 kg    D) 80 kg

     Ans : B
11. If "segment" is coded as rffndou, then "ritual" is coded as

(a) shutbm
(b) qjutbk
(c) qhutbk
(d) qhubtk

Ans. (c)
12. If "football" is "cricket" ,"cricket" is "basketball" ,"basketball" is "volleyball","volleyball" is "khokho" and "khokho" is 
      cricket, which is not a ball game?

(a) cricket
(b) football
(c) khokho
(d) basketball

Ans. (a)
13. Which of the following is a recursive set of production

(a) S --> a|A, A --> S
(b) S --> a|A, A --> b
(c) S -->aA, A-->S
(d) None of these

Ans. (c)
14. A sum 's' is divided into 4 parts. second person gets Rs 10 more than first.3rd person is Rs 10 more than second,               
      4th is 10 more than 3rd.how much amount do 1st person get.

        Ans: (s-60)/4
15. One ship goes along the stream direction 28 km and in opposite    direction 13 km in 5 hrs for each direction. What is the 
       velocity of stream?
Ans:  1.5 kmph
Section3-technical ,20 questions
1. What sorting algos have their best and worst case times equal ?

Ans. O(nlogn) for  mergesort  and heap sort
2. What page replacement algorithm has minimum number of page faults ?

Ans. Optimality algorithm
3.  What is the use of virtual base class in c++

     Ans. Multiple lines between derived classes. 

4. Assignment operator targets to _____

     Ans. l-value
5. A byte addressable computer has memory capacity of 2 power m Kbytes and can perform 2 power n operations an               
     instruction involving three operands and one operator needs maximum of___________ bits
Ans. 3m + n
6. In round robin scheduling, if time quantum is too large then it degenerates to

Ans. FCFS
7. What data structures you should use for dictionary searching and it  should be capable of doing spell check also ?

                Ans: Hashing 

8. What is the value of 121 base 4 + 84 base 16 ? 

        Ans :  2130
9. When the fn. is called where the return address is stored?
                Ans. stack
10.  C program code
        int zap (int n)

       {

        if (n<=1)then zap=1;

        else  zap=zap(n-3)+zap(n-1);

       }

       then the call zap(6) gives the values of zap

       [a] 8  [b]  9  [c] 6  [d]  12  [e] 15

       Ans: b
11.  Virtual memory size depends on

           [a] address lines    [b] data bus

           [c] disc space       [d] a & c    [e] none 

         Ans :  a
12. Critical section is   
      Ans: statements which are accessing shared resources
13. In which layer ROUTING is performed ?
          Ans.  Network Layer
14.  What is the output of the following  code snippet
main()

{

   printf(5+”Fascimile”);

}

Ans. mile
15. Which one has no L-Value
A   a[i]         B.  i         C.  2             D.  *(a+i)

Ans . C
16.     Which is true for binary search ?
    A Traversal scheme                                B. Greedy algorithm
    C. Divide and conquer algorithm             D. none of these
     Ans. C
17.      What is the protocol used for getting the physical address by supplying  IP address of a node ?
A.  ARP         B.  RARP         C. BOOTP         D. DHCP

      Ans. A
18. Which is not an OS?

a)      Win 3.1        b)      Win 95 

c)      Win 98       d)      Win 2000

Ans. a
19. Tcp/ip is

    a) connectionless            b) connection oriented            c) both a & b           d) none

    Ans:  b
20. A sorting algorithm which can prove to be a best time algorithm in one case and a worst time algorithm in worst case is

     (a) Quick Sort         (b) Heap Sort     (c) Merge Sort         (d) Insert Sort

    Ans. (a)
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hii frnds. i am santanu chakraborty from heritage institute of technology, kolkata

cse dept. we had a pull campus of WIPRO INFOTECH on 22nnd march,2010 at BITM,

birbhum. 6 colleges participated in the campusing all over the west bengal. around

300 students were persent there.

wipro infotech has 5 tier selection process-


1. online aptitude

2. eassy writting

3. gd

4. technical interview

5. hr interview

1. online aptitude
this section consists of 3 parts- math, english and technical. 60 ques to be

answered in 1 hr. there are no negetive marking.solving previous years

wipro papers are enough for this section. 
2. eassy writting
next is eassy writting. we had to write an eassy of around 300words in 15 mins.

our topic was"your role model in life". the result of apti and eassy are released

combinely.

when the result was anounnced, i found myself clearing these two section. 
3. gd
next section is gd. our topic was "today education is learning or earning?". our

batch size was 15. and among 15, 14 was selected. we were fortunate enough, but

this did not happened with every batch. those but not all ,who could not speak

well, were given a chance of re-gd. 
4. technical interview
it was the most important round. most of the students were eleminated here. i

entered the room at around 12.30 in the midnight. it was a 2:1 interview panel.

me: may i come in sir?

sir1: yes, come in. please sit down.

me: thank you sir.

sir1: which is your fav subj?

me: core java

sir1: what does finally do??

me: i answered properly

sir1: difference between final, finally, finalize??

me: answered properly.

sir2: why do we use static keyword?

me: replied properly.

sir1: advantage of linked list over array?

me: answered properly.

then sir2 asked me some ques of dbms, software engg like , what are diff types of

testing?, what is waterfall model, acid property ,what is transaction? etc. and i

answered those ques properly.

sir1: you are the only child of your parents?

me: yes sir.

sir1: then if are posted outside WB, do you have any prob?

me: of course not sir.

sir1: ok, thank you, wait outside for result.



result was announced around 2.30 in the night. i was among the students who

cleared the tech round,



5. HR
i entered the HR room at around 4.30 in the morning. it was a 1:1 interview. the

HR manager was sitting in front of me.

sir: why should wipro infotech hire you??

me: i described my strength

sir: now, why should not wipro hire you??

me: i told my weakness.

sir: whats your marks in class 10, 12 and btech

me: i told 

sir: do you have any prob if you are posted outside Wb

me: ofcourse not sir.

sir: do you have any prob paying the bond??

me: no sir.

sir: ok, thank you. wait outside.


 

at around 7.30 in the morning result was announced. 44 students were selected

among 300 students. and i was one of them. it was a great moment for me. because i

was rejected in TCS, INFOSYS before. we burst with joy. at that time i found a

proverb very very true. that is " when GOD close 1 way, HE opens 1000 ways". i

think my parents blessings, blessing of MAA KALI made me able to be got selected. 
BEST OF LUCK TO YOU ALL.......

SEE YOU AT WIPRO INFOTECH.............TATA......

 
Feb 10:

 Aptitude test:
Questions = 50; time limit = 50 minutes. No negative marking. Offline (paper & pen) test. There was individual cut off for all the sections
Section 1: English, 15 questions
Direction 1-5: In each of the following questions, find out which part of the sentence has an error. If there is no mistake the answer is 'no error'
1. Twice twelve / makes / twenty four / No error
          A               B             C               D
 Ans: B
2. The flight purser took control / of the plane after / the pilot had had /  a heart attack / No error
                     A                                 B                   C                        D                                   E
  Ans: C
3. My friend did not see me / for many years / when I met him last week / No error    
                A                                B                           C                            D
   Ans: A
4. We grieve our loss and cry helplessly / while we should be fighting for our rights / and die a noble death / No error
                        A                                                           B                                           C                        D
Ans: B
5.  Work hard / lest you will / fail / No error
         A                  B          C         D              
 Ans: D
Directions 6-10: The following questions consist of two words each that have a certain relationship to each other, followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the original pair of words.   
6. Kangaroo: Australia
    A) Whale: River    B) Elephant: Russia    C) Penguin: Antarctica    D) India: Peacock
   Ans: C
7. Coronation: Reign
    A) Vaccination: Immunity    B) Sculptor: Statue    C) Degree: Graduate    D) Summer: Rain
    Ans: D
8. Grain: Salt
    A) Chip: Glass    B) Blades: Grass    C) Shred: Wood    D) Shard: Pottery
    Ans: A
9. Scythe; Reaping
    A) Light: Shining    B) Shears: Cutting    C) Saws: Gluing    D) Screws: Turning
    Ans: B
10. Dislike: Repulsion
A) Dream: Sleep    B) Steal: Crime    C) Reputation: Behavior    D) Intelligence: Wit
 Ans: D
Directions 11-12: In each of the following questions, a sentence has been given in Active (or passive) voice. Out of the four alternatives suggested select the one which best express the same sentence in Passive (or Active) Voice.
11. His pocket has been picked.
    A) They have his pocket picked
    B) Picking has been done to his pocket
    C) Picked has been his pocket
    D) Someone has picked his pocket.
    Ans: D
12. Someone gave her a bull dog.
    A) She was given a bull dog.
    B) a bull dog was given to her
    C) She has been given a bull dog
    D) She is being given a bull dog by someone
    Ans: B
Directions 13-15: Pick out the most effective word from the given words to fill in the blank to make the sentence meaningfully complete
13. He succeeded in getting possession..............his land after a long court case
     A) For    B) to    C) of    D) with    E) against
    Ans: C
14. Now a day Rajani is .............busy to take care of her health.
     A) Very    B) too    C) so    D) extremely
     Ans: B
15. Had the police not reached there in time the bandits him
     A) Did have killed    B) will have killed    C) would kill    D) would have killed
    Ans: D
Section 2: Aptitude 15 questions
The questions 1-5 are based on the following data six knights - P, Q, R, S, T and U - assemble for a long journey in two traveling parties. For security, each traveling party consists of at least two knights. The two parties travel by separate routes, northern and southern. After one month, the routes of the northern and southern groups converge for a brief time and at that point the knights can, if they wish, rearrange their traveling.
 
Parties before continuing, again in two parties along separate northern and southern routes. Throughout the entire trip, the composition of traveling parties must be in accord with the following conditions P and R are deadly enemies and, although they may meet briefly, can never travel together.    
P must travel in the same party with S
Q can't travel by the southern route
U can't change routes
 
1. If one of the two parties of knights consists of P and U and two other knights and travels by the southern route, the other members of this party besides P and U must be
a) Q and S
b) Q and T
c) R and S
d) R and T
e) S and T
Ans: e

2) If each of the two parties of knights consists of exactly three members, which of the following is not a possible traveling party and route?
a) P,S,U by the northern route
b) P,S,T by the northern route
c) P,S,T by the southern route
d) P,S,U by the southern route
e) Q,R,T by the southern route

Ans: a
3) If one of the two parties of knights consists of U and two other knights and travels by the northern route, the other members of this party >besides U must be
a) P and S
b) P and T
c) Q and R
d) Q and T
e) R and T

Ans: c
4) If each of the two parties of knights consists of exactly three members of different parties, and R travels by the Northern route, then T must travel by the
a) southern route with P and S
b) southern route with Q and R
c) southern route with R and U
d) northern route with Q and R
e) northern route with R and U

Ans: a
5) If, when the two parties of knights encounter one another after a month, exactly one knight changes from one traveling party to the other traveling party, that knight must be
a) P        b) Q            c) R            d) S            e) T

Ans: e
6. X varies inversely as square of y.  Given that y = 2 for x = 1. The value of x for y = 6 will be equal to
A) 3    B) 9    C) 1/3    D) 1/9
Ans: D
7. If 10% of x = 20% of y, then x: y is equal to
A) 1: 2    B) 2: 1    C) 5: 1    D) 10: 1
Ans: B
8. A starts business with Rs.3500 and after 5 months, B joins with A as his partner.  After a year, the profit is divided in the ratio 2 : 3. What is B's contribution in the Capital?
A) Rs. 7500    B) Rs. 8000    C) Rs. 8500    D) Rs. 9000
Ans: D
9. Ronald and Elan are working on an assignment. Ronald takes 6 hours to type 32 pages on a computer, while Elan takes 5 hours to type 40 pages. How much time will they take, working together on two different computers to type an assignment of 110 pages?
A) 7 hours 30 minutes    B) 8 hours    C) 8 hours 15 minutes    D) 8 hours 25 minutes
Ans: C
10. A and B can do a piece of work in 72 days; B and C can do it in 120 days; A dn C can do it in 4 days. Who among these will take the least time if put to do it alone?
A) 80 days    B) 100 days    C) 120 days    D) 150 days
Ans: C
11. A cistern can be filled by a tap in 4 hours while it can be emptied by another tap in 9 hours. If both taps are opened simultaneously, then after how much time will the cistern get filled?
A) 4.5 hours    B) 5 hours    C) 6.5 hours    D) 7.2 hours
Ans: D
12. Pipe a can fill a tank in 5 hours, pipe B in 10 hours and pipe C in 30 hours.  If all the pipes are open, in how many hours will the tank completely?
A) 6 min. to empty    B) 6 min to fill    C) 9 min. to empty    D) 9 min. to fill
Ans: C
13. A thief steals a car at 2.30 p.m and drives it at 60 kmph. The theft is discovered at 3 p.m and the owner sets off in another car at 75 kmph. When will be overtake the thief.
A) 4.30 p.m    B) 4.45 p.m    C) 5 p.m    D) 5.15 p.m
Ans: E
14. Two trains starting at the same time from two stations 200 km apart, and going in opposite directions cross each other at a distance of 110 km from one of the stations. What is the ratio of their speeds?
A) 9: 20    B) 11: 9    C) 11: 20    D) None of these
Ans: B
15. Two trains each 100 m long, moving in opposite directions, cross each other in 8 seconds. If one is moving twice as fast the other, then the speed of the faster train is
A) 30 km /hr    B) 45 km / hr    C) 60 km/hr    D) 75 km/hr
Ans: C
Section 3: Technical, 20 questions
Predict the output or error(s) for the following:
1. main()
    {
            char string[]="Hello World";
            display (string);
    }
    void display (char *string)
    {
            printf("%s",string);
    }
   Ans: Compiler Error: Type mismatch in redeclaration of function display
2. What are the values printed by the following program?

#define dprint(expr) printf(#expr "=%d\n",expr)

main()
{
int x=7;
int y=3;
dprintf(x/y);
}
   
a) #2 = 2         b) expr=2         c) x/y=2         d) none

Ans: c
3)  Parameterization generally involves
a. Data table
b. Random number
c. Environment
d. Both A & B  
e. Both A, B & C  
 
Ans: e
 
4) The file which is used for recovering from the run time errors known as
A. QRS   B. TSR   C. PNG D. DAT
Ans: A
 

5) Among the following recording modes, which method uses both the objects and mouse coordinates
a. Normal   b. Low level   c. Analog   d. All of the above  
 

Ans: b
 

6)  Where do you set the action iterations for a specified action?
a. Action Settings
b. Action Properties
c. Action Run Properties  
d. Action Call Properties   
 
Ans: d
 
6)  Where do you mark an action as reusable?
a. Action Settings  
b. Action Properties
c. Action Run Properties
d. Action Call Properties
Ans: b
 

7) After running a test that contains both input and output parameters, where can the results of an output parameter be found?

a. Local Data Sheet
b. Global Data Sheet  
c. Run-time Data Table
d. Design-time Data Table  
Ans: c
 
8) If you have a Virtual Object Collection stored on your machine, and you don’t want to use it what you must do?
 
a. Disable Virtual Objects in Test Settings
b. Remove the Collection from your machine  
c. Disable Virtual Objects in General Options
d. Remove the Collections from the Resources list
Ans: c    

9. For a 25MHz processor, what is the time taken by the instruction which needs 3 clock cycles,

(a) 120 nano secs               (b) 120 micro secs

(c) 75 nano secs                 (d) 75 micro secs
Ans: a

10. For 1 MB memory, the number of address lines required,

(a) 11 (b) 16 (c) 20(d) 24

Ans. (c)

11. Semaphore is used for

(a) synchronization (b) dead-lock avoidance (c) box (d) none

Ans. (a)

12. OLE is used in

a) Inter connection in UNIX

b) Interconnection in WINDOWS

c) Interconnection in WINDOWS NT  

d)None                                                                                                                

Ans: c

13. Preprocessor does not do which one of the following
(a) macro                    (b) conditional compliclation
(c) in type checking     (d) including load file
Ans. (c)

14. Piggy backing is a technique for
a) Flow control   b) Sequence   c) Acknowledgement         d) retransmission    
Ans. (c)

15. In signed magnitude notation what is the minimum value that can be represented with 8 bits
(a) -128         (b) -255         (c) -127         (d) 0
Ans: a

17.  When an array is passed as parameter to a function, which of the following statement is correct

a) The function can change values in the original array
b) In C parameters are passed by value. The function cannot change the original value in the array
c) It results in compilation error when the function tries to access the elements in the array
d) Results in a run time error when the function tries to access the elements in the array

Ans: a

18. The type of the controlling statement of a switch statement cannot be of the type

a) int b) char c) short d) float e) none
Ans: d

19. What is the value of the statement (3^6) + (a^a)?

a) 3         b) 5         c) 6         d) a+18         e) None

Ans: b

20. Consider the following program:

# include 
class x {
public:
int a;
x();
};
x::x() { a=10; cout<
class b:public x {
public:
b();
};
b::b() { a=20; cout<
main ()
{ b temp;
}

21. What will be the output of this program?

a) 10        b) 20        c) 2010        d) 1020
Ans: b
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1)APTITUDE TEST:
Questions = 50 ; time limit = 50 minutes. no negative marking. Offline (paper & pen) test 
There was individual cut off for all the sections
Section1- English, 15 questions
Direction 1-5 : In each of the following questions, find out which part of the sentence has an error. if there is no mistake  the answer is 'no error'
1. Unless you stop to make noise at once,/ I will have no option but to  / bring the matter to the attention of the police / No error 

                                A                                                B                                                    C                                            D

      Ans: A
2.The Minister along with his / party colleagues have / been invited to the party / No error

                     A                                      B                               C                          D

      Ans: B
3. A group of friends / want to visit/ the new plant as early as possible / No error

               A                        B                                   C                              D

      Ans: B
4. It is rude / for the young / making fun of their elders/ No error

         A               B                             C                          D

      Ans : C
5. Meerabai was sent away from her home/ because she spend most of the time/ in the company of holy men/ No error

                                A                                                       B                                                   C                         D    

       Ans : B
Directions 6-10 : Pick out the most effective word from the given words  to fill in the blank to make the sentence meaningfully complete.
6. Madan...............the first prize in this competition

    A) bore up    B) bore with    C) bore out    D) bore away

    Ans: A
7. In large cities people are cut..................from nature.

    A) down    B) out    C) off    D) away

    Ans: C
8. Your friend died...............over work

    A) of    B) from    C) due to    D) with

    Ans: A
9. It is not easy to beat..................a swarm of wasps if they attack you

    A) out     B) up    C) down    D) off

    Ans: D
10. What a sensation it would cause if it........................now discovered that such a man had left behind a diary.

    A) is    B) be    C) was    were

    Ans: D
Directions 11-12: In each of the following questions, a sentence has been given in Active (or passive) voice.  Out of the four alternatives suggested select the one which best express the same sentence in Passive (or Active) Voice.
11. Mona was writing a letter to her father.

    A) A letter was written to her father by Mona    

    B) A letter has been written to her father by Mona    

    C) A letter was being written by Mona to her father

    D) a letter was written by Mona to her father

    Ans: C
12. He teaches us grammar

    A) Grammar is taught to us by him

    B) We are being taught Grammar by him

    C) Grammar is being taught us by him

    D) We are taught Grammar by him

    Ans: D
Directions 13-15: The following questions, consist of two words each that have a certain relationship to each other, followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the original pair of words.                                                
13. Basement : Attic

    A) Nadir : Zenith    B) Zenith : Apex    C) Zenith : Root    D) Apex : Pinnacle

    Ans : A
14. Sip : Gulp

    A) Touch : Push    B) Cup : Glass    C) Tent : Hut    D) Soap : Water

    Ans : A

15. Parsing : Grammar

    A) Running : Health    B) Praying : God    C) Para trooping : Air force    D) Cleaning : House

    Ans : C

Section 2-apptitude 15 questions
The questions 1-6 are based on the following pattern. The problems below contain a question and two statements giving certain data. You have to decide whether the data given in the statements are sufficient for answering the questions. 

The correct answer is:

(A) If statement (I) alone is sufficient but statement (II) alone is not sufficient.
(B) If statement (II) alone is sufficient but statement (I) alone is not sufficient.
(C) If both statements together are sufficient but neither of statements alone is sufficient.
(D) If both together are not sufficient.

1. What is John's age?

(I) In 15 years John will be twice as old as Dias would be
(II) Dias was born 5 years ago

Ans. (C)
2. What is the distance from city A to city C in kms?

(I) City A is 90 kms from City B
(II) City B is 30 kms from City C

Ans. (D)
3.Is A=C ? A, B ,C are real numbers

(I) A-B=B-C
(II) A-2C = C-2B

Ans. (C)
4. What is the 30th term of a given sequence ?

(I) The first two terms of the sequence are 1,1/2
(II) The common difference is -1/2

Ans. (A)
5.Was Avinash early, on time or late for work?

(I) He thought his watch was 10 minutes fast
(II) Actually his watch was 5 minutes slow

Ans. (D)
6. What is the value of A if A is an integer?

(I) A4 = 1
(II) A3 + 1 = 0

Ans. (B)
7. A person travels 12 km in the southward direction and then travels 5km to the right and then travels 15km toward the right and 
     finally travels 5km towards the east, how far is he from his starting place?

(a) 5.5 kms
(b) 3 km
(c) 13 km
(d) 6.4 km

Ans. (b)
8. X's father's wife's father's granddaughter uncle will be related to X as

(a) Son
(b) Nephew
(c) Uncle
(d) Grandfather

Ans. (c)
9. Find the next number in the series 1, 3 ,7 ,13 ,21 ,31
(a) 43
(b) 33
(c) 41
(d) 45

Ans. (a)
10. If in a certain code "RANGE" is coded as 12345 and "RANDOM" is coded as 123678. Then the code for the word 
       "MANGO" would be

(a) 82357
(b) 89343
(c) 84629
(d) 82347

Ans. (d)
11. If "PROMPT" is coded as QSPLOS ,then "PLAYER" should be

(a) QMBZFS
(b) QWMFDW
(c) QUREXM
(d) URESTI

Ans. (a)
12. A person travels 6km towards west, then travels 5km towards north ,then finally travels
      6km towards west. Where is he with respect to his starting position?

(a) 13km east
(b) 13km northeast
(c) 13km northwest
(d) 13km west

Ans. (c)
13. If A speaks the truth 80% of the times, B speaks the truth 60% of the times. What is the probability that they tell the                
      truth at the same time

(a) 0.8
(b) 0.48
(c) 0.6
(d) 0.14

Ans.(b)
14.  Susan can type 10 pages in 5 minutes. Mary can type 5 pages in 10 minutes. Working together, how many pages can            
       they type in 30 minutes?
    A.   15
    B.   20
    C.   25
    D.   65
    E.   75

    Ans: E
15.  Six bells commence tolling together and toll at intervals 2,4,6,8,10 and 12 seconds respectively. In 30 minutes how           
       many times they toll together.

a) 4

b) 10

c) 15

d) 16

Ans: d)
Section3-technical ,20 questions
1. If the time quantum is too large, Round Robin scheduling degenerates to

(a) Shortest Job First Scheduling
(b) Multilevel Queue Scheduling
(c) FCFS
(d) None of the above

            Ans. (c)
2. Transponders are used for which of the following purposes

(a) Uplinking
(b) Downlinking
(c) Both (a) and (b)
(d)  None of the above

Ans. (c)
3. The format specifier "-%d" is used for which purpose in C

(a) Left justifying a string
(b) Right justifying a string
(c) Removing a string from the console
(d) Used for the scope specification of a char[] variable

Ans. (a)
4. A sorting algorithm which can prove to be a best time algorithm in one case
      and a worst time algorithm in worst case is

(a) Quick Sort
(b) Heap Sort
(c) Merge Sort
(d) Insert Sort

   Ans. (a)
5. What details should never be found in the top level of a top-down design?

(a) Details
(b) Coding
(c) Decisions
(d) None of the above

Ans. (c)
6. In an absolute loading scheme, which loader function is accomplished by assembler

(a) Reallocation
(b) Allocation
(c) Linking
(d) Both (a) and (b)

Ans. (d)
7. Banker's algorithm for resource allocation deals with

(a) Deadlock prevention
(b) Deadlock avoidance
(c) Deadlock recovery
(d) None of these

Ans. (b)
8. Thrashing can be avoided if

(a) The pages, belonging to the working set of the programs, are in main memory
(b) The speed of CPU is increased
(c) The speed of I/O processor are increased
(d) All of the above

Ans. (a)
9. Which of the following communications lines is best suited to interactive processing applications?

(a) Narrowband channels
(b) Simplex channels
(c) Full-duplex channels
(d) Mixed band channels

Ans. (b)
10. A feasibility document should contain all of the following except

(a) Project name
(b) Problem descriptions
(c) Feasible alternative
(d) Data flow diagrams

Ans. (d)
11. What is the main function of a data link content monitor?

(a) To detect problems in protocols
(b) To determine the type of transmission used in a data link
(c) To determine the type of switching used in a data link
(d) To determine the flow of data

Ans. (a)
12. Which of the following is a broadband communications channel?

(a) Coaxial cable
(b) Fiber optic cable
(c) Microwave circuits
(d) All of the above

Ans. (d)
13. Which of the following memories has the shortest access time?

(a) Cache memory
(b) Magnetic bubble memory
(c) Magnetic core memory
(d) RAM

Ans. (a)
14. A shift register can be used for

(a) Parallel to serial conversion
(b) Serial to parallel conversion
(c) Digital delay line
(d) All the above

Ans. (d)
15. In which of the following page replacement policies, Balady's anomaly occurs?

(a) FIFO
(b) LRU
(c) LFU
(d) NRU

Ans. (a)
16. Subschema can be used to

(a) Create very different, personalised views of the same data
(b) Present information in different formats
(c) Hide sensitive information by omitting fields from the sub-schema's description
(d) All of the above

Ans. (d)
17. A 12 address lines maps to the memory of

  a. 1k bytes          b.  0.5k bytes         c. 2k bytes          d. none

      Ans: b
18. In a processor these are 120 instructions . Bits needed to implement    this instructions

      [a] 6  [b] 7  [c] 10  [d] none

      Ans: b
19. In a compiler there is 36 bit for a word and to store a character 8bits are  needed. IN this to store a character two words     
      are appended .Then for storing a K characters string, How many words are needed.

  [a] 2k/9      [b] (2k+8)/9      [c]  (k+8)/9     [d] 2*(k+8)/9     [e] none

     Ans: a
20. Virtual memory size depends on

   [a] address lines    [b] data bus

  [c] disc space       [d] a & c    [e] none

      Ans :  a
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1)APTITUDE TEST:
Questions = 50 ; time limit = 50 minutes. no negative marking. Offline (paper & pen) test 
There was individual cut off for all the sections
Section1- English, 15 questions
Direction 1-5 : In each of the following questions, find out which part of the sentence has an error. if there is no mistake  the answer is 'no error'
1. The house with all its / furniture and exotic plants / were sold for Rs. 50,000 / No error

    Ans : C
2. The teacher asked the students / if everyone of them were interested in / going on an excursion / No error

    Ans : B
3. a physiologist in the last century demonstrated / that puppies will die / if kept awake for more than five days / No error

    Ans : B
4. It is unfortunate that / many youngsters get / addicted to gamble / No error

    Ans : C
5. I have seen / that film last year / but I do not remember its story / No error

    Ans: A
Directions 6-10: The following questions, consist of two words each that have a certain relationship to each other, followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the original pair of words.   
6. Plants : Coal

    A) Crops : Manure    B) Animals : Oil    C) Cow : Milk    D) Fire : Smoke

    Ans : B
7. Rectangle : Cylinder

    A) Square : Sphere    B) Circle : Dosc    C) Triangle : Cone    D) Wall : Room

    Ans : C
8. Expend : Replenish

    A) Exhort : Encourage    B) Formant : Rebellion    C) Defect : Rejoin    D) Encroachment : Occupy

    Ans : C
9. Graphite : Lubricant

    A) Movement : Friction    B) Iron : Steel    C) Wool : Cloth     D) Diamond : Abrasive

    Ans: D
10. Cube : Cuboid

    A) Oval : Sphere    B) Square : Cube    C) Sphere : Ellipsoid    D) Triangle : Cone

    Ans: C
Directions 11-12 : In each of the following questions, a sentence has been given in Active (or passive) voice.  Out of the four alternatives suggested select the one which best express the same sentence in Passive (or Active) Voice.
11. They are building a house next door to our school

    A) Next door to our school a house is being built by them

    B) Next door to our school is being built a house by them

    C) a house next door to our school is being built by them

    D) a house is being built by them next door to our school

    Ans : D
12. Have the box broken.

    A) Have the broken box

    B) Break the box    

    C) Get someone to break the box

    D) They have broken the box

    Ans: C
Directions 13-15 : Pick out the most effective word from the given words  to fill in the blank to make the sentence meaningfully complete
13. A man who connives ........................the faults of his children is their worst enemy

    A) with    B) at    C) of    D) in

    Ans: B
14. Some people revel...............gossip.

    A) at    B) with    C) by    D) in

    Ans: D
15. The officer warned me.....................the office until five O'clock.

    A) don't leave    B) to leave    C) to not leave    D) not to leave

    Ans: D
Section2- Aptitude 15 questions
The questions 1-5 are based on the following data
The only people to attend a conference were four ship captains and the first mates of three of those captains. The captians were L, M, N and O; the first mates were A, D and G. Each person in turn delivered a report to the assembly as follows:

Each of the first mates delivered their report exactly after his or her captain. The first captain to speak was M, and captain N spoke after him.

1. Among the following which is not an appropriate order of delivered reports?

A. M, A, N, G, O, L, D

B. M, D, N, G, L, O, A

C. M, N, A, L, D, O, G

D. M, N, A, O, D, L, G

E. M, N, G, D, O, L, A

    Ans : E
2. In case L speaks after A, and A is the third of the first mates to speak, then among the following statements which would be untrue?

A. O spoke immediately after G.

B. The order of the first four speakers was M, G, N, D.

C. O's first mate was present.

D. A was the fourth speaker after M.

E. The captains spoke in the order M, N, O, L.

    Ans : D
3. Among the following statements which statement must be true?

A. In case the second speaker was a captain, the seventh speaker was a first mate.

B. In case the second speaker was a first mate, the seventh speaker was a captain.

C. In case the third speaker was a first mate, the seventh speaker was a captain.

D. In case the third speaker was a captain, the seventh speaker was a first mate.

E. In case the seventh speaker was a first mate, the first and third speakers were captains.

    Ans : A
4. In case A spoke immediately after L and immediately before O, and O was not the last speaker, L spoke

A. second

B. third

C. fourth

D. fifth

E. sixth

    Ans : C
5. In case G is M's first mate, D could be the person who spoke immediately

A. prior to T

B. prior to L

C. prior to V

D. after T

E. after V

    Ans : D
6.Two series are 16,21,26.... and 17,21,25.....What is the sum of first hundred common numbers
    (a) 101100
    (b) 110100
    (c) 101110
    (d) 110101
    Ans. (a)

7. There are two sections in a question paper each contain five questions. A students has to answer 6 questions.
Maximum no. of questions that can be answered from any section is 4. How many ways he can attempt the paper?

    (a) 50
    (b) 100
    (c) 120
    (d) 200
    Ans. (d)

8. a and b are two numbers selected randomly from 1,2,3.... 25 what is the probability of a and b are not equal.
    (a) 1/25
    (b) 24/25
    (c) 13/25
    (d) 2/25
    Ans. (b)

9. The sum of the series 1 + 1(1+1/n) + 3(1+1/n)2 + ..... is equal to?
    Ans. n2

Q15. Two circles of different radii intersects each other what is the maximum no of intersections

(a) 0
(b) 1
(c) 2
(d) 3
Ans. (c)
10. How long will a train 100m long travelling at 72kmph take to overtake another train 200m long travelling at 54kmph

(a) 70sec
(b) 1min
(c) 1 min 15 sec
(d) 55 sec
Ans. (b)
11. What is the product of the irrational roots of the equation (2x-1)(2x-3)(2x-5)(2x-7)=9?

(a) 3/2
(b) 4
(c) 3
(d) 3/4
Ans. (a)
12. Worker W produces n units in 5 hours. Workers V and W, workers independently but at the same time, produce n units in
        2 hours. how long would it take V alone to produce n units?


a) 1 hr 26 min
b) 1 hr 53 min
c) 2 hr 30 min
d) 3 hr 30 min
e) 3 hr 20 min

Ans: e
13. 49.The sum of 7 consecutive odd numbers in terms with 27 as fourth number

     Ans:189
14. It takes 30 days to fill a laboratory dish with bacteria. If the size of the bacteria doubles each day, how long did it take for the 
      bacteria to fill one half of dish?
      Ans) D
15. If the area of a square increases by 69%, then the side of the square increased by
    Ans: (B) 30%
Section3-technical ,20 questions
Predict the output or error(s) for the following:
1. main()


{


static int var = 5;


printf("%d ",var--);


if(var)



main();


}

    Ans:  5 4 3 2 1

 

2. main()

      {


 int c[ ]={2.8,3.4,4,6.7,5};


 int j,*p=c,*q=c;


 for(j=0;j<5;j++) {



printf(" %d ",*c);


   
++q;
  }


 for(j=0;j<5;j++){

         printf(" %d ",*p);

         ++p;
  }

        }

    Ans : 2 2 2 2 2 2 3 4 6
 

3)  Which method for the Data Table utility object will allow you to retrieve information from the Data Table during a test run?

 

a.  Value

b.      Import  

c.       GetCell

d.      GetValue   

Ans : a
  4)  Statement to return the value from the function 

a. Return (return value) 

b.  Exit (Return value)  

c. Function name = Return value

d. None  

    Ans :   c 

5)  constant “2” with the reporter statement returns

 

a.       Pass

b.      Fail  

c.       Done

d.      Warning

 

  Ans : c
6)  The standard timing delay for windows application is

   

a.               20 seconds
b.                60 seconds  

c.        Infinite

d.               100 seconds

                       Ans : b
7)  A database management system (DBMS) is a ............

(A) hardware system used to create , maintain and provide controlled access to a database
(B) hardware system used to create, maintain, and provide uncontrolled access to a database.
(C) software system used to create, maintain, and provide uncontrolled access to a database.
(D) software system used to create, maintain, and provide controlled access to a database.
(E) None of these
Ans : (D)
8)  In VB Script functions, which one is false among the following  

a.       Variables must be declared before use

b.      Variables may not be declared before use

c.       Variables  may be declared without data types

                         d.   None
    Ans : a
9. Database used in IBM mainframes________

        Ans: db2
10. Testing used to test internal logic______

        Ans : white box
11. extension file not executable
      a. exe         b. com         c. bat         d. obj 

        Ans(d)
12. which variable can be accesed by all the functions of a program.
        Ans.global
13. Binary search order is _________-

        Ans : n log n(base 2)

14. Which of the following is a non linear data structure?
        a. stack         b. queue         c. linked list         d. tree
        Ans: (d)
15. which blocks an access to the server or a computer from an outside computer?
        Ans.  firewall
16. which of the following is not a .net compatible?

        a. vb.net         b. asp.net         c. c#         d. cobol.net
         Ans:d
17. ie(internet explorer) defaultly supports which script?
       a. java script     b. jscript     c. xml   d. None 

      Ans: java script
18. Most popular format for displaying electronic documents on the Internet

     a)HTTP b)HTML c)PDF

       Ans a
19. Which of the following involves context switch,

(a) system call              (b) privileged instruction            (c) floating point exception
(d) all the above            (e) none of the above

    Ans: (a)
20. In OST, terminal emulation is done in

(a) sessions layer (b) application layer (c) presentation layer (d) transport layer

Ans: (b)
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1)APTITUDE TEST:
Questions = 50 ; time limit = 50 minutes. no negative marking. Offline (paper & pen) test 
There was individual cut off for all the sections
Section1- English, 15 questions
Direction 1-5 : In each of the following questions, find out which part of the sentence has an error. if there is no mistake  the answer is 'no error'
1. Neither the plans / suits him and therefore / he decided not to / go out yesterday / No error
    Ans: B
2. The Cabinet Ministers and the Prime Minister / was at the airport / to receive the foreign dignitary / No error
    Ans : B
3. While proceeding on leave / he had orally committed that / he will resume after two days/ No error
    Ans : C
4. The number of people / applying were so large / that the college had to / stop issuing application forms / No error
    Ans: B
5. a series of lectures / of Indian philosophy / are arranged by the University / No error
    Ans: C
Directions 6-10: The following questions, consist of two words each that have a certain relationship to each other, followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the original pair of words.   
6. Illiterate : Uneducated
    A) Country : State    B) City : Village    C) Palace : Hut    D) Vision : Sight
    Ans ; D
7. Money : Transaction
    A) Life : Death    B) Water : Drink    C) Ideas : Exchange    D) Language : Conversation
    Ans: D
8. Overlook : Aberration
    A) Mitigate : Penitence    B) Condone : Offence    C) Error : Omission    D) Conviction : Criminal
    Ans: B
9. Utopia : English
    A) Odyssey : Greek    B) Tulsidas : Sanskrit    C) Monalisa : English    D) Dante : Latin
    Ans: A
10. Sailor : Pirate
    A) Police : Robbers    B) Lion : Lamb    C) Plant : Fungus    D) Major : Sepoy
    Ans : C
Directions 11-12 : In each of the following questions, a sentence has been given in Active (or passive) voice.  Out of the four alternatives suggested select the one which best express the same sentence in Passive (or Active) Voice.
11. I know him.
    A) He is known by me
    B) He was known to me
    C) He has been known by me
    D) He is known to me
    Ans : D
12. The residents celebrated the Independence Day
    A) The Independence Day  celebrated by the residents
    B) The Independence Day was celebrated by the residents
    C) The Independence Day has been celebrated by the residents
    D) Celebration of Independence Day was done by the residents
    Ans: B
Directions 13-15 : Pick out the most effective word from the given words  to fill in the blank to make the sentence meaningfully complete
13. Even if rains all day I will not be able to .........................my journey
    A) put by    B) put out    C) put off    D) put away
    Ans: C
14. Help yourself....................whatever you can use without wasting
    A) with    B) to    C) in    D) for
    Ans: B
15. There is an exception............................every rule.
    A) on    B) to    C) in    D) for
    Ans: B
Section2-apptitude 15 questions
The questions 1-7 are based on the following pattern. The problems below contain a question and two statements giving certain data. You have to decide whether the data given in the statements are sufficient for answering the questions. The correct answer is
(A) If statement (I) alone is sufficient but statement (II) alone is not sufficient.
(B) If statement (II) alone is sufficient but statement(I) alone is not sufficient.
(C) If both statements together are sufficient but neither of statements alone is sufficient.
(D) If both together are not sufficient.
(E) If statements (I) and (II) are not sufficient

1. What is the volume of a cubical box in cubic centimetres?
    (I) One face of the box has an area of 49 sq.cms.
    (II) The longest diagonal of the box is 20 cms.
    Ans. D
2. Is z positive?
    (I) y+z is positive
    (II) y-z is positive
    Ans. E
3. Is x>y ? x, y are real numbers?
    (I) 8x = 6y
    (II) x = y + 4
    Ans. B
4. If a ground is rectangular, what is its width?
    (I) The ratio of its length to its breadth is 7:2
    (II) Perimeter of the playground is 396 mts.
    Ans. C
5. If the present age of my father is 39 yrs and my present age is x yrs, what is x?
    (I) Next year my mother will be four times as old as i would be.
    (II) My brother is 2 years older than I and my father is 4 years older than my mother.
    Ans. C
6. How many brothers and sisters are there in the family of seven children?
    (I) Each boy in the family has as many sisters as brothers
    (II) Each of the girl in the family has twice as many brothers as sisters
    Ans. D
7.  x is not equal to 0, is x + y = 0?
    (I) x is the reciprocal of y
    (II) x is not equal to 1
    Ans. A
8. Find sum of 3 + 5/(1+22) + 7/(1 + 22 + 32) + ......
       Ans. 3n/(1 + n) 
9. Out of 55 eggs 5 are defective. what is % of defective eggs
       Ans:9/11%
 10. 1/8 is divided by 's' , if 's' is increased by 2 times, what is the result.
      Ans: increases two times
11. For each hour an watch is going slow by 30 seconds. Now time is    
        8a.m.What will be the actual time at 8p.m.

        Ans: 7:54.
12. If a person walks at 4/5th of his usual spee he reaches 40min late. If he walks at his usual speed how much time does he 
      travels. 
        Ans:160min or 2hr 40min
13. In a class 80% have passed english,70% passed Hindi 10% did not passed either. If 144 students passed both. What is          
      the total strength of the class.
      Ans: 240. 
14. Find the least number when divided by 7 gives the reminder 6, when divided by 6 gives reminder 5, when divided by 5          
      gives reminder 4 and so on....
     Ans: 419
15. If a man stands in front of sun what is the first letter of the direction which is left to him:
      Ans: North(N)

Section3-technical ,20 questions
1.  After execution of CMP, a instruction in Intel 8085 microprocessor 
    (a) ZF is set and CY is reset.
    (b) ZF is set CY is unchanged
    (c) ZF is reset, CY is set
    (d) ZF is reset , CY is unchanged . 
    Ans. A
2. Convert the infix to postfix for A-(B+C)*(D/E)
    Ans. ABC+DE/*-
3. Picard's method uses _______?
    Ans. Successive Differentiation.
Predict the output or error(s) for the following:
4. void main()

    {


int  const * p=5;


printf("%d",++(*p));

     }
    Ans: Compiler error: Cannot modify a constant value.
5. main()

     {


char s[ ]="man";


int i;


for(i=0;s[ i ];i++)


printf("\n%c%c%c%c",s[ i ],*(s+i),*(i+s),i[s]);

     }
        Ans:    mmmm
                    aaaa
                    nnnn
6.    Identify the recording mode, by which you can record the non-standard object in QTP  
A)    Standard recording        B)    Analog recording

C)    Low level recording         D)    None

Ans:    B
7.     By default, how many no of tables would be there in a script?

a)      One        b) Two         c) Three               d) Four

Ans:    B
8. The file extension of Shared object repository file is
A  .MTR        B. .TSR        C. .QRS          D. None
          Ans:    B
9. To invoke the function which does not return any value, we can use
a.       call function name            b. function name

c.       Both A & B                    d.      None

          Ans:    A
10.  How many bits are needed within a machine code instruction to select a single register in a machine with 16 general registers?
a.  2                b. 3            c.  4            d. 5

  Ans:    C
11. which key in any windows screen is used to invoke file menu

            Ans :alt+f
12. Object which is used for calling the win32 api functions in QTP, we use
        A  extern        B. description        C. environment         D. None

  Ans:    A
13. What is the result of adding the binary numbers 01000001 and 11111111 on an 8 bit machine?
        A. 11111111            B. 00000000            C. 01111111            D. Overflow
        Ans: D
14. Which of the following does POP stand for?
    A. Post Office Protocol                B. Peer over peer
    C. Private Office Protocol             D. Post Optical  Protocol
      Ans:    A
15. Which of the following stages of compilation produces a syntax tree?
        A. Parsing                            B. Code generation        
        C. Lexical analysis               D. Semantic analysis
         Ans:    A
16. Which of the following is not contained in a system description?
         A.  Internal data flows                 B.  Flows leaving and entering the system        
        C.  Relationship between external entities        D.  Internal components or processes
        Ans: C
17. What is the result of adding the binary numbers 01000011 and 10010000 on an 8 bit machine?
        A. 11010011        B. 11110011        C. 11001011        D. 11010101
      Ans: A
18. How is the decimal value for 30 represented in binary?
        A. 00001111        B. 00011010        C. 00011110        D. 00011111
       Ans: C
19. A memory chip has 8 data lines and 9 address lines. How many bytes can be stored on it?
        A. 511        B.  512        C.  500        D.  256
          Ans: B
20.  Which of the following devices requires the highest input data transferrate?
           A. mouse            B. Keyboard            C. Floppy disk            D.  CD
         Ans: D
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Aptitude test:
Questions = 50; time limit = 50 minutes. no negative marking. Offline (paper & pen) test 
There was individual cut off for all the sections
 

Section1- English, 15 questions

Direction 1-5: In each of the following questions, find out which part of the sentence has an error. if there is no mistake  the answer is 'no error'

1. The house with all its / furniture and exotic plants / were sold for Rs. 50,000 / No error

Ans : C

2. The teacher asked the students / if everyone of them were interested in / going on an excursion / No error

Ans : B

3. a physiologist in the last century demonstrated / that puppies will die / if kept awake for more than five days / No error

Ans : B

4. It is unfortunate that / many youngsters get / addicted to gamble / No error

Ans : C

5. I have seen / that film last year / but I do not remember its story / No error

Ans: A

Directions 6-10: The following questions, consist of two words each that have a certain relationship to each other, followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the original pair of words.   

6. Plants : Coal

A) Crops : Manure    B) Animals : Oil    C) Cow : Milk    D) Fire : Smoke

Ans : B

7. Rectangle : Cylinder

A) Square : Sphere    B) Circle : Dosc    C) Triangle : Cone    D) Wall : Room

Ans : C

8. Expend: Replenish

A) Exhort: Encourage    B) Formant: Rebellion    C) Defect: Rejoin    D) Encroachment: Occupy

Ans: C

9. Graphite: Lubricant

A) Movement: Friction    B) Iron: Steel    C) Wool: Cloth     D) Diamond: Abrasive

Ans: D

10. Cube: Cuboids

A) Oval: Sphere    B) Square: Cube    C) Sphere: Ellipsoid    D) Triangle: Cone

Ans: C

Directions 11-12: In each of the following questions, a sentence has been given in Active (or passive) voice.  Out of the four alternatives suggested select the one which best express the same sentence in Passive (or Active) Voice.

11. They are building a house next door to our school

A) Next door to our school a house is being built by them

B) Next door to our school is being built a house by them

C) A house next door to our school is being built by them

D) A house is being built by them next door to our school

Ans: D

12. Have the box broken.

A) Have the broken box

B) Break the box    

C) Get someone to break the box

D) They have broken the box

Ans: C

Directions 13-15: Pick out the most effective word from the given words  to fill in the blank to make the sentence meaningfully complete

13. A man who connives ........................the faults of his children is their worst enemy

A) With    B) at    C) of    D) in

Ans: B

14. Some people revel...............gossip.

A) At    B) with    C) by    D) in

Ans: D

15. The officer warned me.....................the office until five O'clock.

A) Don’t leave    B) to leave    C) to not leave    D) not to leave

Ans: D

Section 2: Aptitude 15 questions

The questions 1-5 are based on the following data

The only people to attend a conference were four ship captains and the first mates of three of those captains. The captains were L, M, N and O; the first mates were A, D and G. Each person in turn delivered a report to the assembly as follows:

Each of the first mates delivered their report exactly after his or her captain. The first captain to speak was M, and captain N spoke after him.

1. Among the following which is not an appropriate order of delivered reports?

A. M, A, N, G, O, L, D

B. M, D, N, G, L, O, A

C. M, N, A, L, D, O, G

D. M, N, A, O, D, L, G

E. M, N, G, D, O, L, A

    Ans: E

2. In case L speaks after A, and A is the third of the first mates to speak, then among the following statements which would be untrue?
A. O spoke immediately after G.

B. The order of the first four speakers was M, G, N, D.

C. O's first mate was present.

D. A was the fourth speaker after M.

E. The captains spoke in the order M, N, O, L.

    Ans: D

3. Among the following statements which statement must be true?
A. In case the second speaker was a captain, the seventh speaker was a first mate.

B. In case the second speaker was a first mate, the seventh speaker was a captain.

C. In case the third speaker was a first mate, the seventh speaker was a captain.

D. In case the third speaker was a captain, the seventh speaker was a first mate.

E. In case the seventh speaker was a first mate, the first and third speakers were captains.

    Ans: A

4. In case a spoke immediately after L and immediately before O, and O was not the last speaker, L spoke
A. second

B. third

C. fourth

D. fifth

E. sixth

    Ans: C

5. In case G is M's first mate, D could be the person who spoke immediately
A. prior to T

B. prior to L

C. prior to V

D. after T

E. after V

    Ans: D

6. Two series are 16, 21, 26.... And 17, 21, 25.....What is the sum of first hundred common numbers
    (a) 101100
    (b) 110100
    (c) 101110
    (d) 110101
    Ans. (a)

7. There are two sections in a question paper each contain five questions. A student has to answer 6 questions. Maximum no. of questions that can be answered from any section is 4. How many ways he can attempt the paper?

    (a) 50
    (b) 100
    (c) 120
    (d) 200
    Ans. (d)

8. a and b are two numbers selected randomly from 1,2,3.... 25 what is the probability of a and b are not equal.
    (a) 1/25
    (b) 24/25
    (c) 13/25
    (d) 2/25
    Ans. (b)

9. The sum of the series 1 + 1(1+1/n) + 3(1+1/n) 2 +..... is equal to?
    Ans. n2

Q15. Two circles of different radii intersects each other what is the maximum no of intersections

(a) 0
(b) 1
(c) 2
(d) 3
Ans. (c)

10. How long will a train 100m long traveling at 72kmph take to overtake another train 200m long traveling at 54kmph

(a) 70sec
(b) 1min
(c) 1 min 15 sec
(d) 55 sec
Ans. (b)

11. What is the product of the irrational roots of the equation (2x-1)(2x-3)(2x-5)(2x-7)=9?

(a) 3/2
(b) 4
(c) 3
(d) 3/4
Ans. (a)

12. Worker W produces n units in 5 hours. Workers V and W, workers independently but at the same time, produce n units in 2 hours. How long would it take V alone to produce n units?


a) 1 hr 26 min
b) 1 hr 53 min
c) 2 hr 30 min
d) 3 hr 30 min
e) 3 hr 20 min

Ans: e

13. 49.The sum of 7 consecutive odd numbers in terms with 27 as fourth number

 Ans: 189

14. It takes 30 days to fill a laboratory dish with bacteria. If the size of the bacteria doubles each day, how long did it take for the bacteria to fill one half of dish?
 Ans) D

15. If the area of a square increases by 69%, then the side of the square increased by
 Ans: (B) 30%

Section3: Technical, 20 questions

Predict the output or error(s) for the following:

1. main()
            {
            static int var = 5;
            printf("%d ",var--);
            if(var)
                        main();
            }
    Ans:  5 4 3 2 1

 

2. main()
      {
             int c[ ]={2.8,3.4,4,6.7,5};
             int j,*p=c,*q=c;
             for(j=0;j<5;j++) {
                    printf(" %d ",*c);
                        ++q;        }
             for(j=0;j<5;j++){
         printf(" %d ",*p);
         ++p;           }
        }
    Ans: 2 2 2 2 2 2 3 4 6

 
3)  Which method for the Data Table utility object will allow you to retrieve information from the Data Table during a test run?
a. Value   b.  Import   c.  Get Cell   d. Get Value  
Ans: a
 

4)  Statement to return the value from the function  
a. Return (return value)  

b. Exit (Return value)  

c. Function name = Return value

     d.   None  
    Ans: c 
 
5)  Constant “2” with the reporter statement returns
 
a. Pass
b. Fail  
c. Done
d. Warning
 
Ans: c
 

6)  The standard timing delay for windows application is
   
a.                    20 seconds

b.                   60 seconds  
c.                    Infinite
d.                   100 seconds
 

Ans: b
 

7)  A database management system (DBMS) is a.
(A) Hardware system used to create, maintain and provide controlled access to a database

(B) Hardware system used to create, maintain, and provide uncontrolled access to a database.

(C) Software system used to create, maintain, and provide uncontrolled access to a database.

(D) Software system used to create, maintain, and provide controlled access to a database.

(E) None of these

Ans: (D)

8)  In VB Script functions, which one is false among the following?  
a. Variables must be declared before use
b. Variables may not be declared before use
c. Variables may be declared without data types
d. None
Ans: a

9. Database used in IBM mainframes________

Ans: db2

10. Testing used to test internal logic______

 Ans: white box



11. Extension files not executable
  a. exe         b. com         c. bat         d. obj 

  Ans: d

12. Which variable can be accessed by all the functions of a program.
 Ans: global

13. Binary search order is _________-

        Ans: n log n(base 2)

14. Which of the following is a non linear data structure?
     a. stack         b. queue         c. linked list         d. tree
     Ans: (d)

15. Which blocks an access to the server or a computer from an outside computer?
     Ans: Firewall

16. Which of the following is not a .net compatible?

   a. vb.net         b. asp.net         c. c#         d. cobol.net
    Ans: d

17. i.e(internet explorer) default supports which script?
       a. java script     b. jscript     c. xml   d. None 

      Ans: java script

18. Most popular format for displaying electronic documents on the Internet

     a)HTTP b)HTML c)PDF

       Ans a

19. Which of the following involves context switch,

(a) system call              (b) privileged instruction            (c) floating point exception
(d) all the above            (e) none of the above

    Ans: a

20. In OST, terminal emulation is done in

(a) sessions layer (b) application layer (c) presentation layer (d) transport layer

Ans: b 
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1)APTITUDE TEST:
Questions = 50 ; time limit = 50 minutes. no negative marking. Offline (paper & pen) test 
There was individual cut off for all the sections
Section1- English, 15 questions
Direction 1-5 : In each of the following questions, find out which part of the sentence has an error. if there is no mistake  the answer is 'no error'
1. Neither the plans / suits him and therefore / he decided not to / go out yesterday / No error
    Ans: B
2. The Cabinet Ministers and the Prime Minister / was at the airport / to receive the foreign dignitary / No error
    Ans : B
3. While proceeding on leave / he had orally committed that / he will resume after two days/ No error
    Ans : C
4. The number of people / applying were so large / that the college had to / stop issuing application forms / No error
    Ans: B
5. a series of lectures / of Indian philosophy / are arranged by the University / No error
    Ans: C
Directions 6-10: The following questions, consist of two words each that have a certain relationship to each other, followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the original pair of words.   
6. Illiterate : Uneducated
    A) Country : State    B) City : Village    C) Palace : Hut    D) Vision : Sight
    Ans ; D
7. Money : Transaction
    A) Life : Death    B) Water : Drink    C) Ideas : Exchange    D) Language : Conversation
    Ans: D
8. Overlook : Aberration
    A) Mitigate : Penitence    B) Condone : Offence    C) Error : Omission    D) Conviction : Criminal
    Ans: B
9. Utopia : English
    A) Odyssey : Greek    B) Tulsidas : Sanskrit    C) Monalisa : English    D) Dante : Latin
    Ans: A
10. Sailor : Pirate
    A) Police : Robbers    B) Lion : Lamb    C) Plant : Fungus    D) Major : Sepoy
    Ans : C
Directions 11-12 : In each of the following questions, a sentence has been given in Active (or passive) voice.  Out of the four alternatives suggested select the one which best express the same sentence in Passive (or Active) Voice.
11. I know him.
    A) He is known by me
    B) He was known to me
    C) He has been known by me
    D) He is known to me
    Ans : D
12. The residents celebrated the Independence Day
    A) The Independence Day  celebrated by the residents
    B) The Independence Day was celebrated by the residents
    C) The Independence Day has been celebrated by the residents
    D) Celebration of Independence Day was done by the residents
    Ans: B
Directions 13-15 : Pick out the most effective word from the given words  to fill in the blank to make the sentence meaningfully complete
13. Even if rains all day I will not be able to .........................my journey
    A) put by    B) put out    C) put off    D) put away
    Ans: C
14. Help yourself....................whatever you can use without wasting
    A) with    B) to    C) in    D) for
    Ans: B
15. There is an exception............................every rule.
    A) on    B) to    C) in    D) for
    Ans: B
Section2-apptitude 15 questions
The questions 1-7 are based on the following pattern. The problems below contain a question and two statements giving certain data. You have to decide whether the data given in the statements are sufficient for answering the questions. The correct answer is
(A) If statement (I) alone is sufficient but statement (II) alone is not sufficient.
(B) If statement (II) alone is sufficient but statement(I) alone is not sufficient.
(C) If both statements together are sufficient but neither of statements alone is sufficient.
(D) If both together are not sufficient.
(E) If statements (I) and (II) are not sufficient

1. What is the volume of a cubical box in cubic centimetres?
    (I) One face of the box has an area of 49 sq.cms.
    (II) The longest diagonal of the box is 20 cms.
    Ans. D
2. Is z positive?
    (I) y+z is positive
    (II) y-z is positive
    Ans. E
3. Is x>y ? x, y are real numbers?
    (I) 8x = 6y
    (II) x = y + 4
    Ans. B
4. If a ground is rectangular, what is its width?
    (I) The ratio of its length to its breadth is 7:2
    (II) Perimeter of the playground is 396 mts.
    Ans. C
5. If the present age of my father is 39 yrs and my present age is x yrs, what is x?
    (I) Next year my mother will be four times as old as i would be.
    (II) My brother is 2 years older than I and my father is 4 years older than my mother.
    Ans. C
6. How many brothers and sisters are there in the family of seven children?
    (I) Each boy in the family has as many sisters as brothers
    (II) Each of the girl in the family has twice as many brothers as sisters
    Ans. D
7.  x is not equal to 0, is x + y = 0?
    (I) x is the reciprocal of y
    (II) x is not equal to 1
    Ans. A
8. Find sum of 3 + 5/(1+22) + 7/(1 + 22 + 32) + ......
       Ans. 3n/(1 + n) 
9. Out of 55 eggs 5 are defective. what is % of defective eggs
       Ans:9/11%
 10. 1/8 is divided by 's' , if 's' is increased by 2 times, what is the result.
      Ans: increases two times
11. For each hour an watch is going slow by 30 seconds. Now time is    
        8a.m.What will be the actual time at 8p.m.

        Ans: 7:54.
12. If a person walks at 4/5th of his usual spee he reaches 40min late. If he walks at his usual speed how much time does he 
      travels. 
        Ans:160min or 2hr 40min
13. In a class 80% have passed english,70% passed Hindi 10% did not passed either. If 144 students passed both. What is          
      the total strength of the class.
      Ans: 240. 
14. Find the least number when divided by 7 gives the reminder 6, when divided by 6 gives reminder 5, when divided by 5          
      gives reminder 4 and so on....
     Ans: 419
15. If a man stands in front of sun what is the first letter of the direction which is left to him:
      Ans: North(N)

Section3-technical ,20 questions
1.  After execution of CMP, a instruction in Intel 8085 microprocessor 
    (a) ZF is set and CY is reset.
    (b) ZF is set CY is unchanged
    (c) ZF is reset, CY is set
    (d) ZF is reset , CY is unchanged . 
    Ans. A
2. Convert the infix to postfix for A-(B+C)*(D/E)
    Ans. ABC+DE/*-
3. Picard's method uses _______?
    Ans. Successive Differentiation.
Predict the output or error(s) for the following:
4. void main()

    {


int  const * p=5;


printf("%d",++(*p));

     }
    Ans: Compiler error: Cannot modify a constant value.
5. main()

     {


char s[ ]="man";


int i;


for(i=0;s[ i ];i++)


printf("\n%c%c%c%c",s[ i ],*(s+i),*(i+s),i[s]);

     }
        Ans:    mmmm
                    aaaa
                    nnnn
6.    Identify the recording mode, by which you can record the non-standard object in QTP  
A)    Standard recording        B)    Analog recording

C)    Low level recording         D)    None

Ans:    B
7.     By default, how many no of tables would be there in a script?

a)      One        b) Two         c) Three               d) Four

Ans:    B
8. The file extension of Shared object repository file is
A  .MTR        B. .TSR        C. .QRS          D. None
          Ans:    B
9. To invoke the function which does not return any value, we can use
a.       call function name            b. function name

c.       Both A & B                    d.      None

          Ans:    A
10.  How many bits are needed within a machine code instruction to select a single register in a machine with 16 general registers?
a.  2                b. 3            c.  4            d. 5

  Ans:    C
11. which key in any windows screen is used to invoke file menu

            Ans :alt+f
12. Object which is used for calling the win32 api functions in QTP, we use
        A  extern        B. description        C. environment         D. None

  Ans:    A
13. What is the result of adding the binary numbers 01000001 and 11111111 on an 8 bit machine?
        A. 11111111            B. 00000000            C. 01111111            D. Overflow
        Ans: D
14. Which of the following does POP stand for?
    A. Post Office Protocol                B. Peer over peer
    C. Private Office Protocol             D. Post Optical  Protocol
      Ans:    A
15. Which of the following stages of compilation produces a syntax tree?
        A. Parsing                            B. Code generation        
        C. Lexical analysis               D. Semantic analysis
         Ans:    A
16. Which of the following is not contained in a system description?
         A.  Internal data flows                 B.  Flows leaving and entering the system        
        C.  Relationship between external entities        D.  Internal components or processes
        Ans: C
17. What is the result of adding the binary numbers 01000011 and 10010000 on an 8 bit machine?
        A. 11010011        B. 11110011        C. 11001011        D. 11010101
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1)APTITUDE TEST:
Questions = 50 ; time limit = 50 minutes. no negative marking. Offline (paper & pen) test 
There was individual cut off for all the sections
Section1- English, 15 questions
Directions 1-5 : Pick out the most effective word from the given words  to fill in the blank to make the sentence meaningfully complete
1. While facts are ________ and data hard to come by, even scientists occasionally throw side the professional pretense of 
    ______ and tear into each other with shameless appeals to authority and arguments that shameless appeals to authority and 
    arguments that are unabashedly ad hominid.

a. elusive...objectivity
b. establish...courtesy
c. demonstrate .. neutrality
d. ineluctable...cooperation
    ANS: (A)
2. While the disease is in ______ state it is almost impossible to determine its existence by_____ .

a. a dormant ..postulate
b. a critical...examination
c. an acute ...analysis
d. a latent...observation
   ANS: (d)
3. The storehouse was infested.........................rats.

    A) by    B) of    C) with    D) in

    Ans: C

4. Please distribute these sweets........................the children

    A) in      B) between    C) amid    D) among

    Ans: D

5. This custom seems to have originated .....................and East European country

    A) in    B) from    C) by    D) with

    Ans: A

Directions 6-10: The following questions, consist of two words each that have a certain relationship to each other, followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the original pair of words.   
6. OFFHAND : PREMEDITATION : :
a. upright : integrity        b. aboveboard : guile        c. cutthroat : competition        d. backward : direction
   ANS: (b)
7. POLTERGEIST : APPARATION::

a. dwarf : stature        b. witch : familiar        c. ogre : monster        d. sorcerer : spell
   ANS: (c)
8.AVER : AFFIRMATION : :
a. proclaim: objection        b. denounce : defiance         c. refuse : distress        d. demur : protest
    ANS. (d)
9. Duralumin : Aircraft

    A) Brass : Alloy    B) Stone : Sculptor    C) Iron : Steel    D) Bronze : Statue

    Ans: D
10. Cool : Frigid

    A) Livid :Lurid    B) Pool : Placid    C) Tepid : Torried    D) Lack : Abundant

    Ans : C
Direction 11-13 : In each of the following questions, find out which part of the sentence has an error. if there is no mistake  the answer is 'no error'
11. If I was you / I would have / terminated his services then and there / No error

        A                    B                                         C                                  D

        Ans : A
12. as soon as I will reach Bombay / I will send / you the books / you have asked for / No error

                     A                                    B                  C                       D                        E

        Ans: A
13. Our conception of  / what should a science of mental life  be / has changed considerably since James' time / No error           
                 A                                            B                                                              C                                         D

    Ans : B                           

Directions 14-15 : In each of the following questions, a sentence has been given in Active (or passive) voice.  Out of the four alternatives suggested select the one which best express the same sentence in Passive (or Active) Voice.
14. Do you imitate others ?

    A) Are others imitated by you ?

    B) Are others being imitated by you ?

    C) Were others being imitated by you ?

    D) Have others been imitated by you ?

    Ans : A
15. I saw him conducting the rehearsal.

    A) He was seen conducting the rehearsal

    B) I saw the rehearsal to be conducted by him

    C) He was seen by me to conduct the rehearsal

    D) I saw the rehearsal being conducted by him

    Ans : D
Section2-apptitude 15 questions
The questions 1-2 are based on the following data
6 people A,B,C,D,E and F sit around a table for dinner. Since A does not like C, he doesn't sit either opposite or                   
beside C.B and F always like to sit opposite each other.

1. If A is beside F then who is are the two neighbours of B?

(a) D and C
(b) E and C
(c) D and E
(d) Either (a) or (b)

Ans. (c)
2. If D is adjacent to F then who is adjacent to C?

(a) E and B
(b) D and A
(c) D and B
(d) either (a) or (c)

Ans.(d)
3. Complete the sequence A, E ,I ,M ,Q ,U , _ , _
(a) B, F
(b) Y, C
(c) G, I
(d) K, O

Ans.(b)
4. If the letters of the word "rachit" are arranged in all possible ways and these words are written out as in a dictionary,            
    what is the rank of the word "rachit".

(a) 485
(b) 480
(c) 478
(d) 481

Ans. (d)
5. Ravi's salary was reduced by 25%.Percentage increase to be effected to bring the salary to the original level is

(a) 20%
(b) 25%
(c) 33 1/3%
(d) 30%

Ans. (c)
6. A and B can finish a piece of work in 20 days .B and C in 30 days and C and A in 40 days. In how many days 
    will A alone finish the job

(a) 48
(b) 34 2/7
(c) 44
(d) 45

Ans. (a)
7. How long will a train 100m long travelling at 72kmph take to overtake another train 200m long travelling at 54kmph ?

(a) 70sec
(b) 1min
(c) 1 min 15 sec
(d) 55 sec

Ans. (b)
8. What is the product of the irrational roots of the equation (2x-1)(2x-3)(2x-5)(2x-7)=9?

(a) 3/2
(b) 4
(c) 3
(d) 3/4

Ans. (a)
 

9. The total population of a village is 5000.  The number of males and females increases by 10% and 15% respectively             
     and consequently the population of the village becomes 5600.  what was the number of males in the village ?

    A) 2000    B) 2500    C) 3000    D) 4000

    Ans : C
10. Fresh fruit contains 68% water and dry fruit contains 20% water.  How much dry fruit can be obtained from 100 kg               
      of fresh fruits ?

     A) 32 kg    B) 40 kg    C) 52 kg    D) 80 kg

     Ans : B
11. If "segment" is coded as rffndou, then "ritual" is coded as

(a) shutbm
(b) qjutbk
(c) qhutbk
(d) qhubtk

Ans. (c)
12. If "football" is "cricket" ,"cricket" is "basketball" ,"basketball" is "volleyball","volleyball" is "khokho" and "khokho" is 
      cricket, which is not a ball game?

(a) cricket
(b) football
(c) khokho
(d) basketball

Ans. (a)
13. Which of the following is a recursive set of production

(a) S --> a|A, A --> S
(b) S --> a|A, A --> b
(c) S -->aA, A-->S
(d) None of these

Ans. (c)
14. A sum 's' is divided into 4 parts. second person gets Rs 10 more than first.3rd person is Rs 10 more than second,               
      4th is 10 more than 3rd.how much amount do 1st person get.

        Ans: (s-60)/4
15. One ship goes along the stream direction 28 km and in opposite    direction 13 km in 5 hrs for each direction. What is the 
       velocity of stream?
Ans:  1.5 kmph
Section3-technical ,20 questions
1. What sorting algos have their best and worst case times equal ?

Ans. O(nlogn) for  mergesort  and heap sort
2. What page replacement algorithm has minimum number of page faults ?

Ans. Optimality algorithm
3.  What is the use of virtual base class in c++

     Ans. Multiple lines between derived classes. 

4. Assignment operator targets to _____

     Ans. l-value
5. A byte addressable computer has memory capacity of 2 power m Kbytes and can perform 2 power n operations an               
     instruction involving three operands and one operator needs maximum of___________ bits
Ans. 3m + n
6. In round robin scheduling, if time quantum is too large then it degenerates to

Ans. FCFS
7. What data structures you should use for dictionary searching and it  should be capable of doing spell check also ?

                Ans: Hashing 

8. What is the value of 121 base 4 + 84 base 16 ? 

        Ans :  2130
9. When the fn. is called where the return address is stored?
                Ans. stack
10.  C program code
        int zap (int n)

       {

        if (n<=1)then zap=1;

        else  zap=zap(n-3)+zap(n-1);

       }

       then the call zap(6) gives the values of zap

       [a] 8  [b]  9  [c] 6  [d]  12  [e] 15

       Ans: b
11.  Virtual memory size depends on

           [a] address lines    [b] data bus

           [c] disc space       [d] a & c    [e] none 

         Ans :  a
12. Critical section is   
      Ans: statements which are accessing shared resources
13. In which layer ROUTING is performed ?
          Ans.  Network Layer
14.  What is the output of the following  code snippet
main()

{

   printf(5+”Fascimile”);

}

Ans. mile
15. Which one has no L-Value
A   a[i]         B.  i         C.  2             D.  *(a+i)

Ans . C
16.     Which is true for binary search ?
    A Traversal scheme                                B. Greedy algorithm
    C. Divide and conquer algorithm             D. none of these
     Ans. C
17.      What is the protocol used for getting the physical address by supplying  IP address of a node ?
A.  ARP         B.  RARP         C. BOOTP         D. DHCP

      Ans. A
18. Which is not an OS?

a)      Win 3.1        b)      Win 95 

c)      Win 98       d)      Win 2000

Ans. a
19. Tcp/ip is

    a) connectionless            b) connection oriented            c) both a & b           d) none

    Ans:  b
20. A sorting algorithm which can prove to be a best time algorithm in one case and a worst time algorithm in worst case is

     (a) Quick Sort         (b) Heap Sort     (c) Merge Sort         (d) Insert Sort

    Ans. (a)
 

 

 NEXT THE BERBAL PORTION 40 QUESTIONS....GRAMMAR..SENTENCE COMPLETION..DETECTION OF ERROR ..TWO LARGE PASSAGES..THE TME FACTOR IS THE MAIN THING IN THIS SECTION...
AFTER 4HRS OUR RESULTS WERE DECLARED OUT OF OVER 1000 CANDIDATES 206 CLEARED THE APTI....NEXT WE WERE TAKEN FOR THE PI ROUND..THE PI ROUND FOR OUR COLLEGE STARTED AT 7.30PM...THERE WERE 25 PANELS AND 1:1NTERVIEW...IT WAS A COOL INTERVIEW THE INTERVIEWER WAS TOO GOOD....AT FIRST I GREETED HIM AND WITH A FIRM HANDSHAKE ..THIS IS VERY IMPORTANT ..HE ASKED ME WHETHER I WAS NERVOUS OR NOT..I TOLD HIM IM A BIT...HE TOLD ME TO BE ABOSLUTELY COMFORTABLE..HE ALWAYS HAD A SMILE ON HIS FACE AND SO DID I.....HE ASKED ME BOUT MY HOBBIES ..I TOLD ACTING,ANCHORING AND CREATIVE WRITING..HE AWS IMPRESSED AFETR HEARING ACTING ...HE TOLD ME DAT UR INTO TEAM WORK...

HR:SO R U ONLY A TEAM WORKER NOT A TEAM LEADER
I:NO SIR I AM ALSO A TEAM LEADER I WAS SELECTED AS THE SECRETARY OF THE FEST COMMITTE OF OUR COLLEGE
HR:(IMPRESSED)DO U READ NEWSPAPER
I:YES SIR BUT NOT IN DETAIS..
HR:TELL ME WHAT IS GOING ON RECENTLY
I:SINCE I HAD READ ALL THE LAST DAYS NEWS FROM THE NET LAST DAY I WAS ABLE TO TELL ALL THE NEWS...
HR:GOOD..DO U HAVE ANY CERTIFICATES
I:YES SIR SHOWED HIM ALL
HE WAS IMPRESSED SEEING DAT I WAS THT TOPPER OF MY DEPARTMENT IN THE PREVIOUS SEM...HE SAW ALL MY CERTIFICATES...
HR:HE ASKED ME TEEL ME FROM WHERE I WILL ASK U QUESTIONS...
I TOLD HIM FROM ANYWHERE SIR U LIKE
HR:SO U SMOKE
I:NO SIR
HR:SUPPOSE U FRIENDS SMOKE AND ASKS U TO BUY A CIGARETTE WHAT WILL U DO
I:SIR FIRST I WILL MAKE HIM AWARE OF WHAT IS WRONG IN HAVING CIGGARETTS..BUT I KNOW IT WILL BE LIKE A LECTURE TO HIM..BUT I WILL TRY TO SHOW HIM BY SETTING AN EXAMPLE OF ME .Y SAYING DAT SEE I DNT SMOKE...SO WHY CANT U ..AND WENT ON ..HE AWS SATISFIED WITH MY ANSWER BUT ADDED A BIT HE TOLD DAT U COULD HAVE ALSO TOLD IT IN A WAY LIKE THIS DAT IM NOT UR ENEMY SO I CNT GIVE U A POSION...LIKE DAT WAY...I TOLD ABSOLUTELY SIR....
THEN HE ASKED ME SUPPOSE UR A PROJECT MANAGER HW WILL U EXECUTE A PROJECT..TOLD HIM

HE THEN ASKED ME WHAT ELSE DO U DO..I TOLD HIM SIR I DO HAE ANOTHER HOBBY OF CREATIVE WRITING,..AND IM ALSO THE MEMBER OF THE EDITORIAL BOARD OF TE COLLEGE MAGAZINE...HE TOLD GREAT....

THEN HE TOLD ME SOURAV U HAVE IT IN U AND U CAN DO IT...U DONT HAVE TO WORRY..THOSE WORDS...DATS IT I KNEW DAT I HAD DONE IT;...THE RESULTS CAME OUT AFTER ONE HOUR AND I AWS THRU...HOPING TO JOIN INFOSYS IN 2009....FRIENDS I MUST TELL HAVE FAITH IN GOD CROSSING THE APTI IS HARD WORK FROM UR SIDE PLUS UR LUCK...AND IF UR THRU IN APTI THERE ARE VERY LESS CHANCES OF U BEING CANCELLED IN THE HR ROUND U JST HAVE TO TALK WITH THE HR KEEP EYE CONTACT..AND SPEAK ON FREELY...
BEST OF LUCK TO ALL OF U ..GOD BLESS
2.
2>technical interview
3>HR interview
 give equal importance to al sections in aptitude test ...i m stressing this point more.... the questions in verbal were quite difficult....so  i had to  guess the words ..but if u hv r preparing for competitive exams like gre,cat... then it will b an added feature to u & u can make it very fast... there wil b passages, analogy,fill in the blanks with corrcet words,identify the wrong sentences & so on.... u must b fast enough... read the passage at the last if u hv time....

then the quantitative aptitude section was quite easy & nice... i liked it.... there were questions on mixtures,series,profit& loss, puzzels which r easy, blodd relationship,trains,clock,probability...... u hv to do calculations fast.... thats all... do al questiona whichever u feel easy first & then try for difficult ones...

technical was also quiite straight forward like output from c program,unix commands & basics of C , atleast 1  vauge question... but u need not bother abt it ,...if u r a cs or is student then u can easily crack it.....

MY TECHNICAL INTERVIEW
My technical interview went on for only abt 8 mins...my b i was lucky...
Sir: tel me abt urself?
Me:i am so & so.... bla bla bla.... i hv secured 84% aggre.....
Sir:which 2 subjects u like the most?
Me: i like data structures & C
Sir: then tel me wat is data structure?
Me: data structure is the most basic form or the stucture in which the data can b stored efficiently & from which the data  can b accessed .for example arrays,structures,union,enum....
Sir: do u know wat is memlock(something else i dont remember it properly) in C?
Me:no sir,i dont no abt it, i hv not come across it any time...
Sir:k,then do u no malloc?
Me: Yes sir, it is a function used to dynamically allocate memory ..... it returns void pointer & take in number of bytes as argument...
Sir:k then how can v convert void into int?
ME: By typecasting it
Sir:tel me abt ur projects?
Me: i told him abt the project which i had done on b+ trees & one more on Database...
(He then was asking me abt the project details.... which i cud answer easily....)
Sir: which domain do u like to work in?
Me: i like mobile communication  & automation....
Sir: u r selected take this form & fill it up....

i was so happy .... since i had not prepared anything for technical.....

HR INTERVIEW
My HRinterview was something very nice & interesting...as this was my first HR interview i was excited to face it....
Me:may i come in sir?
He: come in (he  with small smile on his face) sit down
Me: good evening Sir...
He: manu is this physics lab
Me: yes sir....(he saw Max Plancks picture on the wall)
He: tel me abt Max Planck
Me:( i was surprised like i had never expected anything like this) then i told him that he is a scientist then he asked me abt his contributions... i told him abt Plancks contant.....& he asked me abt quantum theory
(nothing came to my mind at that moment) i told him franckly that i dont remember (with smile)anything abt quantum theory...
He:k manu...u hv secured 84%agre .... tel me abt ur cet rank & abt ur current position in ur class
Me: i told him that my pos was 470 & i stood 2nd in my class....
He: so ur marks graph is not consistent.... u hv got 80,90,81,82,75...so next ull score 70
Me: Definitely no sir.... i hv done well this sem exams...so ill surely get above 78 sir...
He: k where do u c urself in next 3 r 5 yrs from now...
Me: sir i wud lik to b a team lead .... take up challenging projects....help my teammates to achieve the target..
He: k manu i dont hv any challenging projects.... so wat wil u do.... wil u do watever i give u?
Me: yes sir... ill do watever u give... n add my own innovative ideas to it.... 
He: wat al questions were ther in technical round?
Me: (i told him al that i told u above..... it was just like an another technical round)
He: y didnt u take up any paper presentation?
Me: i like to do one sir... but i dint find time...as i m into so many other extracurriculam activities...like.... perently i m working as an active member of -- organisation,i do anchoring spiritual functions....&  so on ( i told him abt my interests in spiritual science & social service...)
He: k tel wen wil u do paper presentation?
Me: i thought of doing it in my 7th sem sir....
He:do u hv any ques?
Me: yes sir, i heard that wipro doesnt give call letter even after a year.. is that true sir?
He: yes...(he told something abt demand& so on) but it depends on the college & its reputation....we do give fast response  to top colleges like rvce pesit ....
u can leave...
Me: thank u sir

hey guys.... i wud like to giv u some tips.....
do hv good eye contact with the person who is on the otherside,
smile whenever necessary be lively,
be CONFIDENT in watever u speak
sit straight as much as possible
goto the interview decently dont show ur bad attitude

belive in god...... he should bless.... we should get ... all the very best!!!

 3.
WIPRO PAPER ON 23rd JULY 

hiii wipro had visited our college on 23rd & recruited about 30 to 40 students
3 phases of selection-written test,technical interview, hr interview 
written test consisted of 3 parts-verbal (15 questions),analytical(15 questions),technical(20 questions)
sectional cutoff was there. 1 hr time.no negative marking. 
i found technical questions were pretty tough compared to other 2 sections. verbal & aptitude(analytical) questions were easy. questions included in verbal:
to give the correct order of the jumbled sentences.(2 or 3 such questions)
to give the meaning of the phrases.ex: Lion's share, fair & square (2 or 3 such questions)
antonyms,synonyms(5 questions)
to fill the blanks with most appropriate word(2 or 3 such questions)
ex:my brother is an ......... scholar
a)eminent  b)imminent c)iminent d)eminant
ans is a)eminent
it was easy to score
analytical test problems included on
1)speed of trains,their collision 
2)father's & son's age,
3) time & work,
4) permutation & combination( of seating arrangements)
5)ratios
6)given total heads & legs of hens and cows.to find the number of hens
7)probability
8)variance
9)set theory etc
they were easily crackable..technical test  included questions
1)to simplify boolean expression using K maps,
2)logic gates(ex:negation of nor gate)
3)o/p of the given unix commands like grep,ls
4)o/p of c & c++ programs( 4 such questions)
5)operating systems etc
devise the time properly..i ran out of time for technical section.i dint much time to analyse the programs
5-10 minutes for verbal
20-25 minutes for apti
remaining time for technical
results were announced after 30 mins around 100 were shortlisted. technical interview was cool.students from hardware branches could opt either vlsi or software itself..
the person who interviewed me was very cordial..he asked
"tell me about yourself"
"languages u have learnt"
i answered c,c++,sql & the remaining questions he asked  were based on that
uses of macros
arrays,structures,linked list
memory allocation in structures
implementation of linked list,dynamic arrays
program to swap 2 numbers using pass by reference
advantages of c++ over c
definitions of class,object,inheritance, polymorphism n other concepts
program to illustrate function overloading
program compilation steps
preprocessor directives,their uses
in dbms
normalisation
create student database table
primary key, secondary key
many questions on lab projects done in 5th & 6th semester
software engg concepts implemented while doing these projects
then finally he asked my goal in life n handed me a form to fill up.Around 45-50 were given that form
students who got that form were eligible for hr interview
in HR interview
i was asked the questions by a lady HR
"tell me about ur studies"
"why SJCE?"
"why WIPRO?"
"Are you not ready to go to any other places than bangalore?" because i had mentioned only "bangalore"
a small discussion went on between us. 
in hr they usually see the way we communicate. Those who spoke fluently & confidently were selected
finally 35-40 were recruited for the WIPRO. the Wipro people gave us a small speech & condtioned that 8th sem must be cleared in 1st attempt & minimum of 60% aggregate must be maintained as on the joining date..
All the best for your placements...I hope this 'll help u people atleast a bit...
Sridevi

	Question : An electron moving in an electromagnetic field moves in a 
(a) In a straight path
(b) Along the same plane in the direction of its propagation
(c) Opposite to the original direction of propagation
(d) In a sine wave

Posted By : Prathap

Answer : Ans. (b)

Question : The total work done on the particle is equal to the change in its kinetic energy

(a) Always
(b) Only if the forces acting on the body are conservative.
(c) Only if the forces acting on the body are gravitational.
(d) Only if the forces acting on the body are elastic.

Posted By : Prathap

Answer : Ans. (a)

Question : The following unit measure energy:

(a) Kilo-watt hour.
(b) Volt*volt/sec*ohm.
(c) Pascal*foot*foot
(d) (Coulomb*coulomb)*farad

Posted By : Prathap

Answer : Ans. (a)

Question : Astronauts in stable orbits around the earth are in a state of weightlessness because

(a) There is no gravitational force acting on them.
(b) The satellite and the air inside it have an acceleration equal to that of gravitational acceleration there.
(c) The gravitational force of the earth and the sun balance giving null resultant.
(d) There is no atmosphere at the height at which the satellites move.

Posted By : Prathap

Answer : Ans. (b)

Question : An organ pipe, open at both ends and another organ pipe closed at one end, will resonate with each other, if their lengths are in the ratio of

(a) 1:1
(b) 1:4
(c) 2:1
(d) 1:2

Posted By : Prathap

Answer : Ans. (c)

Question : During an isothermal expansion of an ideal gas

(a) Its internal energy increases.
(b) Its internal energy decreases.
(c) Its internal energy does not change.
(d) The work done by the gas is not equal to the quantity of heat absorbed by it.

Posted By : Prathap

Answer : c

Question : A parallel plate capaciator is charged and the charging battery is then disconnected.
If the plates of the capacitor are moved further apart by means of insulating handles

(a) The charge on the capacitor increases.
(b) The voltage across the plates increases.
(c) The capacitance increases.
(d) The electrostatic energy stored in the capacitor decreases.

Posted By : Prathap

Answer : Ans. (b)

Question : Two equal negative charges q are fixed at point (0,a) and (0,-a) on the y-axis.
A positive charge Q is released from rest at the point (2a,0) on the x-axis. The charge Q will

(a) Execute simple harmonic motion about the origin
(b) Move to the origin and remain at rest
(c) Move to infinity
(d) Execute oscillatory but not simple harmonic motion

Posted By : Prathap

Answer : Ans. (d)

Question : A square conducting loop of length Lon a side carries a current I.
The magnetic field at the centre of the loop is

(a) Independant of L
(b) Proportional to L*L
(c) Inversely proportoinal to L
(d) Directly proportional to L

Posted By : Prathap

Answer : Ans. (c)

Question : The focal length of a convex lens when placed in air and then in water will

(a) Increase in water with respect to air
(b) Increase in air with respect to water
(c) Decrease in water with respect to. air
(d) Remain the same

Posted By : Prathap

Answer : Ans. (a)



	]

•Interview 
The test is followed by a Technical and a HR interview.The technical interview is highly specialised and covers almost all subjects you have done in your curriculum. However one is required to name his/her favorite subject on which most of the interview is focussed.For Computer Engineers C, Operating Systems, DBMS,Microprocessors are mostly focussed upon. Electronics Engineers can be grilled on DCLD, Microprocessors and Communications. For details on the frequently asked questions please refer to our Interview section.
The HR interview which follows the technical interview is very general.In most cases questions regarding the company are asked.For details on the other frequently asked questions please refer to our Interview section.
Profile 
Wipro was previously known as Western India Vegetable Products Ltd was started by Mr.M.H Premji. The company manufactured vegetable oil, vegetable ghee and laundry soap. In 1966, upon the untimely demise of M.H. Premji, his son, Mr.Azim Hasham Premji, a 21-year-old student of engineering at Stanford University, was called upon to run the company. Under him, Wipro embarked on an ambitious phase of expansion. The business diversified into fluid power, soaps, toiletries, lighting and babycare products, and distribution was considerably expanded.Some of the important consumer products made by Wipro include soaps, babycare products, bulbs, tubelights, shampoos, powder etc. The financial strength of the consumer care division powered further diversifications, particularly in infotech and healthcare.
The Infotech era began in the late seventies and Wipro set up its IT business in Bangalore in 1980. Wipro became the No.1 listed company in the country in just 15 years. In a reorganisation, the firm went public with Wipro Technologies, the global IT services subsidiary, whose gross income grew by 65 percent to reach Rs.1042 crore($240 million).Wipro's software business was assessed at SEI CMM Level 5(.Wipro's technology divisions, global R&D and telecom solutions contributed 46 percent of the software revenue, and the balance was accounted for by enterprise solutions business. E-commerce contributed 15 percent of enterprise solutions revenue for the year. Sales and other incomes of the second division,Wipro Infotech, the Indian IT services and products business that takes care of networking solutions, customer services, computers and peripherals, grew by 20 percent to Rs.825 crore.
Wipro Technologies soon plans to tap the global capital body through an issue of American Depository Receipts(ADR) or Global Depository Receipts(GDR). It established its headquaters in Santa Clara, US, with Mr.Vivek Paul as the company's president and CEO. 
The pay package is around Rs.17,000(approx.) for the year 2000 recruits.
Mr.Azim H. Premji is presently the Chairman. Mr.Premji owns about 75 percent of the Wipro stock. He also happens to be the richest Indian in the world.


	

	

	51. If "PROMPT" is coded as QSPLOS ,then "PLAYER" should be

(a) QMBZFS
(b) QWMFDW
(c) QUREXM
(d) URESTI

Ans. (a) 

The questions 52-53 are based on the following data

6 people A,B,C,D,E and F sit around a table for dinner.Since A does not like C, he doesn't sit either opposite or beside C.B and F always like to
sit opposite each other.

52. If A is beside F then who is are the two neighbours of B?

(a) D and C
(b) E and C
(c) D and E
(d) Either (a) or (b)

Ans. (c)


53. If D is adjacent to F then who is adjacent to C?

(a) E and B
(b) D and A
(c) D and B
(d) either (a) or (c)

Ans.(d)

54. Complete the sequence A, E ,I ,M ,Q ,U , _ , _

(a) B, F
(b) Y, C
(c) G, I
(d) K, O

Ans.(b)


55. A person travels 6km towards west, then travels 5km towards north ,then finally travels 
6km towards west. Where is he with respect to his starting position?

(a) 13km east
(b) 13km northeast
(c) 13km northwest
(d) 13km west

Ans. (c)


56. If A speaks the truth 80% of the times, B speaks the truth 60% of the times.
What is the probability that they tell the truth at the same time

(a) 0.8
(b) 0.48
(c) 0.6
(d) 0.14

Ans.(b)

57. If the time quantum is too large, Round Robin scheduling degenerates to 

(a) Shortest Job First Scheduling
(b) Multilevel Queue Scheduling 
(c) FCFS 
(d) None of the above

Ans. (c)


58. Transponders are used for which of the following purposes

(a) Uplinking
(b) Downlinking
(c) Both (a) and (b)
(d) None of the above

Ans. (c)


59. The format specifier "-%d" is used for which purpose in C

(a) Left justifying a string
(b) Right justifying a string
(c) Removing a string from the console
(d) Used for the scope specification of a char[] variable

Ans. (a)


60. Virtual functions allow you to

(a) Create an array of type pointer-to-base-class that can hold pointers to derived classes
(b) Create functions that have no body
(c) Group objects of different classes so they can all be accessed by the same function code 
(d) Use the same function call to execute member functions to objects from different classes


62. A sorting algorithm which can prove to be a best time algorithm in one case 
and a worst time algorithm in worst case is

(a) Quick Sort
(b) Heap Sort
(c) Merge Sort
(d) Insert Sort

Ans. (a)


63. What details should never be found in the top level of a top-down design?

(a) Details
(b) Coding
(c) Decisions
(d) None of the above

Ans. (c)


64. In an absolute loading scheme, which loader function is accomplished by assembler

(a) Reallocation
(b) Allocation
(c) Linking
(d) Both (a) and (b)

Ans. (d)


65. Banker's algorithm for resource allocation deals with

(a) Deadlock prevention
(b) Deadlock avoidance
(c) Deadlock recovery
(d) None of these

Ans. (b)


66. Thrashing can be avoided if 

(a) The pages, belonging to the working set of the programs, are in main memory
(b) The speed of CPU is increased
(c) The speed of I/O processor are increased
(d) All of the above

Ans. (a)


67. Which of the following communications lines is best suited to interactive processing applications?

(a) Narrowband channels
(b) Simplex channels
(c) Full-duplex channels
(d) Mixedband channels

Ans. (b)


68. A feasibility document should contain all of the following except

(a) Project name
(b) Problem descriptions
(c) Feasible alternative
(d) Data flow diagrams

Ans. (d)


69. What is the main function of a data link content monitor?

(a) To detect problems in protocols
(b) To determine the type of transmission used in a data link
(c) To determine the type of switching used in a data link
(d) To determine the flow of data

Ans. (a)

70. Which of the following is a broadband communications channel?

(a) Coaxial cable
(b) Fiber optic cable
(c) Microwave circuits
(d) All of the above

Ans. (d)


71. Which of the following memories has the shortest access time?

(a) Cache memory
(b) Magnetic bubble memory
(c) Magnetic core memory
(d) RAM

Ans. (a)

72. A shift register can be used for 

(a) Parallel to serial conversion
(b) Serial to parallel conversion
(c) Digital delay line
(d) All the above

Ans. (d)

73. In which of the following page replacement policies, Balady's anomaly occurs?

(a) FIFO
(b) LRU
(c) LFU
(d) NRU

Ans. (a)

74. Subschema can be used to

(a) Create very different, personalised views of the same data
(b) Present information in different formats
(c) Hide sensitive information by omitting fields from the sub-schema's description
(d) All of the above

Ans. (d)

75. Question on l-values in automata




	

	The questions 41-46 are based on the following pattern.The problems below contain a question 
and two statements giving certain data. You have to decide whether the data given in the 
statements are sufficient for answering the questions.The correct answer is 
(A) If statement (I) alone is sufficient but statement (II) alone is not sufficient.
(B) If statement(II) alone is sufficient but statement(I) alone is not sufficient.
(C) If both statements together are sufficient but neither of statements alone is sufficient.
(D) If both together are not sufficient.

41. What is John's age?
(I) In 15 years John will be twice as old as Dias would be
(II) Dias was born 5 years ago
Ans. (C)

42. What is the distance from city A to city C in kms?
(I) City A is 90 kms from City B 
(II) City B is 30 kms from City C
Ans. (D)

43.Is A=C ? A,B,C are real numbers
(I) A-B=B-C
(II) A-2C = C-2B
Ans. (C)

44. What is the 30th term of a given sequence ?
(I) The first two terms of the sequence are 1,1/2
(II) The common difference is -1/2
Ans. (A)

45.Was Avinash early, on time or late for work?
(I) He thought his watch was 10 minutes fast
(II) Actually his watch was 5 minutes slow
Ans. (D)

46. What is the value of A if A is an integer?
(I) A4 = 1
(II) A3 + 1 = 0
Ans. (B)

47. A person travels 12 km in the southward direction and then travels 5km to the right and then travels 15km toward the right and finally travels 5km towards the east, how far is he from his starting place?
(a) 5.5 kms
(b) 3 km
(c) 13 km 
(d) 6.4 km
Ans. (b)

48. X's father's wife's father's granddaughter uncle will be related to X as
(a) Son
(b) Nephew
(c) Uncle
(d) Grandfather
Ans. (c)

49. Find the next number in the series 1, 3 ,7 ,13 ,21 ,31
(a) 43
(b) 33
(c) 41
(d) 45
Ans. (a)

50. If in a certain code "RANGE" is coded as 12345 and "RANDOM" is coded as 123678.
Then the code for the word "MANGO" would be
(a) 82357
(b) 89343
(c) 84629
(d) 82347
Ans. (d)

51. If "PROMPT" is coded as QSPLOS ,then "PLAYER" should be
(a) QMBZFS
(b) QWMFDW
(c) QUREXM
(d) URESTI
Ans. (a)

The questions 52-53 are based on the following data
6 people A,B,C,D,E and F sit around a table for dinner.Since A does not like C, he doesn't sit either opposite or beside C.B and F always like to sit opposite each other.
52. If A is beside F then who is are the two neighbours of B?
(a) D and C
(b) E and C
(c) D and E
(d) Either (a) or (b)
Ans. (c)

53. If D is adjacent to F then who is adjacent to C?
(a) E and B
(b) D and A
(c) D and B
(d) either (a) or (c)
Ans.(d)

54. Complete the sequence A, E ,I ,M ,Q ,U , _ , _
(a) B, F
(b) Y, C
(c) G, I
(d) K, O
Ans.(b)

55. A person travels 6km towards west, then travels 5km towards north ,then finally travels 
6km towards west. Where is he with respect to his starting position?
(a) 13km east
(b) 13km northeast
(c) 13km northwest
(d) 13km west
Ans. (c)

56. If A speaks the truth 80% of the times, B speaks the truth 60% of the times.
What is the probability that they tell the truth at the same time
(a) 0.8
(b) 0.48
(c) 0.6
(d) 0.14
Ans.(b)

57. If the time quantum is too large, Round Robin scheduling degenerates to 
(a) Shortest Job First Scheduling
(b) Multilevel Queue Scheduling 
(c) FCFS 
(d) None of the above
Ans. (c)

58. Transponders are used for which of the following purposes
(a) Uplinking
(b) Downlinking
(c) Both (a) and (b)
(d) None of the above
Ans. (c)

59. The format specifier "-%d" is used for which purpose in C
(a) Left justifying a string
(b) Right justifying a string
(c) Removing a string from the console
(d) Used for the scope specification of a char[] variable
Ans. (a)

60. Virtual functions allow you to
(a) Create an array of type pointer-to-base-class that can hold pointers to derived classes
(b) Create functions that have no body
(c) Group objects of different classes so they can all be accessed by the same function code 
(d) Use the same function call to execute member functions to objects from different classes

62. A sorting algorithm which can prove to be a best time algorithm in one case 
and a worst time algorithm in worst case is
(a) Quick Sort
(b) Heap Sort
(c) Merge Sort
(d) Insert Sort
Ans. (a)

63. What details should never be found in the top level of a top-down design?
(a) Details
(b) Coding
(c) Decisions
(d) None of the above
Ans. (c)

64. In an absolute loading scheme, which loader function is accomplished by assembler
(a) Reallocation
(b) Allocation
(c) Linking
(d) Both (a) and (b)
Ans. (d)

65. Banker's algorithm for resource allocation deals with
(a) Deadlock prevention
(b) Deadlock avoidance
(c) Deadlock recovery
(d) None of these
Ans. (b)

66. Thrashing can be avoided if 
(a) The pages, belonging to the working set of the programs, are in main memory
(b) The speed of CPU is increased
(c) The speed of I/O processor are increased
(d) All of the above
Ans. (a)

67. Which of the following communications lines is best suited to interactive processing applications?
(a) Narrowband channels
(b) Simplex channels
(c) Full-duplex channels
(d) Mixedband channels
Ans. (b)

68. A feasibility document should contain all of the following except
(a) Project name
(b) Problem descriptions
(c) Feasible alternative
(d) Data flow diagrams
Ans. (d)

69. What is the main function of a data link content monitor?
(a) To detect problems in protocols
(b) To determine the type of transmission used in a data link
(c) To determine the type of switching used in a data link
(d) To determine the flow of data
Ans. (a)

70. Which of the following is a broadband communications channel?
(a) Coaxial cable
(b) Fiber optic cable
(c) Microwave circuits
(d) All of the above
Ans. (d)

71. Which of the following memories has the shortest access time?
(a) Cache memory
(b) Magnetic bubble memory
(c) Magnetic core memory
(d) RAM
Ans. (a)

72. A shift register can be used for 
(a) Parallel to serial conversion
(b) Serial to parallel conversion
(c) Digital delay line
(d) All the above
Ans. (d)

73. In which of the following page replacement policies, Balady's anomaly occurs?
(a) FIFO
(b) LRU
(c) LFU
(d) NRU
Ans. (a)

74. Subschema can be used to
(a) Create very different, personalised views of the same data
(b) Present information in different formats
(c) Hide sensitive information by omitting fields from the sub-schema's description
(d) All of the above
Ans. (d)


	


Q1. Two bodies changed from p1v1 to p2v2 state in two ways. The heat supplied is delta Q and work done is delta W 
Then what is constant in these two processes
(a) delta q 
(b) delta w 
(c) delta q + delta w 
(d) delta q - delta w
Ans. (d)

Q2. _______ have same atomic number and same mass number are
(a) Isotopes 
(b) Isotones 
(c) Isomers 
(d) Isobars
Ans. (c)

Q3. When a free electron is placed in a plane of electro magnetic then it moves in
(a) in the direction of the electric field
(b) in the direction of magnetic field
(c) of propagation of wave
(d) of the plane containing magnetic field and propagation direction.

Q4. Name the phenomena in which one proton is jumped from one isomer to another isomer to create two different elements

(a) functional isomerisim
(b) sterio merisim
(c) tauto merisim
(d) penta merisim

Ans. (c)

Q5. In the below compounds which one has 40% C ,6.7% H and 53.3 % O what is its empherical formula
(a) CHO 
(b) CH2
(c) C2H2O2
(d) C2H3O2
Ans: (b)

Q6. X rays are coming from X ray tube, the wavelength is _______ a certain wavelength/s

(a) below
(b) above
(c) inbetween
(d) out of

Ans. (c)

Q7. In a triode valve in order to increase the saturation current what has to be done
(a) increase plate voltage
(b) reduce distance between grid and plate
(c) increase cathode potential
(d) reduce grid potential

Ans. (d )

Q8. Seven different toys are distributed among 3 children how many different ways are possible?
(a) 7C3
(b) 7P3
(c) 3 7
(d) 7 3

Ans. (c)

Q9. A, B ans C are three speakers. They have to speak randomly along with another 5 speakers in a function.
A has to speak before B and B has to speak before C. What is the probability.

Ans. 1/6

Q10. If dy = (secx + ytanx)dx, Then the curve is

(a) x = ycosx 
(b) x = ysinx 
(c) x = ytanx 
(d) x = ysecx

Ans. (a)

Q11. Two series are 16,21,26.... and 17,21,25.....
What is the sum of first hundred common numbers
(a) 101100
(b) 110100
(c) 101110
(d) 110101 
Ans. (a)

Q12. There are two sections in a question paper each contain five questions. A students has to answer 6 questions.
Maximum no. of questions that can be answered from any section is 4. How many ways he can attempt the paper?

(a) 50
(b) 100
(c) 120
(d) 200 
Ans. (d)

Q13. a and b are two numbers selected randomly from 1,2,3.... 25 what is the probability of a and b are not equal.
(a) 1/25
(b) 24/25
(c) 13/25
(d) 2/25
Ans. (b)

Q14. The sum of the series 1 + 1(1+1/n) + 3(1+1/n)2 + ..... is equal to?
Ans. n2

Q15. Two circles of different radii intersects each other what is the maximum no of intersections
(a) 0
(b) 1
(c) 2
(d) 3
Ans. (c)

Q16. If x= sin-1(t), y = log(1-t2), find d2y/dx2 when t=1/2
(a) 1
(b) 0
(c) -8/3
(d) -2/3
Ans. (c)

Q17. If x approaches infinity , then (nex dx )/( ne2xdx) is ?
(a) 1
(b) 0
(c) -1
(d) 2
Ans. (a)

Q18. If f(x)=1-cos(1-cosx)/x4 is continuos at f(0) then what is x
(a) 1
(b) 0
(c) 1/4
(d) -1/4 
Ans. (c)

Q19. For the word SURITI, if you arrange the letters in dictionary order then what is its rank?
(a) 234
(b) 235
(c) 236
(d) 237
Ans. (c)

Q20. Period of sin ((2t + 3) / 6 pi)
(a) 6pi
(b) 6pi2
(c) 3pi 
Ans. (b)

Analytical Section

(1).A,B,C,D,E ,F are to be given adjacent rooms .The rooms don’t have complete walls between them rather sound, smoke can easily get through from one to another as there are gaps over a wall for free exchange of air. Miss C the head is allotted room no 5 as wished by her. Miss E needs a telephone for regular communication. Mr A & Mr B prefer to have adjacent rooms. Mr B,C,D are chain smokers. Miss C is allergic to cigarette smoke. 
a) The correct order of placement of rooms is …..four options were given.
b) Which slot is best for Mr A ?

(2) A doctor is supposed to see his patients at 9.00, 10,00 11.00, 1.00 PM , 2.00 PM , 3.00 PM. Rajiv, Mark, Mathew, Hassan, Priya, Reni are the patients . Hassan is scheduled to be seen in early afternoon. Priya should be seen earlier in the day than Reni. Other such conditions were given and you needed to find based on the given conditions that how many such combinations are possible.
(3)In a film festival Amitabh ,SRK, Kamal hassan ,Hrithik and Subhash Ghai , Maniratnam and Yash Chopra are available as judges. A team of three is to be sent. The team must contain atleast one actor and ione director. If SRK is selected Kamal Hassan should also be selected and vice versa, If Amitabh is selected Subhash Ghai cannot be selected. If Hrithik is selected Maniratnam is also selected and vice versa. What should be the team if Amitabh is selected ?Four options..
(4)H == A+B –R , F == H + I , T == F + A – C+ D , S == T/2, R == A*S; If F is to be derived what is also needed to be derived ?
a) S b) Q c) R d) T
(5)A team of at least three people is to be constituted for Mayor of a village for representation in a trade fair. One man, one woman, two boys, three girls are available. All three males cannot be selected, all four females cannot be selected. The team should contain at least one elder. What is the possible configuration that exactly sums up the formation of team :
a) three girls , b) two boys and the lady c) the man, woman , one boy, one girl d) two boys, woman and a girl.

(6) A series of drama is to be arranged on all the five days of the week. Monday to Friday. Drama contains fiction, romance, horror, comedy, tragedy. Horror cannot immediately precede romance , fiction should be scheduled earlier than romance , comedy should come after tragedy. If Horror is arranged on Friday then what should be the sequence of the dramas.(NB there may have been other conditions in this examples which I presently don’t remember )
(7)Three ice creams are to be made available every day by the college canteen. The IC available are strawberry, butterscotch,vanilla,choco, mango, choco-vanilla, pineapple. Each day should have ice creams which was also present day before. All the icecreams can be repeated only thrice during the entire week .IF choco, vanilla ,straw berry is given on Wednesday . What should be given on Thursday … four options. The question probably has some data missing. Check it out.
(8)A team is to be selected from the hockey players available from the circuit. The selection team would require atleast four people. There are three coaches A,B,C and three selectors D,E,F available. But there schedule do not match . A cannot come if D is selected. If C is selected F should also be selected. If E is selected B should not be selected. What is the team?

Technical Section
(1)Full form of URL ? 
a) universal resource locator b) uniform resource locator c)none of these d) unidentified random locator.
(2)CDROM access is a) RANDOM b) SEMI RANDOM 3) SEQUENTIAL 
(3)Total time spent by process...waiting in queue, execution etc
(4)response time..of process.
(5)What is the function of shell?
Interpreter b) command interpreter c) interface d) /?????????

(6)Which is a command interpreter ?
a) Shell b) Kernel c)??? d)None of these
(7)main()
{
printf("%c","abcdef"[4]);
}
what is the output ? a) abcdef b) d c) e d) ERROR.
1 
(8)main()
{ char dummy[20]; scanf("%[^a]",dummy);
printf("%s", dummy); }
what will it do?
a) ERROR b) take characters till ctrl z is pressed c) take upto 19 characters d) None of These

(9)How are objects in cpp passed ?
a) By value b) By reference
1 
If the ethernet card is removed .
a) IP address will change b) MAC address will change c) ????

(10)Operation of queue a) FIFO b) LIFO c) FILO d) None of these

(11)Static member of a class is a) class specific b) Object specific
c) Referenced by using the scope resolution operator d) a & c
(12) TCP is a) connection oriented b) connection less c) god only knows d) None of these 
(13) How is data send by IP layer?
a) as frames b) as packets c) as datagrams d) None of these
(14)If Link list is used to implement a stack what operations should be implemented :
a) insert front, delete front b) insert front , delete rear
c) insert rear, delete front d) None of these
(15)Link list is implemented as a structure (data, link *), How is pointer moved to the next node , cursor points to the present node.
a) cursor == cursor->link, b) cursor ++ c) ++ cursor d) None of these
(16)How is memory allocated by new ?
a) In a heap b) in a stack b) both a & b c) None of these.

Technical Interview: 
(1)Difference between structure and class.
(2)How to resolve ambiguity in multiple inheritance ?
(3)What is static and dynamic binding in C ?
(4)What is the difference between structure and array?
(5)Difference between calloc and malloc & realloc?
(6)What is static class and static member function?
(7)What is pointer to a pointer? How it is declared and how is it accessed?
(8)What is the difference between function overriding and overloading ?
1 
(9)What is the scope of a variable ?
(10)What is the difference between C & C++ ?
(11)Some questions on templates and exceptions. 
(12)What is stream ? How is it opened and describe file handling in CPP?
(13)Some questions related to Hard Disc :What is a hdd? How is a file accessed from the hdd? Why isn’t it used in place of a RAM ? What is RAID describe its basic structure ? . Where is the file information stored on the hard disk ? What is FAT ? How are files physically arranged on the hard disc?
(14)What is JVM, what is BYTE CODE ? What is multithreading ? How can it be implemented using C, write a program to describe it? What is the complexity of radix sort and how is it determined? A sequence of 15 numbers was to be sorted using heap sort. (He stopped me after the 3rd iteration)
(15)Some questions related to java-script, dynamic HTML, static HTML, ASP, .NET A query on natural join in SQL, what is the need of normalization ? What is data inconsistency and redundancy? What is the basic difference between file systems and database systems? What are triggers and assertions in SQL? How can you use C to connect with Oracle SQL database? (Using Oracle 8i PRO C/C++ precompiler )A complicated query on a trigger. (which I couldn’t ans).
(16)What is fork system call? How is a child process called and what happens to the parent ? In C what is spawnv () function, describe its execution. How can you use C for writing assembly language programs ?
(17)If you have done any project then try to bring the discussion towards it. I was interviewed on the project for about 20 min and I kept on explaining till he took up the HR form and signed it!!!! The interviewer was very impressed with my technical knowledge and gave his feedback to the HR interviewer as “Very Confident & sound technical skills”. (I had overlooked the remark when he was writing it !!!)

1.E=I*I*R what is the effect of E when I becomes I/2
ans:1/4E(E decreses by 4 times)
2.distance D=rt where r & t are +ve and r is constant, as t increases then D_________
ans:D increses irrespective of r & t
3.out of 55 eggs 5 are defective. what is % of defective eggs
ans:9/11%
4.salary is 's' per month,'x'% of salary is given as bonus, if 3 months
salary is s1,s2 & s3 then what is his salary.
ans:s1*x/100 + s2*x/100 + s3*x/100
5.consider expresion 'ab' . what happens when 'a' is divided by 'c' &
'b' is multiplied by 'c'.
ans:value remains same.
6.area of triangle=1/2*b*h base incresed by 4 times & height is devided 
by 2, the net effect of area.
ans:twice the the original area.
7.in base representation for a rupee 100 paise,then base 8 representation
what is rupee value .
ans:144
8.A>B,B>C,C=D,D>E,then which is greatest
a)A/B b) A/C c) A/E d)none
Ans: c
9.to travel 'm' miles the time is 'h' hours,then what is the time taken to travel M miles.
ans:M*h/m
10.a sum 's' is devided into 4 parts.second person gets Rs 10 more than
first.3rd person is Rs 10 more than second, 4th is 10 more than 3rd.
how much amount do 1st person get.
ans;(s-60)/4
11.fridge cost R Rs,cover value is 5,discount d% then its new cost
ans:R-R*d/100-5(1-d/100)
12.1/8 is devided by 's' , if 's' is incresed by 2 times, what is the
result.
ans:increses two times.
13. a c b d f e g i __ ans: h
14. x y z u v w r s t __ ans: o
15. a c f j o __ ans:u
16. 10099+99=10198
17. 31 - 29+2/33=__ ans:64/33
18. 2.904+0.0006=___ ans: 2.9046
19. 55/1000=___ ans:.005
20. 0.799*0.254= 0.202946
21. 200/7*5.04=144
22. 842.8 +602=1444.8
23. 5.72% of 418= 23.9096
24. 625% of 7.71=48.1875
25. 25% of 592=148.00
26. 665+22.9=687.9
27. 15% of 86.04=12.906

Q1. Two bodies changed from p1v1 to p2v2 state in two ways. The heat supplied is delta Q and work done is delta W
Then what is constant in these two processes

(a) delta q
(b) delta w
(c) delta q + delta w
(d) delta q - delta w

Ans. (d)


Q2. _______ have same atomic number and same mass number are

(a) Isotopes
(b) Isotones
(c) Isomers
(d) Isobars

Ans. (c)


Q3. When a free electron is placed in a plane of electro magnetic then it moves in

(a) in the direction of the electric field
(b) in the direction of magnetic field
(c) of propagation of wave
(d) of the plane containing magnetic field and propagation direction.


Q4. Name the phenomena in which one proton is jumped from one isomer to another isomer to create two different elements

(a) functional isomerisim
(b) sterio merisim
(c) tauto merisim
(d) penta merisim

Ans. (c)

Q5. In the below compounds which one has 40% C ,6.7% H and 53.3 % O what is its empherical formula

(a) CHO
(b) CH2
(c) C2H2O2
(d) C2H3O2

Ans: (b)


Q6. X rays are coming from X ray tube, the wavelength is _______ a certain wavelength/s

(a) below
(b) above
(c) inbetween
(d) out of

Ans. (c)


Q7. In a triode valve in order to increase the saturation current what has to be done

(a) increase plate voltage
(b) reduce distance between grid and plate
(c) increase cathode potential
(d) reduce grid potential

Ans. (d )


Q8. Seven different toys are distributed among 3 children how many different ways are possible?

(a) 7C3
(b) 7P3
(c) 3 7
(d) 7 3

Ans. (c)


Q9. A, B ans C are three speakers. They have to speak randomly along with another 5 speakers in a function.
A has to speak before B and B has to speak before C. What is the probability.

Ans. 1/6


Q10. If dy = (secx + ytanx)dx, Then the curve is

(a) x = ycosx
(b) x = ysinx
(c) x = ytanx
(d) x = ysecx

Ans. (a)

Q11. Two series are 16,21,26.... and 17,21,25.....
What is the sum of first hundred common numbers

(a) 101100
(b) 110100
(c) 101110
(d) 110101

Ans. (a)


Q12. There are two sections in a question paper each contain five questions. A students has to answer 6 questions.
Maximum no. of questions that can be answered from any section is 4. How many ways he can attempt the paper?

(a) 50
(b) 100
(c) 120
(d) 200

Ans. (d)

Q13. a and b are two numbers selected randomly from 1,2,3.... 25 what is the probability of a and b are not equal.

(a) 1/25
(b) 24/25
(c) 13/25
(d) 2/25

Ans. (b)


Q14. The sum of the series 1 + 1(1+1/n) + 3(1+1/n)2 + ..... is equal to?

Ans. n2

Q15. Two circles of different radii intersects each other what is the maximum no of intersections

(a) 0
(b) 1
(c) 2
(d) 3

Ans. (c)


Q16. If x= sin-1(t), y = log(1-t2), find d2y/dx2 when t=1/2

(a) 1
(b) 0
(c) -8/3
(d) -2/3

Ans. (c)


Q17. If x approaches infinity , then (òex dx )/( òe2xdx) is ?

(a) 1
(b) 0
(c) -1
(d) 2

Ans. (a)


Q18. If f(x)=1-cos(1-cosx)/x4 is continuos at f(0) then what is x

(a) 1
(b) 0
(c) 1/4
(d) -1/4

Ans. (c)


Q19. For the word SURITI, if you arrange the letters in dictionary order then what is its rank?

(a) 234
(b) 235
(c) 236
(d) 237

Ans. (c)


Q20. Period of sin ((2t + 3) / 6 pi)

(a) 6pi
(b) 6pi2
(c) 3pi

Ans. (b)


Q21 - Q23. Four questions given on the below data
X,Yand Z are senior engineers. A,B,C,D are junior engineers. Company wants to select 4 enginers. Two will be senior and two will be juniors. The company wants these engineers to work in the most productive way so they respect each person's likes/dislikes.

* Y is not friends with A
* Z is not friends with C
* B is not friends with A 

1. If B is selected then who will be the remaining 4 members ?
2. If C is selected, Z and ___ cannot be selected?
3. D is always selected if ___ is selected? 


Q24. A speaks truth 70% of the times, B speaks truth 80% of the times.
What is the probability that both are contradicting each other is ?


Q25. ò((2x-3)/((x2 +x+1)2 )dx is ?


Q26. Ram starts from A walking 2 km North and turns right and walks 4 km and turns right again and walks 4 km and turns right again and walks 4 km and meets Radha at Bwalking in the opposite direction to Ram .
a) Which direction does Ram walk after the first turn?
b) Distance between A and B


Q27. If the equation x2 - 3x + a = 0 has the roots (0,1) then value of a is ?


Q28. A and B's temperature are 10°c and 20°c having same surface , then their ratio of rate of emmisions is ?


Q29. An atomic particle exists and has a particlular decay rate . It is in a train . When the train moves, a person observes for whether the decay rate

(a) increases
(b) decreases
(c) depend on the directions of movement of train


Q30. Which of the following exchanges positive ions

(a).cl-
(b) nh2-
(c) ch2

Ans. (b)


Q31. After execution of CMP, a instruction in Intel 8085 microprocessor

(a) ZF is set and CY is reset.
(b) ZF is set CY is unchanged
(c) ZF is reset, CY is set
(d) ZF is reset , CY is unchanged .

Ans. ZF is set and CY is reset


Q32. The best tool for editing a graphic image is ?


Q33. Network scheme defines
a.)one to one
b.) many to many
c.) one to ,many ?


Q34. A person wants to measures the length of a rod.First he measures with standing ideally then he maeasures by 
moving parrel to the rod

(a)the length will decrease in second case
(b)length will be same
(c) length will increse in the second case.


Q35. One U-230 nucleus is placed in a train moving by velocity emiting alpha rays .When the train is at rest the
distance between nucleus and alpha particle is x . One passenger is observing the particle . When the train is moving
what is the distance between particle and nucleus ?

(a) x
(b) x + vt
(c) x - vt

Q36. What is the resulting solution when benzene and toluene are mixed ?


Q37. If the word FADENCOMT equals 345687921 then

1. What is FEAT
2. Find representation of 2998 


Q38. Given 10 alphabets out of which 5 are to be chosen. How many words can be made with atleast one repetition.


Q39. Arrange by acidic values : phenol, nitrotolouene and o-cresol?


Q40. Find sum of 3 + 5/(1+22) + 7/(1 + 22 + 32) + ......

Ans. 3n/(1 + n)


The following are few sample questions that maybe asked in the software paper.We haven't been able to give the values in certain problems ; only the type of questions have been mentioned.

Q What sorting algos have their best and worst case times equal ?
Ans. O(nlogn) for mergesort and heap sort

Q. What page replacement algo . has minimumn number of page faults ?
Ans. Optimality algorithm

Q. What is the use of virtual base class in c++
Ans. Multiple lines between derived classes.

Q. Find the eccentricity of a given node in a directed graph

Q. Convert the infix to postfix for A-(B+C)*(D/E)
Ans. ABC+DE/*-

Q. What is swapping

Q. Assignment operator targets to
Ans. l-value

Q. A byte addressable computer has memory capacity of 2 power m Kbytes and can perform 2 power n operations
an instruction involving three operands and one operator needs maximum of ---bits
Ans. 3m + n

Q. In round robin scheduling, if time quatum is too large then it degenerates to
Ans. FCFS

Q. What is network schema?

Q. Packet Burst is ______

Q. Picard's method uses _______?
Ans. Successive Differentiation.




The following are few sample questions that maybe asked in the hardware paper.We haven't been able to give the values in certain problems ; only the type of questions have been mentioned.

Q. Concentration and restivity is given and conductivity is asked for ?

Q. R , resistance and C,capacitance is given ,find the frequency and Q factor of the crystal ?

Q. Critical fequency and angle theta is given ;.the max useable frequency is to becalculated

Q.Questions on parabolic reflector anttena's and half wave dipole antenna's design

Q. Ramp signal is generated from integrator .Whether it is a low or high pass filter .?

Q. Calculate FM bandwidth given max modulation fequency FM , max freq deviation , df and 8 pairs alllowable 
side band component ?

Q21 - Q23. Four questions given on the below data
X,Yand Z are senior engineers. A,B,C,D are junior engineers. Company wants to select 4 enginers. Two will be senior and two will be juniors. The company wants these engineers to work in the most productive way so they respect each person's likes/dislikes. 
• Y is not friends with A
• Z is not friends with C
• B is not friends with A
1 If B is selected then who will be the remaining 4 members ?
2 If C is selected, Z and ___ cannot be selected?
3 D is always selected if ___ is selected?

Q24. A speaks truth 70% of the times, B speaks truth 80% of the times.
What is the probability that both are contradicting each other is ?

Q25. n((2x-3)/((x2 +x+1)2 )dx is ?

Q26. Ram starts from A walking 2 km North and turns right and walks 4 km and turns right again and walks 4 km and turns right again and walks 4 km and meets Radha at Bwalking in the opposite direction to Ram . 
a) Which direction does Ram walk after the first turn?
b) Distance between A and B

Q27. If the equation x2 - 3x + a = 0 has the roots (0,1) then value of a is ?

Q28. A and B's temperature are 10°c and 20°c having same surface , then their ratio of rate of emmisions is ?

Q29. An atomic particle exists and has a particlular decay rate . It is in a train . When the train moves, a person observes for whether the decay rate
(a) increases
(b) decreases
(c) depend on the directions of movement of train 


Q30. Which of the following exchanges positive ions
(a).cl-
(b) nh2-
(c) ch2
Ans. (b)

Q31. After execution of CMP, a instruction in Intel 8085 microprocessor
(a) ZF is set and CY is reset.
(b) ZF is set CY is unchanged
(c) ZF is reset, CY is set
(d) ZF is reset , CY is unchanged .

Ans. ZF is set and CY is reset


Q32. The best tool for editing a graphic image is ?

Q33. Network scheme defines 
a.)one to one
b.) many to many 
c.) one to ,many ?


Q34. A person wants to measures the length of a rod.First he measures with standing ideally then he maeasures by 
moving parrel to the rod
(a)the length will decrease in second case
(b)length will be same
(c) length will increse in the second case.

Q35. One U-230 nucleus is placed in a train moving by velocity emiting alpha rays .When the train is at rest the 
distance between nucleus and alpha particle is x . One passenger is observing the particle . When the train is moving
what is the distance between particle and nucleus ?
(a) x
(b) x + vt
(c) x - vt

Q36. What is the resulting solution when benzene and toluene are mixed ?

Q37. If the word FADENCOMT equals 345687921 then 
1 What is FEAT
2 Find representation of 2998

Q38. Given 10 alphabets out of which 5 are to be chosen. How many words can be made with atleast one repetition.

Q39. Arrange by acidic values : phenol, nitrotolouene and o-cresol?

Q40. Find sum of 3 + 5/(1+22) + 7/(1 + 22 + 32) + ......
Ans. 3n/(1 + n)

The following are few sample questions that maybe asked in the software paper.We haven't been able to give the values in certain problems ; only the type of questions have been mentioned.
Q What sorting algos have their best and worst case times equal ?
Ans. O(nlogn) for mergesort and heap sort
Q. What page replacement algo . has minimumn number of page faults ?
Ans. Optimality algorithm
Q. What is the use of virtual base class in c++
Ans. Multiple lines between derived classes.
Q. Find the eccentricity of a given node in a directed graph
Q. Convert the infix to postfix for A-(B+C)*(D/E)
Ans. ABC+DE/*-
Q. What is swapping
Q. Assignment operator targets to 
Ans. l-value
Q. A byte addressable computer has memory capacity of 2 power m Kbytes and can perform 2 power n operations
an instruction involving three operands and one operator needs maximum of ---bits
Ans. 3m + n
Q. In round robin scheduling, if time quatum is too large then it degenerates to
Ans. FCFS
Q. What is network schema?
Q. Packet Burst is ______
Q. Picard's method uses _______?
Ans. Successive Differentiation.




The following are few sample questions that maybe asked in the hardware paper.We haven't been able to give the values in certain problems ; only the type of questions have been mentioned.

Q. Concentration and restivity is given and conductivity is asked for ?

Q. R , resistance and C,capacitance is given ,find the frequency and Q factor of the crystal ?

Q. Critical fequency and angle theta is given ;.the max useable frequency is to becalculated

Q.Questions on parabolic reflector anttena's and half wave dipole antenna's design 

Q. Ramp signal is generated from integrator .Whether it is a low or high pass filter .?

Q. Calculate FM bandwidth given max modulation fequency FM , max freq deviation , df and 8 pairs alllowable 
side band component ?

	Question : 1.When a bicycle is in motion,the force of friction exerted by the ground on the two wheels is such that it acts

(a) In the backward direction on the front wheel and in the forward direction on the rear wheel.
(b) In the forward direction on the front wheel and in the backward direction on the rear wheel.
(c) In the backward direction on both the front and rear wheels.
(d) In the backward direction on both the front and rear wheels.
	Posted By : Gangi Reddy

	Answer : Ans. (d)

	Question : 2. A certain radioactive element A, has a half life = t seconds.
In (t/2) seconds the fraction of the initial quantity of the element so far decayed is nearly
(a) 29%
(b) 15%
(c) 10%
(d) 45%
	Posted By : Gangi Reddy

	Answer : Ans. (a)

	Question : 3. Which of the following plots would be a straight line ?

(a) Logarithm of decay rate against logarithm of time
(b) Logarithm of decay rate against logarithm of number of decaying nuclei
(c) Decay rate against time
(d) Number of decaying nuclei against time
	Posted By : Gangi Reddy

	Answer : Ans. (b)

	Question : 4. A radioactive element x has an atomic number of 100.
It decays directly into an element y which decays directly into element z.
In both processes a charged particle is emitted.
Which of the following statements would be true?

(a) y has an atomic number of 102
(b) y has an atomic number of 101
(c) z has an atomic number of 100
(d) z has an atomic number of 101
	Posted By : Gangi Reddy

	Answer : Ans. (b)

	Question : 5. If the sum of the roots of the equation ax2 + bx + c=0 is equal to the sum of the squares of their reciprocals
then a/c, b/a, c/b are in

(a) AP
(b) GP
(c) HP
(d) None of these
	Posted By : Gangi Reddy

	Answer : Ans. (c)

	Question : 6. A man speaks the truth 3 out of 4 times.
He throws a die and reports it to be a 6.
What is the probability of it being a 6?

(a) 3/8
(b) 5/8
(c) 3/4
(d) None of the above
	Posted By : Gangi Reddy

	Answer : Ans. (a)

	Question : 7. If cos2A + cos2B + cos2C = 1 then ABC is a

(a) Right angle triangle
(b) Equilateral triangle
(c) All the angles are acute
(d) None of these
	Posted By : Gangi Reddy

	Answer : Ans. (a)

	Question : 8. Image of point (3,8) in the line x + 3y = 7 is

(a) (-1,-4)
(b) (-1,4)
(c) (2,-4)
(d) (-2,-4)
	Posted By : Gangi Reddy

	Answer : Ans. (a)

	Question : 9. The mass number of a nucleus is

(a) Always less than its atomic number
(b) Always more than its atomic number
(c) Sometimes more than and sometimes equal to its atomic number
(d) None of the above
	Posted By : Gangi Reddy

	Answer : Ans. (c)

	Question : 10. The maximum KE of the photoelectron emitted from a surface is dependent on

(a) The intensity of incident radiation
(b) The potential of the collector electrode
(c) The frequency of incident radiation
(d) The angle of incidence of radiation of the surface
	Posted By : Gangi Reddy

	Answer : Ans. (c)


1. An electron moving in an electromagnetic field moves in a 

(a) In a straight path 
(b) Along the same plane in the direction of its propagation
(c) Opposite to the original direction of propagation
(d) In a sine wave

Ans. (b)


2. The total work done on the particle is equal to the change in its kinetic energy

(a) Always
(b) Only if the forces acting on the body are conservative.
(c) Only if the forces acting on the body are gravitational.
(d) Only if the forces acting on the body are elastic.

Ans. (a)


3. The following unit measure energy:

(a) Kilo-watt hour.
(b) Volt*volt/sec*ohm.
(c) Pascal*foot*foot
(d) (Coulomb*coulomb)*farad

Ans. (a)


4. Astronauts in stable orbits around the earth are in a state of weightlessness because

(a) There is no gravitational force acting on them.
(b) The satellite and the air inside it have an acceleration equal to that of gravitational acceleration there.
(c) The gravitational force of the earth and the sun balance giving null resultant.
(d) There is no atmosphere at the height at which the satellites move.

Ans. (b)


5. An organ pipe, open at both ends and another organ pipe closed at one end, 
will resonate with each other, if their lengths are in the ratio of

(a) 1:1
(b) 1:4
(c) 2:1
(d) 1:2

Ans. (c)


6. During an isothermal expansion of an ideal gas

(a) Its internal energy increases.
(b) Its internal energy decreases.
(c) Its internal energy does not change.
(d) The work done by the gas is not equal to the quantity of heat absorbed by it.

Ans. (c)


7. A parallel plate capaciator is charged and the charging battery is then disconnected.
If the plates of the capacitor are moved further apart by means of insulating handles

(a) The charge on the capacitor increases.
(b) The voltage across the plates increases.
(c) The capacitance increases.
(d) The electrostatic energy stored in the capacitor decreases.

Ans. (b)


8. Two equal negative charges q are fixed at point (0,a) and (0,-a) on the y-axis.
A positive charge Q is released from rest at the point (2a,0) on the x-axis. The charge Q will

(a) Execute simple harmonic motion about the origin
(b) Move to the origin and remain at rest
(c) Move to infinity
(d) Execute oscillatory but not simple harmonic motion

Ans. (d)


9. A square conducting loop of length Lon a side carries a current I.
The magnetic field at the centre of the loop is

(a) Independant of L
(b) Proportional to L*L
(c) Inversely proportoinal to L
(d) Directly proportional to L

Ans. (c)


10. The focal length of a convex lens when placed in air and then in water will

(a) Increase in water with respect to air
(b) Increase in air with respect to water
(c) Decrease in water with respect to. air
(d) Remain the same

Ans. (a)


11. The maximum kinectic energy of the photoelectron emitted from the surface is dependant on

(a) The intensity of incident radiation
(b) The potential of the collector electrode
(c) The frequency of incident radiation
(d) The angle of incidence of radiation of the surface

Ans. (c)


12. An electron orbiting in a circular orbit around the nucleus of the atom 

(a) Has a magnetic dipole moment
(b) Exerts an electric force on the nucleus equal to that on it by the nucleus
(c) Does not produce a magnetic induction at the nucleus
(d) All of the above

Ans. (d)


13. The X-rays beam coming from an X-ray tube will be:

(a) Monochromatic
(b) Having all wavelengths smaller than a certain minimum wavelength
(c) Having all wavelengths larger than a certain minimum wavelength
(d) Having all wavelengths lying between a minimum and a maximum wavelength

Ans. (c)

14. The mass number of a nucleus is
(a) Always less than its atomic number
(b) Always more than its atomic number
(c) Always equal to its atomic number
(d) Sometimes more and sometimes equal to its atomic number

Ans. (d)

15. Two successive elements belonging to the first transition series have the same number 
of electrons partially filling orbitals. They are

(a) V and Cr
(b) Ti and V
(c) Mn and Cr
(d) Fe and Co

Ans. (c)


16. When n+l has the same value for two or more orbitals,the new electron enters the orbital where

(a) n is maximum
(b) n is minimum
(c) l is maximum
(d) l is minimum

Ans. (b)

17. A balloon filled with ethylene is pricked with a sharp pointed needle and quickly placed in a tank 
full of hydrogen at the same pressure. After a while the balloon would have

(a) Shrunk
(b) Enlarged
(c) Completely collapsed
(d) Remain unchanged in size

Ans. (b)

18. Which of the following statements is not true?
(a) The ratio of the mean speed to the rms speed is independant of temperature
(b) Tthe square of the mean speed of the molecules is equal to the mean squared speed at a certain temperature
(c) Mean kinetic energy of the gas molecules at any given temperature is independant of the mean speed
(d) None

Ans. (b)
19. Which of the following statements represent Raoult's Law

(a) Mole fraction of solvent = ratio of vapour pressure of the solution to vapour pressure of the solvent
(b) Mole fraction of solute = ratio of vapour pressure of the solution to vapour pressure of the solvent
(c) Mole fraction of solute = lowering of vapour pressure of the solution
(d) Mole fraction of solvent = lowering of vapour pressure of the solution

Ans. (a)
20. Elements having the same atomic number and the same atomic mass are known as 
(a) Isotopes
(b) Isotones
(c) Isomers
(d) None of the above
21.Which is the most acidic amongst

(a) Nitrophenol
(b) O-toulene
(c) Phenol
(d) Cresol

22. Pure water does not conduct electricity because it is
(a) Almost not ionised
(b) Low boiling
(c) Neutral
(d) Readily decomposed
Ans. (a)
23. In a salt bridge, KCl is used because
(a) It is an electrolyte
(b) The transference number of K+ and Cl¯ is nearly the same
(c) It is a good conductor of electricity
(d) All of the above

Ans. (d)

24. A depolarizer used in the dry cell batteries is
(a) KCl
(b) MnO2
(c) KOH
(d) None of the above

Ans. (b)

25. The hydrolysis of alkyl halides by aqueous NaOH is best termed as
(a) Electrophylic substitution reaction
(b) Electrophylic addition reaction
(c) Nnucleophylic addition reaction
(d) Nucleophylic substitution reaction

Ans. (d)

	1) abcD+abcd+aBCd+aBCD

then the simplified function is

( Capital letters are copliments of corresponding letters A=compliment of a)

[a] a [b] ab [c] abc [d] a(bc)* [e] mone

(bc)*=compliment of bc

Ans: e





2) A 12 address lines maps to the memory of

[a] 1k bytes [b] 0.5k bytes [c] 2k bytes [d] none

Ans: b





3) In a processor these are 120 instructions . Bits needed to impliment

this instructions

[a] 6 [b] 7 [c] 10 [d] none

Ans: b





4) In 8085 microprocessor READY signal does.which of the following

is incorrect statements

[a]It is input to the microprocessor

[b] It sequences the instructions

Ans : b





5) Return address will be returned by function to

[a] Pushes to the stack by call

Ans : a





6)

n=7623

{

temp=n/10;

result=temp*10+ result;

n=n/10

}

Ans : 3267





7) If A>B then

F=F(G);

else B>C then

F=G(G);

in this , for 75% times A>B and 25% times B>C then,is 10000 instructions

are there ,then the ratio of F to G

[a] 7500:2500 [b] 7500:625 [c] 7500:625 if a=b=c else 7500:2500





8) In a compiler there is 36 bit for a word and to store a character 8bits are

needed. IN this to store a character two words are appended .Then for storing a K characters string, How many words are needed.

[a] 2k/9 [b] (2k+8)/9 [c] (k+8)/9 [d] 2*(k+8)/9 [e] none

Ans: a





9) C program code

int zap(int n)

{

if(n<=1)then zap=1;

else zap=zap(n-3)+zap(n-1);

}

then the call zap(6) gives the values of zap

[a] 8 [b] 9 [c] 6 [d] 12 [e] 15

Ans: b





10) Virtual memory size depends on

[a] address lines [b] data bus

[c] disc space [d] a & c [e] none

Ans : a

2) Critical section is

[a]

[b] statements which are accessing shared resourses

Ans : b



11) load a

mul a

store t1

load b

mul b

store t2

mul t2

add t1

then the content in accumulator is

Ans : a**2+b**4

12. Add 79H and 86H and tell the contents of flags

13. Scr is used for _____ ( ac, dc , both )

14. Push pull amplifier is used to remove which harmonics ( even , odd , both )

15. PAM is demodulated using ___ ( low pass filter , high pass filter )

16. 16k memory is needed. How many chips with 12 address buses and 4 data
buses are needed.

17. AM wave is detected using _________ detector

18. Which flip flop is used for shift registers

19. Program counter does what __ (stores a memory address, address of the present instruction)

20. In a bistable multivibrator communication capacitor is used for ______ ( speed up response , ac coupling)

21. Totem pole is what?

22. Time costant for an integrator and differentiator should be ( small , high etc.)

23.TV waves are __ ( sky waves , space waves etc.)

24.Which configuration has highest i/p imp. ( ce , cb , cc )

25. Parabolic antenna with 2degree angle. What is its directivity.

26. Given 10 mhz pe modulation and we got a 100 mhz band. How many channels can be there.

27. If o/p power is doubled by how much does the sound increase ( 1db,2db,3db )

	

	

	1. If the letters of the word "rachit" are arranged in all possible ways and these words are written 
out as in a dictionary, what is the rank of the word "rachit".
(a) 485
(b) 480
(c) 478
(d) 481
Ans. (d)

2. Ravi's salary was reduced by 25%.Percentage increase to be effected to bring the salary 
to the original level is
(a) 20%
(b) 25%
(c) 33 1/3%
(d) 30%
Ans. (c)

3. A and B can finish a piece of work in 20 days .B and C in 30 days and C and A in 40 days.
In how many days will A alone finish the job
(a) 48
(b) 34 2/7
(c) 44
(d) 45
Ans. (a)

4. How long will a train 100m long travelling at 72kmph take to overtake another train 
200m long travelling at 54kmph
(a) 70sec
(b) 1min
(c) 1 min 15 sec
(d) 55 sec
Ans. (b)

5. What is the product of the irrational roots of the equation (2x-1)(2x-3)(2x-5)(2x-7)=9?
(a) 3/2
(b) 4
(c) 3
(d) 3/4
Ans. (a)

6.All toffees are chocolates 
Some toffees are not good for health 
(a) Some chocolates are not good for health
(b) Some toffees are good for health
(c) No toffees are good for health
(d) Both (a) and (b)
Ans. (a)

The questions are based on the following pattern.The problems below contain a question and two statements giving certain data. You have to decide whether the data given in the statements are sufficient for answering the questions.The correct answer is 
(A) If statement (I) alone is sufficient but statement (II) alone is not sufficient.
(B) If statement(II) alone is sufficient but statement(I) alone is not sufficient.
(C) If both statements together are sufficient but neither of statements alone is sufficient.
(D) If both together are not sufficient.
(E) If statements (I) and (II) are not sufficient

7. What is the volume of a cubical box in cubic centimetres?
(I) One face of the box has an area of 49 sq.cms.
(II) The longest diagonal of the box is 20 cms.
Ans. D

8. Is z positive?
(I) y+z is positive
(II) y-z is positive
Ans. E

9. Is x>y ? x, y are real numbers?
(I) 8x = 6y
(II) x = y + 4
Ans. B

10. If a ground is rectangular, what is its width?
(I) The ratio of its length to its breadth is 7:2
(II) Perimeter of the playground is 396 mts.
Ans. C

11. If the present age of my father is 39 yrs and my present age is x yrs, what is x?
(I) Next year my mother will be four times as old as i would be.
(II) My brother is 2 years older than I and my father is 4 years older than my mother.
Ans. C

12. How many brothers and sisters are there in the family of seven children?
(I) Each boy in the family has as many sisters as brothers
(II) Each of the girl in the family has twice as many brothers as sisters
Ans. D

13. x is not equal to 0, is x + y = 0?
(I) x is the reciprocal of y
(II) x is not equal to 1
Ans. A

Following questions are based on letter's analogy.First pair of letters should have the same relationship as the second pair of letters or vice versa.
14. ? : BGLQ : : YDIN : VAFK
(a) EKNS
(b) DKMT
(c) DLMS
(d) EJOT
Ans. (d)

15. NLO : RPS : : ? : ZXA
(a) VUW
(b) VTR
(c) VTW
(d) TRP
Ans. (c)

16. If "segment" is coded as rffndou, then "ritual" is coded as
(a) shutbm
(b) qjutbk
(c) qhutbk
(d) qhubtk
Ans. (c)

17. If "football" is "cricket" ,"cricket" is "basketball" ,"basketball" is "volleyball","volleyball" is "khokho" and "khokho" is cricket, which is not a ball game?
(a) cricket
(b) football
(c) khokho
(d) basketball
Ans. (a)

18. Which of the following is a recursive set of production
(a) S --> a|A, A --> S
(b) S --> a|A, A --> b
(c) S -->aA, A-->S
(d) None of these
Ans. (c)


	

	Verbal 
1.Mellifluous : cacaphony
Ans : fragrant : noisomeness 
2.Evasive * Frank 
3. Deteriorate : Improve 

4.Sentence completion exercise B (Gre Barrons) -Question Number 2 - 
Ans:Elegaic 
5.Sentence completion exercise B (Gre Barrons) -Question Number 6 - 
Ans : nonchalance ... diligently 
6.Sentence completion exercise B (Gre Barrons) -Question Number 7 - 
Ans : querulousness ..... affably 

Aptitude

1.John weighe twice as much as Marcia. Marcia's weight is 60% of Bob's weight.Dave weighs 
50% of Lee's weighs 190% of John's wight. Which of these 5 persons wighs the least?
A) Bob B) Dave C) John D) Lee E) Marcia
Ans) E 

2.A trip takes 6 hours to compleate. After traveling 1/4 of an hour,1 3/8hours, and 2 1/3 
hours, how much time does need to compleate the trip?
a) 2 1/12hours
b) 2hours, 2 1/2 minutes
c) 2 hours,5minutes
d) 2 1/8 hours
ANS) B 

3. It takes 30 days to fill a laboratory dish with bacteria. If the size ofthe bactiria doubles each 
day, how long did it take for the bactiria to fill one half of dish?
Ans) D ( 29days) 
1 
4.A car wash can wash 8 cars in 18 minutes, At this rate, how many cars can the car wash 
wash in 3 hours? ANS) C ( 80) 
5.If the ratio of the areas of 2 queres is 2:1, then the ratio of the perimeters of the squares is 
ANS) C ( sqrt(2):1 ) 
6.There are three types of tickets available for a concert: orchestra, which cost $12 each; balcony, which cost$9 each: and box, which cost $25 each. There were P orchestra tickets , B balcony tickets, and R box tickets sold for the concert.Which of the following expressions gives the percentage of ticket proceeds due to the sale of chestra tickets?
Ans) B 100*12P/(12P+9B+25R) 

7.In a survey of town of Wasco, it was found that 65% of the people surveyed watched the 
news on television, 40% read newspaper, and 25% read a newspaper and watched the news 
on television.What percent of the people surveyed neither watched the news on the television 
nor read a newspaper?. Ans: (E)20% 

8.City B is 5 miles east of City A. City C is 10 miles southeast of City B. Which of the 
following is the closest to the distancefrom City A to City C? Ans: (D) 14 miles 
9.If the area of a square increases by 69%, then the side of the square increased by 
30% 
10.There are 30 socks in a drawer. 60% of the socks are red and the rest are blue. What is the minimum number of socks that must be taken from the drawer without looking in order to be certain that atleast two blue socks have been chosen?
Ans: (E) 20

Reasoning

1.problem on series non verbel series around -12 questions 
2.problem on direction test 
3.problem on logical venn diagrams - 10 questions refer test of reasonong Agrawal page 239 
4.blood relations problem ans) Nephew 


try questions non verbel reasoning 97edition RSAgrawal Questions: 1,2,4,6,16,14,22,23,24,21 

pick oddex 2,4,6,5,8,10 ans 8
Data intepretation years Vs Banks six questions check in RS Agrawal

Technical
1.
OP of the program
main()
{
char a='\123'
printf ("%c \n",a);
return 0;
}
1)ascii value of 121
2)1
3) 3
4) none of these 

2. 2 questions were based on GSM 
(i) which .... is used to by GSM to interact with PSTN
(ii) dont remember 

3.Which key in any windows screen is used to invoke file menu Ans :alt+f 

4.Which is layer 3 connection less protocol
a) IP
b) ARP
c) TCP
d) UDP 

5.Which is the latest OS
a) XP
b) NT
c) 98
d) 2000 

6.stacks and queues are
a) primitive Data strucs 
b) Non - primitive data strucs
c) non linear ....
d) data types 

7.For mobile comm
a) downlink freq > uplink freq
b) uplink > downlink
c) none
d) equal 
Some question based on prototype model (s/w engg) 
1.Which is linear model
a) water fall model
b) classical
c) chaos model 
2.In queue where do u insert a data
a) front
b) rear
c) middle 


	


Wipro infotech:

1)33 1/3 of 101 + 296 is
(ans 1200) check

2)0.625= ? (ans 27/40)

3)One ship goes along the stream direction 28 km and in opposite
direction 13 km in 5 hrs for each direction.What is the velocity
of stream?
(ans 1.5 kmph)

4)Cubic root of 3375=?
(ans 15)

5)2020201-565656=?
(ans 1454545)

6)CHAIRS PROBLEM
5 chairs=9 tables,12 tables = 7 stools likethat- - -
(ans is 80Rs)

7)One clock ringes 7 O'clock in 7 sec.In how many seconds it will
ring 10 O'clock.
(ans 10.5 sec)

8)One watch is showing 30 past 3 .What is the angle between minutes &
hours hand?
(ans 75 degrees)

9)The average of 4 consecutive even numbers is 27. What is the largest
number?
(ans 30)

10) 25 stations ,24 stations are inbetween- - - - -
how many tickets should be required.
(ans 25*24=600)PUZZLES TO PUZZLE YOU "S.DEVI"PROB 24

11)One ball was dropped from 8ft height and every time it goes half
of the height. How much distance it will travell before coming to
rest.
(ans 24 approximately)

12)Two trains are travelline at equilateral .Train A is travelling
in the direction of earths spin.Other train B is travelling in
opposite direction of earths spin.Which trains wheels will wear
first?and why?
(ans TRAIN B .Because of less centrifugal force.)

13) 5,5,,13,13,21,21 Ans: 29

14)0,7,26,63,124, Ans: 215 i.e.n**3-1 rule following

15)1,3,5,7, Ans: 9 '1' is not a prime number

16)If a person walks at 4/5th of his usual spee he reaches 40min late. If
he walks athis usual speed how much time does he travels.

Ans:160min or 2hr 40min

17) Two trains A&B start at opposite points 120km at 60kmph. A fly
starting along with train A at 120kmph reaches B then returns back to
touch and continue. By the time two trains meet howmuch distance the fly
would have travelled?

Ans : By 1hour both trains meet, so the distance travel by fly in 1hr is
120km.

18)In a class 80% have passed english,70% passed Hindi 10% didnot passed
either. If 144 students passed both. What is the total strength of the class.

Ans: 240

.19)Find the least number when divided by 7 gives the reminder 6, when
divided by 6 gives reminder 5, when divided by 5 gives reminder 4 and so
on....
Ans: 419

20) If a man stands in front of sun what is the first letter of the
direction which is left to him:

Ans: North(N)

21)A square is to circle what is cube to

Ans: sphere

22) Synonyms

i) Joy = gay

ii) Inert = Inactive
23)One wordswill begiven find oddman out: Ans:sickle like that
a) sow b) cut c) d) sickel

24) If I bought a cycle before 2days of my birthday and I broke it after
3 days of my birthday the day I broke is Mar2, 1956? Answer following
logical questions?
i) when is his birthday?
Ans: April,28 (due to leap year i.e.1956) but do not keep answer
blindly we just think before choosing answer Iam just giving ideaof question
25)
Monday
Aug25, 96

Mr A,
You forgott your umbrella during the party on last friday.I
expected you to collect it on your visit on wednesday,I plan to leave on
this Friday.

Questions: when A missed umbrella?
When A is supposed to collect it?

When K leaves?

Hint: These dates i.e. Aug 25 is not exactly given in test, but Iam
giving feel of that question.If you solve this question you can solve it
easily in exam.

26)What is my father's sons son to my son?

Ans: cousin brother

27)On cutting which solid parabola would be generated Ans: cone

28) Eulers formula: Ans: F+V-E =2;

F= faces;V= vertices;E = number of edges

29) Newton Rapson method is to find Ans:to find the root of f(x) = 0;

30) How many tangents can be dran within three circles if they donot lie
within each other
Ans : 12 But this answer is not there I kept 8 as answer


31) In language the fortran which is true. A) fortran uses call by value

32) When a program is compiled what it produces

Ans:source code to object code

33) In the following venn diagram shaded region is represented by some
question like that I can't draw figure here thats why Iam sendinganswer only

Ans: (B-A)' i.e. (B-A) whole dash


34) xy-x+2y = 6 equation is shifted to form equation xy=c what is c?

Ans : 4

35)When x is real what is the least value of (x**2-6*x+5)/(x**2+2*x+1)

Ans:-1/3

36)When an object like cube or sphere is seen along x,y,z,axes we get the
same.Apart from these suggest another which has similar characteristics?

Ans:you have to draw the figure Ans: is triangular prism you draw
triangular prism.

37) When an object is seen from front side we can see two concentric
squares and topview also without any hidden lines. Draw the side view.

Ans: I know ans but I canot draw.

38) Convert 251 decimal to base 8(i.e. octal)?

Ans: similar question but for this question answer is 373

39) How much information can be solved in 1 byte of a IBM pc compatible?

Ans: 256

40)What is the language used for Artificial Intelligence Ans: lisp

41) Swap two variables without using temporary variable

Ans: a= a+b;
b= a-b;
a= a-b:

42)Which is not the operating system ?Ans: BIOS

43) What is the optimum number of operations for 2*(x**3)+3*(x**2)+5*x+5?

Ans: three multiplications, three additions.

44) A=> Bmeans
Ans: if A is true B has to be true

45)If A is not invertible and BA = I is not possible

Ans: Determinant is Zero.

46) What is FREE BoDY Diagram

Ans: Used for analysing FEM.

Wipro:

	26. The hydrocarbon that gives a red precipitate with ammoniacal cuprous chloride is (where 'º' means a triple bond)

(a) CH3-CH2-CH2-CH3
(b) CH3-CºC-CH3
(c) CH2=CH-CH=CH2
(d) CH3-CH2-CºCH 

Ans. (d)

27. Which of the following reagents is neither neutral nor basic

(a) Lucas' reagent
(b) Tollen's reagent
(c) Bayer's reagent
(d) Fehling's solution

Ans. (a)


28. The substance which is most easily nitrated

(a) Toluene
(b) Bbenzene
(c) Nitrobenzene
(d) Chlorobenzene

Ans. (a)

29. Carbylamine reaction is a test for

(a) Primary amine
(b) Secondary amine
(c) Tertiary amine
(d) Quarternary ammonium salt

Ans. (a)

30. Which of the following oxides cannot be reduced by carbon to obtain metal

(a) ZnO
(b) Al2O3
(c) Fe2O3
(d) PbO

Ans. (b)


31. Which of the following is not an oxide ore?

(a) Cassiterite
(b) Siderite
(c) Pyrolusite
(d) Bauxite

Ans. (b)

32. Which among the following is called philosopher's wool

(a) Cellulose
(b) Calamine
(c) Stellite
(d) Cerussite

Ans. (c)

33. Out of 10 white, 9 black and 7 red balls, in how many ways can we select one or more balls

(a) 234
(b) 52
(c) 630
(d) 879

Ans. (d)

34. A and B throw a dice. The probabilty that A's throw is not greater than B's is

(a) 5/12
(b) 7/12
(c) 11/12
(d) 5/36

Ans. (b)


35. Given two numbers a and b. Let A denote the single AM between these and S denote the sum of n AMs
between them. Then S/A depends upon

(a) n
(b) n,a
(c) n,b
(d) n,a,b

Ans. (a)

36. If the sum of the roots of the equation ax²+bx+c=0 is equal to the sum of the squares of their reciprocals,
then, a/c, b/a, c/b are in

(a) AP
(b) GP
(c) HP
(d) None of the these

Ans. (c)


In the following questions ~ represents the integral sign-for eg. 1~2[f(x)] means integration of 
the function f(x) over the interval 1 to2.

37. Value of -1~2[|2-x²|]dx, ie integration of the function |2-x²| over the interval -1 to 2.

(a) 0
(b) 1
(c) 2
(d) None of the above

Ans. (d)


38. If 0~P[log sinx]dx=k,then the value of 0~P/4[log(1 + tan x)]dx ,where P stands for pi,is

(a) -k/4
(b) k/4
(c) -k/8
(d) k/8

Ans. (c)


39. If a,b,c be in GP and p,q be respectively AM between a,b and b,c then

(a) 2/b=1/p+1/q
(b) 2/b=1/p-1/q
(c) 2=a/p-c/q
(d) None of the above

Ans. (a)


40. A solution of KMnO4 is reduced to MnO2 .The normality of solution is 0.6.The molarity is 

(a) 1.8M
(b) 0.6M
(c) 0.1M
(d) 0.2M

Ans. (d)



The questions 41-46 are based on the following pattern.The problems below contain a question 
and two statements giving certain data. You have to decide whether the data given in the 
statements are sufficient for answering the questions.The correct answer is 

(A) If statement (I) alone is sufficient but statement (II) alone is not sufficient.
(B) If statement(II) alone is sufficient but statement(I) alone is not sufficient.
(C) If both statements together are sufficient but neither of statements alone is sufficient.
(D) If both together are not sufficient.



41. What is John's age?

(I) In 15 years John will be twice as old as Dias would be
(II) Dias was born 5 years ago

Ans. (C)


42. What is the distance from city A to city C in kms?

(I) City A is 90 kms from City B 
(II) City B is 30 kms from City C

Ans. (D)


43.Is A=C ? A,B,C are real numbers

(I) A-B=B-C
(II) A-2C = C-2B

Ans. (C)


44. What is the 30th term of a given sequence ?

(I) The first two terms of the sequence are 1,1/2
(II) The common difference is -1/2

Ans. (A)


45.Was Avinash early, on time or late for work?

(I) He thought his watch was 10 minutes fast
(II) Actually his watch was 5 minutes slow

Ans. (D)


46. What is the value of A if A is an integer?

(I) A4 = 1
(II) A3 + 1 = 0

Ans. (B)


47. A person travels 12 km in the southward direction and then travels 5km to the right and then travels 15km toward the right and finally travels
5km towards the east, how far is he from his starting place?

(a) 5.5 kms
(b) 3 km
(c) 13 km 
(d) 6.4 km

Ans. (b)


48. X's father's wife's father's granddaughter uncle will be related to X as

(a) Son
(b) Nephew
(c) Uncle
(d) Grandfather

Ans. (c)


49. Find the next number in the series 1, 3 ,7 ,13 ,21 ,31

(a) 43
(b) 33
(c) 41
(d) 45

Ans. (a)

50. If in a certain code "RANGE" is coded as 12345 and "RANDOM" is coded as 123678.
Then the code for the word "MANGO" would be

(a) 82357
(b) 89343
(c) 84629
(d) 82347

Ans. (d)


	

	


1.distance D=rt where r & t are +ve and r is constant, as t increases then

D_________

ans:D increses irrespective of r & t 

2.E=I*I*R what is the effect of E when I becomes I/2

ans:1/4E(E decreses by 4 times) 

3.out of 55 eggs 5 are defective. what is % of defective eggs

ans:9/11% 

4.salary is 's' per month,'x'% of salary is given as bonus, if 3 months

salary is s1,s2 & s3 then what is his salary.

ans:s1*x/100 + s2*x/100 + s3*x/100 

5.consider expresion 'ab' . what happens when 'a' is divided by 'c' &

'b' is multiplied by 'c'.

ans:value remains same

6.area of triangle=1/2*b*h base incresed by 4 times & height is devided

by 2, the net effect of area.

ans:twice the the original area.

7.in base representation for a rupee 100 paise,then base 8 representation

what is rupee value .

ans:144

8.A>B,B>C,C=D,D>E,then which is greatest

a)A/B b) A/C c) A/E d)none

ans: c

9.to travel 'm' miles the time is 'h' hours,then what is the time taken to travel M miles.

ans:M*h/m

10.a sum 's' is devided into 4 parts.second person gets Rs 10 more than

first.3rd person is Rs 10 more than second, 4th is 10 more than 3rd.

how much amount do 1st person get.

ans;(s-60)/4

11.fridge cost R Rs,cover value is 5,discount d% then its new cost

ans:R-R*d/100-5(1-d/100)

12.1/8 is devided by 's' , if 's' is incresed by 2 times, what is the

result.

ans:increses two times.


13. a c b d f e g i __ ans: h

14. x y z u v w r s t __ ans: o

15. a c f j o __ ans:u

16. 10099+99=10198

17. 31 - 29+2/33=__ ans:64/33

18. 2.904+0.0006=___ ans: 2.9046
19. 55/1000=___ ans:.005

20. 0.799*0.254= 0.202946

21. 200/7*5.04=144 

22. 842.8 +602=1444.8 

23. 5.72% of 418= 23.9096

24. 625% of 7.71=48.1875 

25. 25% of 592=148.00 

26. 665+22.9=687.9

27. 15% of 86.04=12.906

	The questions are based on the following pattern.The problems below contain a question 
and two statements giving certain data. You have to decide whether the data given in the 
statements are sufficient for answering the questions.The correct answer is 
(A) If statement (I) alone is sufficient but statement (II) alone is not sufficient.
(B) If statement(II) alone is sufficient but statement(I) alone is not sufficient.
(C) If both statements together are sufficient but neither of statements alone is sufficient.
(D) If both together are not sufficient.

19. What is John's age?
(I) In 15 years John will be twice as old as Dias would be
(II) Dias was born 5 years ago
Ans. (C)

20. What is the distance from city A to city C in kms?
(I) City A is 90 kms from City B 
(II) City B is 30 kms from City C
Ans. (D)

21.Is A=C ? A,B,C are real numbers
(I) A-B=B-C
(II) A-2C = C-2B
Ans. (C)

22. What is the 30th term of a given sequence ?
(I) The first two terms of the sequence are 1,1/2
(II) The common difference is -1/2
Ans. (A)

23.Was Avinash early, on time or late for work?
(I) He thought his watch was 10 minutes fast
(II) Actually his watch was 5 minutes slow
Ans. (D)

24. What is the value of A if A is an integer?
(I) A4 = 1
(II) A3 + 1 = 0
Ans. (B)

25. A person travels 12 km in the southward direction and then travels 5km to the right and then travels 15km toward the right and finally travels 5km towards the east, how far is he from his starting place?
(a) 5.5 kms
(b) 3 km
(c) 13 km 
(d) 6.4 km
Ans. (b)

26. X's father's wife's father's granddaughter uncle will be related to X as
(a) Son
(b) Nephew
(c) Uncle
(d) Grandfather
Ans. (c)

27. Find the next number in the series 1, 3 ,7 ,13 ,21 ,31
(a) 43
(b) 33
(c) 41
(d) 45
Ans. (a)

28. If in a certain code "RANGE" is coded as 12345 and "RANDOM" is coded as 123678.
Then the code for the word "MANGO" would be
(a) 82357
(b) 89343
(c) 84629
(d) 82347
Ans. (d)

29. If "PROMPT" is coded as QSPLOS ,then "PLAYER" should be
(a) QMBZFS
(b) QWMFDW
(c) QUREXM
(d) URESTI
Ans. (a)

The questions are based on the following data
6 people A,B,C,D,E and F sit around a table for dinner.Since A does not like C, he doesn't sit either opposite or beside C.B and F always like to sit opposite each other.
30. If A is beside F then who is are the two neighbours of B?
(a) D and C
(b) E and C
(c) D and E
(d) Either (a) or (b)
Ans. (c)

31. If D is adjacent to F then who is adjacent to C?
(a) E and B
(b) D and A
(c) D and B
(d) either (a) or (c)
Ans.(d)

32. Complete the sequence A, E ,I ,M ,Q ,U , _ , _
(a) B, F
(b) Y, C
(c) G, I
(d) K, O
Ans.(b)

33. A person travels 6km towards west, then travels 5km towards north ,then finally travels 
6km towards west. Where is he with respect to his starting position?
(a) 13km east
(b) 13km northeast
(c) 13km northwest
(d) 13km west
Ans. (c)

34. If A speaks the truth 80% of the times, B speaks the truth 60% of the times.
What is the probability that they tell the truth at the same time
(a) 0.8
(b) 0.48
(c) 0.6
(d) 0.14
Ans.(b)

35. If the time quantum is too large, Round Robin scheduling degenerates to 
(a) Shortest Job First Scheduling
(b) Multilevel Queue Scheduling 
(c) FCFS 
(d) None of the above
Ans. (c)

36. Transponders are used for which of the following purposes
(a) Uplinking
(b) Downlinking
(c) Both (a) and (b)
(d) None of the above
Ans. (c)

37. The format specifier "-%d" is used for which purpose in C
(a) Left justifying a string
(b) Right justifying a string
(c) Removing a string from the console
(d) Used for the scope specification of a char[] variable
Ans. (a)

38. Virtual functions allow you to
(a) Create an array of type pointer-to-base-class that can hold pointers to derived classes
(b) Create functions that have no body
(c) Group objects of different classes so they can all be accessed by the same function code 
(d) Use the same function call to execute member functions to objects from different classes

39. A sorting algorithm which can prove to be a best time algorithm in one case 
and a worst time algorithm in worst case is
(a) Quick Sort
(b) Heap Sort
(c) Merge Sort
(d) Insert Sort
Ans. (a)

40. What details should never be found in the top level of a top-down design?
(a) Details
(b) Coding
(c) Decisions
(d) None of the above
Ans. (c)

41. In an absolute loading scheme, which loader function is accomplished by assembler
(a) Reallocation
(b) Allocation
(c) Linking
(d) Both (a) and (b)
Ans. (d)

42. Banker's algorithm for resource allocation deals with
(a) Deadlock prevention
(b) Deadlock avoidance
(c) Deadlock recovery
(d) None of these
Ans. (b)

43. Thrashing can be avoided if 
(a) The pages, belonging to the working set of the programs, are in main memory
(b) The speed of CPU is increased
(c) The speed of I/O processor are increased
(d) All of the above
Ans. (a)

44. Which of the following communications lines is best suited to interactive processing applications?
(a) Narrowband channels
(b) Simplex channels
(c) Full-duplex channels
(d) Mixedband channels
Ans. (b)

45. A feasibility document should contain all of the following except
(a) Project name
(b) Problem descriptions
(c) Feasible alternative
(d) Data flow diagrams
Ans. (d)

46. What is the main function of a data link content monitor?
(a) To detect problems in protocols
(b) To determine the type of transmission used in a data link
(c) To determine the type of switching used in a data link
(d) To determine the flow of data
Ans. (a)

47. Which of the following is a broadband communications channel?
(a) Coaxial cable
(b) Fiber optic cable
(c) Microwave circuits
(d) All of the above
Ans. (d)

48. Which of the following memories has the shortest access time?
(a) Cache memory
(b) Magnetic bubble memory
(c) Magnetic core memory
(d) RAM
Ans. (a)

49. A shift register can be used for 
(a) Parallel to serial conversion
(b) Serial to parallel conversion
(c) Digital delay line
(d) All the above
Ans. (d)

50. In which of the following page replacement policies, Balady's anomaly occurs?
(a) FIFO
(b) LRU
(c) LFU
(d) NRU
Ans. (a)

51. Subschema can be used to
(a) Create very different, personalised views of the same data
(b) Present information in different formats
(c) Hide sensitive information by omitting fields from the sub-schema's description
(d) All of the above
Ans. (d)

52. Question on l-values in automata


	

	


Verbal 
1.antonym of SAGE:ans FOOL(GRE Barrons)
2.antonym of orthodox:ans uncoventionality(GRE Barrons)
3.analogy Excessive : Moderation::impusive:reflection(GRE barrons) 
4.analogy Construct:Renovate::write:delet
Logical reasoning
1.odd man out --tautology:oncology:repetition:redundancy ans oncology
2.odd man out -- enroll:capitulate:enlist:conscript ans capitulate
3.few questions to check senetences if gramatically right
4.the following letters are assigned the codes like
a=1,c=2,d=3,r=7,y=9,o=4,i=5,t=6,n=8 then the word dictionary is
ans a> 3526548179 note :numbers may vary
5.If the nos 8 & 7 are interchanged as well as the signs +&/ are interchanged which of the
following is valid equation
ans c>8+8/7=9(it is 7/7+8=9)
6.whichof the following options is related to cricket,tennis,football
a)carom b)chess c)volleyball d)all ans c

7.A sports discussion is taking place in a meeting. All those in the meeting who enjoy the batting of Sachin also enjoy the batting of Lara. Those who enjoy the batting of Lara espise the batting of Rahul. Some of those who enjoy the batting of Lara also enjoy the batting of Saurav; those who enjoy the batting of Rahul also enjoy the batting of Ricky. Some of those who enjoy the batting or Ricky also enjoy the batting of Lara. Some of those who enjoy the batting of Saurav despise the batting of Rahul. All those who enjoy the battin of Ricky also enjoy the batting of Astle. Miss Sujatha enjoys the batting of Rahul. Which of the following must be false? 
A) She does not enjoy the batting of Saurav
B) She enjoys the batting of Ricky
C) She may enjoy the batting of Lara 
D) She enjoys the batting of Astle 

8.Seven students-F, G, H, I, J, K, and L-are being considered for a scholarship. All of them had 
take an examination which was based on their technical knowledge. The scores obtained in 
the examination were used for evaluating these students. In analyzing this information 
regarding the scores, the Principal made the following observations: None of the students has
exactly the same score,as any other student. K's score is higher than L's, but lower than H's.I
has a higher score than J.both F and G have higher scores than H. If J has a higher scorethan,
how many different rankings, by score, of the students are possible? 
A)2 8)1 C)8 D)4 


Technical 
1.binary equalent of 455 ? 
2. whats the o/p of the following code ?
int main () 
{
int i = 0 ; 
switch ( printf ("k") , printf ("ku"))
{
case 1 : printf (" %d" , i ) ; 
break ; 
case 2 : printf (" %d " , ++i ) ; 
break ; 
}
}
ans : a) k ku 1 also ans d) ( both are same ) 
3.Whats used to connect the computer with terminals ? 
ans : a) Data Terminal equipment 
4.A question about unix & linux 
ans : b) [ unix from Bell labs ] 
1 
5.which is used to convert the assmbly code into binary 
ans : assembler 
6.whats the o/p of the following code ? 
int main () 
{
int i = -1 ; j = 1 , k = 0 , m ; 
m = i++ || j++ && k++ ; 
printf ("\n\n%d %d %d " , i , j , k , m ) ; 
}
7.Expansion of CDMA code divison multiple access .
8.A question from Microprocessor ( which segment is not used by Microprocessor ? )
a. ) Data segment b) extended segment c) information segment d) none of these 
9.Which of the following layer is not in Tcp/ip ?
a) transport b) application layer c) Network layer d) none of the above
10.If A= 10000011 and B=1010111 and c= 11000011 then whats the string represent
100001100011 .. (some thing like that ) 
11. A question regarding PCM 
12.The best case comparison of Quick sort ? 
13. The usage of static function ?
ans : to access static members 

14.ACL stands for
a. access central limit 
b. access control limit
c access control list 
d. both a&b

15.Choose a valid statement: in c++ "this" is ans c references the object that has invoked the method3 buffer registers are found in
a. data bus b main memory c. I/O devices d.cpu ans c(check)

16.An expression like ((A+B)*(D+E)/f) write the postfix expression
ans d AB+DE+*... 
17.The depth of a tree is ans maximum level of a node

18.IEEE standard of wireless protocol ans 802.11

19.main()
{
i=10;
printf("%d",++i++);
printf("%d",++i);
}
a. 11&13 b.12&13 c.error d.? ans C (check)

20.What does the func return
int fun()
{
i=3;
i=6;
if(i=6)
i=7;
return i;
}
ans 7

21.main()
{
int a[]={0 1 2 3};
int *b; 
printf("%d",b[-1]);
}
ans 1(check)
note: the elements of array may vary
Technical Interview 
1.What are the layers in OSI stack & Explain them ? 
2.What u know about trees ? & tell the types of tree ? 
3.Give the syntax of binary tree ?
4.Write the program of factorial using recursion ?
4.Write a Sql Query for ...... 
5.Some questions from stack & Queue .
6. Write program for Single, doubly linked lists ?
7.Tell about ur future projects & plan ?
